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CZKMDA.P11

.NLIST SEQ,BIN,LOC

.REM %

IDENTIFICATION

PRODUCT CODE:  AC-S881A-MC

PRODUCT NAME:  (CZKMDAO DMS11-DA STATIC
PROGRAM DATE:  SEPTEMBER 1981
MAINTAINER: CSS/NPG DIAGNOSTICS

COPYRIGHT (C) 1982 BY

DIGITAL EQUIPMENT CORPORATIOn,
MAYNARD, MASSACHUSETTS.

ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY

BE USED AND COPIED ONLY IN ACCORDANCE WITH THE

TERMS OF SUCH LICENSE AND WITH THE INCLUSION

OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE

MADE AVAILABLE TO ANY OTHER PERSON. NO TITLE TO

AND OWNERSHIP OF THE SOFTWARE IS HEREBY TRANSFERRED.

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT
NOTICE AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL
EQUIPMENT CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF
ITS SOFTWARE ON EQUIPMENT THAT [S NOT SUPPLIED BY DIGITAL.

]

SEQ 0001
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1.0 ABSTRACT
THE DMS11,-D,~A,~DA LINE UNIT STATIC DIAGNOSTIC TEST THE LINE UNIT
FOR BOTH CCP & BOP MCDES IN THE USYRT MAINTENANCE MODE. THIS DIAGNOSTIC
EXERCISES THE LINE UNIT WITHOUT RESIDENT FIRMWARE IN THE KM(C11
GENERAL PURPOSE M]ICROPROCESSOR, THIS DIAGNOSTIC IS A STAND ALONE
PACKAGE AND SHOULD BE EXERCISED PRIOR TO EXERCISING THE DYNAMIC DIAGNOSTIC
2.0 REQUIREMENTS
2.1 EQUITMENT
PDP-11 PROCESSOR
KMC11 GENERAL PURPOSE MICROPROCESSOR
NOTE: THIS DIAGNOSTIC WILL TEST UP TO 16 KMC11
GENERAL PURPOSE MICROPROCESSOR'S, BUT THEY
MUST BE INSTALLED SEQUENTIALLY ON THE BUSS
DMS11-D LINE UNIT
NOTE: THIS DIAGNOSTIC WILL TEST UP TO 8 LINES PER
KMC11
2.2 STORAGE
THIS DIAGNOSTIC NEEDS A MINIMUM OF 16K OF MEMORY LOCATIONS
2.3 PRELIMINARY PROGRAMS

CZKMBAQ KMC11-B STATIC PART1
CZKMCAO KMC11-B STATIC PART?

PRIOR TO EXERCISING THE STATIC DIAGNOSTIC THE KMC11 MUST BE ERROR
FREE. THIS DIAGNOSYTIC DOES NOT TEST THE rMC11

3.0 LOADING PROCEDURE

3.1 METHOD

LOAD THE DIAGNOSTIC USING THE ABS LOADER. THIS DIAGNOSTIC IS

SELF STARTING. TO RESTART THE DIAGNOSTIC LOAD ADDRESS 200 (8)

AND DEPRESS START. IF THE DIAGNOSTIC IS ON MAGNETIC MEDIA, FOLLOW THE
INSTRUCTIONS FOR THE MONITOR BEING USED.

4.0 STARTING PROCEDURE
4.1 STARTING ADDRESS (200)

4.2 RESTART ADDRESS
RESTART ADDRESS 200 (8)




0
CZKMDAO DMS11-LA STATIC MACY11 30A(1052) 21-0CT-81 09:21 PAGE 3
CZKMDA.P11 20-0C7-81 17:03

4.3 OPERATOR ACTION

DURING THE INITIAL START UP THE DIAGNOSTIC WILL OUTPUT TO THE
TELETYPE THE TITLE OF THE DIAGNOSTIC AND ENTER THE MONITOR. DURING

A RESTART THE DIAGNOSTIC WILL NOT OQUTPUT THE TITLE OF THE DIAGNOSTIC
BUT ENTER THE MONITOR DIRECTLY. AFTER ENTRY INTO THE DIAGNOSTIC
MONITOR THE OPERATOR CAN ENTER THE COMMANDS LISTED IN SECTION

.6 OF THIS WRITEUP.

5.0 STARTING AND TEST INITIALIZATION:

LOAD AND START MEMORY ADDRESS 200 BY PRESCRIBED
METHOD AS PER PDP-11 PROCESSOR TYPE.
THE CONSOLE DEVICE WILL IDENTIFY THE DIAGNOSTIC ON THE
FIRST START UP.
THE CONSOLE MONITOR ROUTINE IS ENTERED EACH TIME ON START
UP AND OFFERS THE OPERATOR THE FOLLOWING CHOICES AS
(1) DIAG. TEST (2) CONFIGURE
TO WHICH THE OPERATOR MUST RESPOND WITH A 1 OR 2
FOLLOWED BY A CARRIAGE RETURN.
(1) DIAG. TEST
DIAG. TEST IS ENTERED IF THE CONFIGURATION ROUTINE HAS
BEEN PREVIOUSLY ENTERED AND IF NOT WILL AUTOMATICALLY
GO INTO THE CONFIGURATION ROUTINE TO SPECIFY KMC11(S) STATUS.
(2) CONFIGURE
WHEN THE CONFIGURE MODE IS ENTERED FOR THE FIRST TIME
THE CONFIGURE TABLE IS ENTERED FROM THE TOP AND THE FIRST
KMC11 IS SPECIFIED

DEV.ADR.= (6 OCTAL CHARACTERS) ,;BUS ADDRESS OF KMC11 CSR

LINES(O=7)CI.E..# . #.#) OR (A)=ALL (N)=NONE cLINES TO BE TESTED
(1)ENABLE (0)DISABLE :TO ENABLE OR DISABLE THIS UNIT FROM TESTING
(O)EXTERNAL (1) INTERNAL - TO ENABLE RUNNING TESTS REQUIRING THE

: EXTERNAL DATA LOOP (EXT.LOOP CONNECTOR)
(1) CRC32 (0) NO CR(C32 . DMS11-DA, DMS11-A HAVE NO CRC32

* IF STATUS IS NOT TO BE CHANGED ON CURRENT INQUIRY A CARRIAGE
RETURN (ONLY) MAY BE TYPED

AFTER THE INPUTTING IS COMPLETED AN ‘'+'’ IS PRINTED AT WHICH POINT
THE OPERATOR HAS 3 CHOICES BY TYPING AN

"B (EXIT) THE CONFIGURE ROUTINE (ENTERS CONSOLE ROUTINE OR
DIAG. TEST IF DIAG. TEST WAS THE ENTRY POINT
‘™ (MODIFY) AN M FOLLOWED BY A #1-16 (DEC) TO SPECIFY THE DESIRED

KMC11°'S STATUS TO BE MODIFIED. THE STATUS BLOCK IS PRINTED
AND THE NEW STATUS INVOLKED.

*A (ALL) FROM LAST KMC11 PARAMETER BLOCK POINTED TO EITHER BY
THE INITIAL ENTRY OR THE 'MODIFY'" ROUTINE THE REMAINING
BLOCKS ARE LOADED WITH SEQUENTIAL DEVICE STATUS TO THE END
OF THE CONFIGURATION TABLE.

SEQ 0003
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* ANY COMBINATION OF DEVICE STATUS CAN BE CONFIGURED AND RUN AS
LONG AS AT LEAST 1 KMC11 IS ENABLED IN THE TABLE

CONTROL :
CONTROL C

ROUTINE.
CONTROL G

SWITCH REGISTER WHICH IS INVOLKED BY THE OPERATOR TYPING
A CNTR G (“G). AFTER THE NEW SWITCH VALUE 1S ENTERED THE
PROGRAM IS RESUMED AT THE POINT OF INVOLK.

5.1 SWITCH OPTIONS:
THE SWITCH REGISTER SETTING MUST BE DONE ACCORDING TO

PROCESSOR TYPE AND HARDWARE ARCHITECT.
BIT15 sHALT ON ERROR

=1
BIT14 = 1 :LOOP ON TEST
BIT13 =1 sINHIBIT ERROR TYPEOUTS
BIT10 = 1 sRING BELL ON ERROR
BIT09 = 1 :LOOP ON ERROR
BITO08 = 1 ;LOOP ON TEST IN SWR BITS 07-00

TEST EXECUTION + SEQUENCES:

EACH TEST MUST BE SUCCESSIVELY COMPLETED
BEFORE THE NEXT CAN BE ENTERED. ALL TESTS
ARE RUN SEQUENTIALLY ON EACH UNIT (KMC +
DMS11D) AND THE CURRENT DEVICE [S SPECIFIED
BY THE SEQUENCE OF THE CONFIGURATION TABLE
(ENABLED UNITS ONLY).

6.0 ERRORS

ALL ERRORS ARE REPORTED ON THE TTY UNLESS CONSOLE SWITCH

13 IS SET (REFER TO SECTION 5.1 OF THIS WRITEUP). ALL ERRORS
REPORTED HAVE A ENGLISH TYPE STATEMENT EXPLAINING THE ERROR
WITH QUTPUT OF CERTAIN REGISTERS OR MEMORY LOCATIONS WHICH
CAN BE USED AS A AID.

SEG 0004
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7.0 TEST DESCRIPTION

EACH INDIVIDUAL TEST HAS A WRITEUP EXPLAINING WHAT IT DOES
REFER TO THE TEST ITSELF FOR A EXPLANATION.

SUBROUTINE DESCRIPTIONS USED IN TEST WRITE UPS

MASTER CLEAR:

LINE RESET:

TEST 1 :

TEST 2 :

TEST 3 :

TEST & :

TEST S :

TEST 6 :

TEST 7 :

SETTING MASTER CLEAR ON KMC11 (BIT OF SEL)
CLEARING CONTROL AND STATUS REGISTERS AND
LOADING THE CURRENT LINE NUMBER IN
PRIMARY REGISTER 11.

LOADS THE CURRENT LINE NUMBER (IN PRIMARY
REGISTER 11) THEN SETS BIT O IN PRIMARY
REGISTER 12 (LINE RESET).

TEST DESCRIPTIONS

(LINE SELECT REGISTER TEST)
THIS TEST ISSUES A RESET PULSE AND CLEARS
THE CSRS THEN READS AND TEST PRIMARY
REGISTER 11 FOR BEING CLEAR

ERROR REPORT IS ERROR 1

(SECONDARY SELECT REGISTER TEST)
THIS TEST READS PRIMARY REGISTER 12
FOR BEING CLEAR AFTER A RESET PULSE
IS EXECUTED.

ERROR REPORT IS ERROR 1

(LINE STATUS REGISTER TEST)

A RESET PULSE IS ISSUED AND PRIMARY

REGISTER 13 IS TESTED FOR BEING CLEARED.
ERROR REPORT IS ERROR 1

(LINE CONTROL REGISTER TEST)
A RESET PULSE IS ISSUED AND PRIMARY
REGISTER 14 IS TESTED FOR BEING CORRECTLY
INITIALIZED. BITS 1 AND 2
ARE NOT TESTED.

ERROR REPORT IS ERROR 1

(TRANSMIT STATUS MULTIPLEXER REG. TEST)
A RESET PULSE IS ISSUED AND THE
CORRESPCNDING LINE (CURRENTLY UNDER TEST)
1S CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 1

(RECEIVE STATUS MULTIPLEXER REG. TEST)
A RESET PULSE 1S ISSUED AND THE
CORRF.SPONDING LINE (CURRENTLY UNDER TEST)
IS CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 1

(PRIMARY REG. 11 WRITE/READ TEST)
A ONE BIT IS WALKED THROUGH BITS 6.5 AND 4
OF PRIMARY REGISTER 11. THE BITS ARE

SEQ 0005




CZKMDAO DMS11-DA STATIC MACY11 30A(1052) 21-0CT-81 09:21 PAGE 6
CZKMDA . P11 20-0CT7-81 17:03

TEST 10:

TEST 11:

TEST1Z:

TEST 13:

TEST 14:

TEST 15:

TEST 16:

TEST 17:

TEST 20:

WRITTEN THEN READ FOR BEING SET.
ERROR REPORT IS ERROR 2

(PRIMARY REGISTER 12 WRITE/READ TEST)
A ONE BIT 1S WALKED THROUGH PRIMARY
REGISTER 12, BITS 4,5,6 AND 7. THE BITS
ARE WRIiTTEN THEN READ AND CHECKED FOR
BEING SET,

ERROR REPORT IS ERROR 2

(PRIMARY REGISTER 13 READ/WRITE TEST)
BIT 3 OF PRIMARY REGISTER IS WRITTEN
AND READ IF CRC32 IS ENABLED.

ERROR REPORT IS ERROR 2

(PRIMARY REGISTER 14 READ/WRITE TEST)

A ONE BIT IS WALKED THROUGH PRIMARY

REGISTER 14, BITS 0.4.5,6, AND 7. BIT

3 1S ALSO TESTED IF CRCS52°1S ENABLED.

THE BITS ARE WRITTEN THEN READ AND

CHECKED FOR BEING SET AND CLEARED.
ERROR REPORT IS ERROR 2

(SECONDARY REGISTER 0 READ TEST)
A LINE RESET IS DONE AND SECONDARY
REGISTER O (RECEIVE BUFFER) IS READ
AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 3

(SECONDARY REGISTER 1 READ TEST)
A LINE RESET IS ISSUED AND SECONDARY
REGISTER 1 IS READ AND CHECKED FOR
BEING CLEAR.

ERROR REFPORT IS ERROR 3

(SECOND REGISTER 2 READ TEST)
A LINE RESET IS ISSUED AND SECONDARY
REGISTER 2 IS READ AND CHECKED FOR
BEING CLEAR.

ERROR REPORT IS ERROR 3

(SECONDARY REGISTER 3 READ TEST)
A LINE RESET 1S ISSUED AND SECONDARY
REGISTER 3 IS READ AND CHECKED FOR
BEING CLEAR. (BITS 6.5 AND 4 ARE
NOT CHECKED).

FRROR REPORT IS ERROR 3

(SECONDARY REGISTER & READ TEST)
A LINE RESET IS ISSUED SECONDARY
REGISTER & IS READ CHECKED FOR
BEING CLEAR.

ERROR REPORT IS ERROR 3

(SECONDARY REGISTER 5 READ TEST)
A LINE RESET IS ISSUED AND SECONDARY

G

1

SEQ 0006
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CZKMDA . P11

TEST

TEST

TEST

TEST

TEST

TEST

TEST

TEST

TEST

21:

22:

23:

24:

25:

26:

27:

30:

31:

REGISTER 5 (MODE CONTROL) IS READ AND
CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 3

(SECONDARY REGISTER 7 READ TEST)

A LINE RESET IS ISSUED AND SECONDARY

REGISTER 7 (CHARACTER LENGTH) IS

READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 3

(SECONDARY REG. 1 WRITE TO READ ONLY BIT °‘RSOM'’)
A LINE RESET IS ISSUED AND THE ‘'RSOM'’
(BIT 0) IS WRITTEN WITH A ONE BIT
THEN READ AND CHECKED FOR NOT BEING
SET (READ ONLY).
ERROR REPORT IS ERROR &

(SECONDARY REG. 1 WRITE TO READ ONLY BIT '‘REOM'")
A LINE RESET IS ISSUED AND THE 'REOM"
(BIT 1) IS WRITTEN WITH A ONE BIT
THEN READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR &

(SECONDARY REG. 1 WRITE TO READ ONLY BIT 'RXGA'")
A LINE RESET IS ISSUED AND THE 'RXGA'’
(BIT 2) IS WRITTEN WITH A ONE BI7
THEN READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 4

(SECONDARY REG 1 WRITE TO READ ONLY BIT "‘ROR')
A LINE RESET IS ISSUED AND THE ‘ROR"’
(BIT 3) IS WRITTEN WITH A ONE BIT
THEN READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 4

(SECONDARY REG. 1 WRITE TO READ ONLY BIT '‘ABCA'")
A LINE RESET ]S ISSUED AND THE ‘‘AB(CA'
(BIT 4) IS WRITTEN WITH A ONE BIT THEN
READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 4

(SECONDARY REG. 1 WRITE TO READ ONLY BIT '‘AB(B'")
A LINE RESET IS ISSUED AND THE ‘‘AB(CB''
(BIT 5) IS WRITTEN WITH A ONE BIT THEN
READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT ]S ERROR 4

(SECONDARY REG. 1 WRITE TO READ ONLY BIT '‘AB(CC'")
A LINE RESET IS ISSUED AND THE "'ABCC'’
(BIT 6) IS WRITTEN WITH A ONE BIT THEN
READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR &

(SECONDARY REG. 1 WRITE TO READ ONLY BIT 'ERRCK'")
A LINE RESET IS ISSUED AND THE °‘‘ERRCK'’
BIT 7) IS WRITTEN WITH A ONE BIT THEN

SEQ 0007
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TEST 32:

TEST 33:

TEST 34:

TEST 35:

TEST 36:

READ AND CHECKED FOR BEING CLEAR.
ERROR REPORT [S ERROR 4

(SECONDARY REG. 2 INCREMENTAL DATA PATTERN TEST)
A MASTER CLEAR 1S ISSUED AND SECONDARY
REG. 2 IS WRITTEN WITH THE CURRENT DATA
PATTERN (INCREMENTAL 1-377) THEN THE
REGISTER IS READ AND CHECK FOR CONTAINING
THE CURRENT DATA PATTERN.
ERROR REPORT IS ERROR 10
WHEN THE FULL DATA PATTERN 1S REACHED
(377) A LINE RESET IS ISSUED AND THE
EEE{STER IS READ AND CHECKED FOR BEING
ERROR REPORT IS ERROR 11

(SECONDARY REG. 3 '‘TSOM'’ BIT WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED, THE "‘TSOM'' BIT
(BIT 0) 1S SET THEN READ AND CHECKED FOR
BEING SET.

ERROR REPORT IS ERROR 5
THE BIT IS THEN WRITTEN TO A O, READ AND
CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 5
THE BIT 1S THEN REWRITTEN AND A LINE
RESET ISSUED AND REREAD AND CHECKED
FOR BEING CLEARED.

ERROR REPORT IS ERROR 8

(SECONDARY REG. 3 °'‘TEOM' BIT WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED, THE "'TEOM'* BIT
(BIT 1) IS SET AND THEN READ AND
CHECKED FOR BEING SET.

ERROR REPORT IS ERROR 5
THE BIT IS THEN WRITTEN TO A 0, READ
AND CHECKED FOR BEING CLEAR.

ERROR REPORT 1S ERROR 5
THE BIT IS THEN REWRITTEN AND A
LINE RESET ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEARED.

ERROR REPORT IS ERROR 8

(SECONDARY REG. 3 °'‘TXAB'' WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED, THE '‘TXAB'® BIT
(BIT 2) IS SET THEN READ AND CHECKED FOR
BEING SET.

ERROR REPORT IS ERROR 5
THE BIT IS THEN WRITTEN TO A 0, READ AND
CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 5
THE BIT IS THEN REWRITTEN AND A LINE
RESET ISSUED AND THE BIT REREAD AND CHECKED
FOR BEING CLEARED.

ERROR REPORT [S ERROR 8

(SECONDARY REG. 3 °*‘TXGA'' WRITE/READ/RESET TEST)

SEQ 0008
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TEST 40:

TEST 41:

TEST &2:
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A LINE RESET IS ISSUED, "'TXGA'' BIT
(BIT 3) IS SET THEN READ AND CHECKED FOR
BEING SET.

ERROR REPORT IS ERROR S
THE BIT IS THEN WRITTEN TO A 0, READ AND
CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 5
THE BIT IS THEN REWRITTEN AND A LINE
RESET ISSUED AND THE BIT REREAD AND
CHECKED FOR BEING CLEARED.

ERROR REPORT IS ERROR 8

(SECONDARY REG. & INCREMENTAL WRITE/READ TEST)
A MASTER CLEAR IS _ISSUED AND AN INCREMENTAL
DATA PATTERN (1-377) IS WRITTEN TO THE
SYNC REG. (REG. 4) THEN READ AND CHECKED
TO BE THE SAME AS THE CURRENT DATA PATTERN.
ERROR REPORT IS ERROR 10
ON THE FINAL DATA PATTERN (377) A LINE RESET
IS ISSUED AND THE REGISTER IS REREAD
AND CHECKED FOR BEING CLEARED.
ERROR REPORT IS ERROR 11

(SECONDARY REG. 5 'PROTEX'' (BIT 0) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE 'PROTEX''
BIT (BIT 0) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.

ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A O
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 5 'PROTEY'’ (BIT 1) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE ‘PROTEY''
BIT (BIT 1) 1S WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET,

ERROR REPORT IS ERROR 6
THE BIT 1S THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 5 'PROTEZ'' (BIT 2) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE 'PROTEZ'’
BIT (BIT 2) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.
ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

SEQ 0009
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TEST 43:

TEST 4&:

TEST 45:

TEST 46:

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 5 'NIDLE'' (BIT 3) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE "NIDLE
BIT (BIT 3) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.
ERROR REPORT ]S ERROR 6
THE BIT IS THEN WRITTEN TO A O
REREAD AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 5 ‘''SAM’' (BIT &) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE ''SAM'
BIT (BIT 4) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.
ERROR _REPORT 1S ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.
ERROR REPORT 1S ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG., 5 ''SSL'* (BIT 5) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE ''SSL'’
BIT (BIT 5) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.
ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A O
REREAD AND CHECKED FOR BEING CLEAR.
ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 3 "PROTO'’ (BIT 6) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE ‘'PROTO"
BIT (BIT 6) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.

ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

]

SeEe 0010
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TEST 47:

TEST 50:

TEST S51:

TEST S2:

TEST 53:
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(SECONDARY REG. 7 'RDATA1'’ (BIT 0) WRITE/READ/RESET TEST)
A LINE RESET 1S ISSUED AND THE ‘RDATA1'’
BIT (BIT 0) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.

ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

ERROR _REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY "EG, 7 'RDATA2'* (BIT 1) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE 'RDATA2'’
BIT (BIT 1) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.

ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A O
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 7 ‘RDATA3'' (BIT 2) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE 'RDATA3"
BIT (BIT 2) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.

ERROR REPORT 1S ERROR 6
THE BIT 1S THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT 1S ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 7 '‘TDATA1'' (BIT S5) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE '‘TDATA1''
BIT (BIT 5) IS WRITTEN TO A ONE THEN
READ ANC CHECKED FOR BEING SET.

ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 7 °"‘TDATA2'' (BIT 6) WRITE/READ/RESET TEST)
A LINE TESET IS ISSUED AND THE ‘'‘TDATAZ"
BIT (BIT 6) IS WRITTEN TO A ONE THEN

S€Q 0011
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TEST 54:

TCST 5S:

READ AND CHECKED FOR BEING SET.
ERROR REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR
ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET IS ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(SECONDARY REG. 7 '‘TDATA3' (BIT 7) WRITE/READ/RESET TEST)
A LINE RESET IS ISSUED AND THE °*‘TDATA3''
BIT (BIT 7) IS WRITTEN TO A ONE THEN
READ AND CHECKED FOR BEING SET.

ERROKk REPORT IS ERROR 6
THE BIT IS THEN WRITTEN TO A 0
REREAD AND CHECKED FOR BEING CLEAR.

ERROR REPORT IS ERROR 6
THE BIT IS THEN REWRITTEN TO A ONE AND
A LINE RESET 1S ISSUED AND THE BIT REREAD
AND CHECKED FOR BEING CLEAR.

(TRANSMIT AND RECEIVE INITIALIZATION TEST FOR CCP PROTOCOL)
THIS TEST WILL UTILIZE THE INTERNAL DATA
LOOP (LOOPING THE OUTPUT OF THE USYRT
TRANSMITTER TO THE USYRT RECEIER)
AND THE ON BOARD SINGLE STEP MAINTENANCE CLOCK.
THE FOLLOWING PROSRAMING STEPS ARE DONE
ISSUE A MASTER CLEAR
SET PROTOCOL TO CCP (BIT 6-SEC. REG. S)
LOAD SECONDARY SYNC REGISTER WiTH A 26 (OCT.)
ENABLE TENA, RENA AND MAINT. CLK. BITS MB £ MC
SET "TSOM'* BIT 0-SECONDARY REG. 3
READ *‘TBMT'* (BIT-PR] 13) AND TEST BIT IS CLEAR
AFTER SETTING '‘TSOM'* (AND NO CLK PULSES)
. ERROR REPORT IS ERROR 12
» THE MAINTENANCE CLOCK IS STEPPED 2 (FULL) CLOCK TICKS.
TBMT'* IS REREAD AND CHECKED FOR BEING SET AFTER
THE 2 CLOCK TICKS.
" ERROR REPORT IS ERROR 13
TRANSMIT DATA BUFFER (SECONDARY REGISTER 2) IS LOADED
WITH THE “'STX'' (START OF TEXT) CHARACTER (2).
THE MAINTENANCE CLOCK IS STEPPED 7 TICKS
THE ‘'SYNC FLAG RECEIVED IS READ (BITS 3-SEC 13)
AND CHECKED FOR BEING SET.
. ERROR_REPORT IS ERROR 15
THE ‘‘TSOM™ BIT IS WRITTEN TO A 0
THE MAINTENANCE CLOCK IS STEPPED 8 TICKS
THE 'SYNC FLAG™ RECEIVED IS REREAD AND CHECKED
FOR BEING SET.
. ERROR REFORT IS ERROR 15
THE MAINTENANCE CLOCK IS STEPPED 9 TICKS
THE *'SYNC FLAG™ RECEIVED IS READ AND CHECKED
FOR BEING CLEAR (CLOCKING IN A NON FLAG CHARACTER)
. ERROR REPORT_1S ERROR 16
A SERIES OF 3 DATA CHARACTERS (101) ARE LOADED

SEQ 0012

S —
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TEST S6:

 §

INTO THE TRANSMIT DATA BUFFER FOLLOWED BY

THE MAINTENANCE CLOCK STEPPED 8 TICKS

THE & DATA CHARACTER 1S LOADED AND THE MAINT,

CLOCK STEPPED 2 TICKS.

PRIMARY REGISTER 13 IS READ AND STATUS BITS

O AND 2 (RDA AND RAC) ARE CHECKED FOR BEING SET
ERROR REPORT FOR ''RAC'' (RECEIVER ACTIVE) IS ERROR 17
ERROR REPORT FOR 'RDA’'’ (RECEIVE DATA AVAIL.) IS ERROR 18
THE RECEIVE DATA BUFFER IS READ (SEC 0) AND

CHECKED FOR CONTAINING THE SYNC FLAG VALUE (26)
ERROR REPORT IS ERROR 20

(TRANSMIT AND RECEIVE INITIALIZATION TEST FOR BOP PROTOCOL)
THIS TEST WILL UTILIZE THE INTERNAL DATA LCOP

(LOOPING THE OUTPUT OF THE USYRT TRANSMITTER TO

THE USYRT RECEIVER) AND THE ON BOARD SINGLE STEP
MAINTENANCE CLOCK.

THE FOLLOWING PROGRAMING STEPS ARE DONE

ISSUE A MASTER CLEAR

SET PROTOCOL TO BOP AND SECONDARY ADDRESS MODE
LOAD SYNC SECONDARY ADDRESS REG. WITH A 376
SET TRANSMIT ENABLE, RECEIVER ENABLE AND
INTERNAL DATA LOOP MODE (MB £ MC) (PRIMARY
14-B17S 6 £ 7)

SET '‘TSOM'' TRANSMIT START OF MESSAGE (SEC 3-8IT 0)
TEST "'TBMT'' IS NOT SET

ERROR REPORT IS ERROR 12

STFP CLOCK 2 TICKS

TEST "‘TBMT*' IS NOW SET

ERROR REPORT IS ERROR 13

CLEAR ‘‘TSOM'* BIT

LOAD THE TRANSMIT DATA BUFFER SECONDARY SYNC
ADDRESS (376)

STEP MAINT CLOCK 7 TICKS

TEST THAT SYNC FLAG RECEIVED (PRI 13-BIT 3)

IS NOW SET.

ERROR REPORT IS ERROR 14

THE TRANSMIT DATA BUFFER IS LOADED WITH A 0
THE MAINTENANCE CLOCK IS STEP 9 TICKS
THE SYNC FLAG RECEIVED BIT IS THEN TESTED

FOR BEING CLEAR
ERROR REPORT iS ERROR 16

A SERIES OF 3 DATA CHARACTERS (101) ARE LOADED

INTO THE TRANSMIT DATA BUFFER AND EACH FOLLOWED

BY STEPPING THE MAINTENANCE CLOCK 8 TICKS

THE FOURTH DATA CHARACTER IS LOADED FOLLOWED

BY STEPPING THE MAINTENANCE CLOCK 2 TICKS

THE RECEIVER STATUS BITS 'RAC™ & "RDA™* (PRI 13-BITS 2 & 0)
ARE READ AND CHECKED FOR BEING SET.

ERROR REPORT FOR ‘RAC'' IS ERROR 17

ERROR REPORT FOR "RDA'* IS ERROR 18

THE "RSOM™ RECEIVE START OF MESSAGE BIT

(SEC 1-BIT 0) IS TESTED FOR BEING SET.

ERROR REPORT 1S ERROR 19

THE RECEIVE DATA BUFFER IS READ AND TESTED

FOR CONTAINING THE 376 (SYNC ADDRESS)

SEQ 0013
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TEST 57:

TEST 60:

b ERROR REPORT IS ERROR 20

(END OF MESSAGE TEST FOR BOP PROTOCOL)

THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE
ISSUES A MASTER CLEAR SEQUENCE
SET THE CHARACTER LENGTH REGISTER (SEC 7) A 0 (8 BIT))
SETS TENA, RENA AND INTERNAL DATA LOOP SINGLE
STEP MAINTENANCE CLOCK
SET ''TSOM'' TRANSMIT START OF MESSAGE
STEP THE MAINTENANCE CLOCK 1 TICK
TEST "‘TBMT'* FOR SET AND CONTINUE STEPPING
CLOCK TILL SET
LOAD TRANSMIT DATA BUFFER WITH A 0
CLEAR *‘TSOM'' BIT
RUN A STATUS CHECK LOOP (400 OCTAL) STEPPING
THE CLOCK 1 TICK AND MONITORING SYNC FLAG
RECEIVED FOR SETTING

* ERROR REPORT IS ERROR 14
A LOOP TO MONITOR THAT RECEIVE DATA AVAILABLE
(RDA) WILL SET WITHIN 400 (OCTAL) CLOCK TICKS
WHILE ALSO MONITORING THE TRANSMITTER (TBMT)
TO SUPPLY DATA

* ERROR REPORT IF 'RDA'* FAILS TO SET IS ERROR 34
?grsgA;noA“ SETS THE RECEIVE DATA BUFFER
TRANSMIT END OF MESSAGE (TEOM) IS SET
A LOOP TO MONITOR THAT THE SYNC FLAG RECEIVED
(S/F) SETS WITHIN 400 (OCTAL) CLOCK TICKS.

. ERROR REPORT IS ERROR 22
THE MAINTENANCE CLOCK IS STEPPED 2 TICKS
AND 'REOM™ RECEIVE END OF MESSAGE IS TESTED
FOR BEING SET.

* ERROR REPORT IS ERROR 21.

(END OF MESSAGE TEST FOR CCP MODE)

THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR
SET CHARACTER LENGTH REGISTER TO 0 (8 BITS)
SET_PROTOCOL TO CCP (SEC S-BIT 6=1)
LOAD THE SYNC ADDRESS REGISTER WITH A 26
SET TENA. RENA AND INTERNAL SINGLE STEP MAINT CLOCK
STEP CLOCK AND LOOP UNTIL ‘‘TBMI'* SETS
LOAD THE TRANSMIT DATA BUFFER WITH AN_STX (2)
TEST THAT SYNC FLAG RECEIVED (S/F) SETS WITHIN
400 (OCTAL) CLOCK TICKS

. ERROR REPORT IS ERROR 15
CLEAR_THE 'TSOM'" BIT
TEST THAT 'RDA’* SETS WITHIN 400 (OCTAL) CLOCK
TICKS (THE TRANSMITTER IS ALSO SERVICED WHILE
MONITORING THE “RDA'")

. ERROR REPORT IS ERROR 34
SET '‘TEOM'* (TRANSMIT END OF MESSAGE)
TEST THAT SYNC FLAG RECEIVED (S/F) SETS WITHIN
400 (OCTAL) CLOCK TICKS. (THE RECEIVE IS ALSO
MONITOR TO PREVENT AN OVERRUN)

SEQ 0014
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ERROR REPORT IS ERROR 22

(CHARACTER LENGTH TEST FOR BOP PROTOCOL)
THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE

NOTE:

ISSUE A MASTER CLEAR
SET PROTOCJL TO BOP

SET CHARACTER LENGTH REG.(SEC 7)

RECEIVE BITS TO ACCEPT 7 BIT CHARACTER ALTERS
SET TENA, RENA AND INTERNAL SINGLE STEP MAINT CLOCK
STEP CLOCK UNTIL '‘TBMT™ SETS

TEST THAT SYNC FLAG RECEIVED (S/F) SETS

WITHIN 400 (OCTAL) CLOCK TICKS

ERROR REPORT IS ERROR 14

A SEQUENCE IS RUN TO MONITOR THAT SYNC

FLAG RECEIVED (S/F) GOES AWAY (WITHIN 400(OCTAL)
CLOCK TICKS

ERROR REPORT 1S ERROR 33 .

THE SEQUENCE MONITORS ‘TBMT'* AND “RDA"'
TO_QUTPUT 2 DATA CHARACTERS THEN LOAD THE

DATA LENGTH REGISTER TO TRANSMIT AND RECEIVE
CHARACTERS AS SPECIFIED BY THE CURRENT CHARACTER
LENGTH UNDER TEST. WHEN 'RDA™ SETS THE RECEIVE
DATA BUFFER IS READ AND THE DATA IS COMPARED
AGAINST THE DATA SENT.

ERROR REPORT 1S ERROR 23

IF "RDA™ FAILS TO SET WITHIN 400 (OCTAL) CLOCK
ERROR REPORT IS ERROR 34

SET '‘TEOM'' TRANSMIT END OF MESSAGE

STEP MAINTENANCE CLOCK AND CHECK AFTER

EACH TICK THAT SYNC FLAG RECEIVER IS NOT SET,
UNTIL ‘RDA'’ SETS

ERROR REPORT IS ERROR 36 (S/F SET)

ERROR REPORT IS ERROR 34 (RDA FAILED TO SET)
WHEN 'RDA'* SETS THE DATA REGISTER IS REREAD

AND THE DATA COMPARED AGAINST THE TRANSMITTED
ERROR REPORT IS ERROR 23

"REOM'' IS MONITORED FOR SETTING WITHIN 400
(OCTAL) CLOCK TICKS

ERROR REPORT IS ERROR 21

THE TEST IS RERUN FOR REMAINING CHARACTER
LENGTHS 6,5,4,3,2 & 1

THE DATA VALUE TRANSMITTED IS DECREASED ONE

BIT POSITION FOR EACH DATA CHARACTER LENGTH.

THE CHARACTER LENGTH FRAMING (TRANSMIT AND RECEIVE)
1S CHECKED BY THE 2 CONSECUTIVE DATA CHARACTERS
BEING TRANSMITTED AND RECEIVED.

(ERROR CHECK TEST FOR CCITT=-CRC WITH INITIALIZE SET TO
-1 (BOP MODE))

THIS TEST WILL CHECK THAT THE CCITT POLYNOMIAL

(X16 + X12 + X15 ¢+ 1) WITH A PRESET OF -1

THERE 1S NOT FORCED ERROR CONDITION IN THIS TEST.

THIS TEST PERFORMS THE FOLLOWING SEQUENCE

ISSUE A MASTER CLEAR SEQUENCE

SEQ 0015
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SET CHARACTER LENGTH TO 8 BITS/CHARACTER
SET PROTOCOL TO BOP AND ENABLE CCITT-CRC16
WITH A PRESET OF =1
SET TENA, RENA AND ENABLE INTERNAL SINALE
STEP MAINTENANCE CLOCK
SET "'TSOM" .
STEP CLOCK UNTIL '‘TBMT'* SETS
LOAD ADDRESS WORD (TDB)
CLEAR "TSOM'"
STEP CLOCK AND TEST SYNC FLAG RECEIVED
SETS WITHIN 400 (OCTAL) CLOCK TICKS

. ERROR REPORT IS ERROR 14
STEP CLOCK, OUTPUT DATA (ON '‘TBMT'') AND TEST
"RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS

. ERROR_REPORS 1S ERROR 34
TEST THAT DATA READ IS_SAME AS SENT
. ERROR REPORT IS ERROR 23
TEST THAT “ERRCK" BIT IS NOT SET
. ERROR REPORT IS ERROR 25
SET_'‘TEOM""

STEP CLOCK AND READ RECEIVED DATA WORDS
UNTIL SYNC FLAG RECEIVED SETS
TEST SYN” FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 36
TEST ALL DATA RECEIVED WITHIN 400 (OCTAL)
CLOCK TICKS

* ERROR REPORT IS ERROR 34

TEST ALL DATA RECEIVED IS SAME AS SENT
* ERROR REPORT IS ERROR 23

TEST THAT °ERRCK'' IS NOT SET
v ERROR REPORT IS ERROR 25

STEP CLOCK, READ DATA AND TEST SYNC FLAG
RECEIVED SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 22

STEP CLOCK 2 TICKS AND TEST °‘REOM'' IS SET
* ERROR REPORT IS ERROR 21

TEST "ERRCK'' IS NOT SET
* ERROR REPORT IS ERROR 25

(ERROR_CHECK TEST FOR_CCITT-CRC WITH INITIALIZE SET TO 0 (BOP MODE))
THIS TEST WILL CHECK THE CCITT POLYNOMIAL
(X16 + X12 + X5 41) WITH A PRESET OF 0. THERE IS
NO FORCED ERROR CONDITION IN THIS TEST,
THIS TEST PERFORMS THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS/CHARACTER
SET PROTOCOL TO BOP AND ENABLE CCITT-CRC16
WITH A PRESET OF -1
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP MAINTENANCE CLOCK
SET '"TSOM .
STEP CLOCK UNTIL ‘‘TBMT'' SETS
LOAD ADDRESS WORD (TDB)
CLEAR ‘'TSOM'"
STEP CLOCK AND TEST SYNC FLAG RECEIVED

—

SEQ 0016
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17:

%

*

SETS WITHIN 400 (OCTAL) CLOCK TICKS

ERROR REPORT IS ERROR 14 ,

STEP CLOCK, OUTPUT DATA (ON °‘TBMT'') AND TEST
"RDA'' SETS WITHIN 400 (OCTAL) CLOCK TICKS
ERROR REPORT IS ERROR 34

TEST THAT DATA READ IS SAME AS SENT

ERROR REPORT 1S ERROR 23

TEST THAT '‘ERRCK'' BIT IS NOT SET

ERROR REPORT IS ERROR 25

SET "'TEOM''

STEP CLOCK AND READ RECEIVED DATA WORDS
UNTIL SYNC FLAG RECEIVED SETS

TEST SYNC FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLOCK TICKS

ERROR REPORT IS ERROR 36

TEST ALL DATA RECEIVED WITHIN 400 (OCTAL)
CLOCK TICKS

ERROR REPORT IS ERROR 34

TEST ALL DATA RECEIVED ]S SAME AS SENT
ERROR REPORT IS ERROR 23

TEST THAT 'ERRCK'' IS NOT SET

ERROR REPORT IS ERROR 25

STEP CLOCK, READ DATA AND TEST SYNC FLAG
RECEIVED SETS WITHIN 400 (OCTAL) CLOCK TICKS
ERROR REPORT IS ERROR 22

STEP CLOCK 2 TICKS AND TEST °‘‘REOM'' IS SET
ERROR REPORT IS ERROR 21

TEST 'ERRCK'' IS NOT SET

ERROR REPORT IS ERROR 25

(ERROR CHECK TEST FOR CRC-16 (BOP MODE))

THIS TEST WILL CHECK THAT THE CRC~16 POLYNOMIAL
(X16 _+ X15 ¢ X2 +1) WILL FUNCTION WITHOUT SETTING
THE ERROR CHECK BIT. THERE IS NO FORCED ERROR
CONDITION IN THIS TEST.

THIS TEST PERFORMS THE FOLLOWING SEQUENCE

ISSUE A MASTER CLEAR SEQUENCE

SET CHARACTER LENGTH TO 8 BITS/CHARACTER
SET PROTOCOL TO BOP AND ENABLE CCITT-CRC16
WITH A PRESET OF -1

SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP MAINTENANCE CLOCK

SET "‘TSOM'’

STEP CLOCK UNTIL ‘'TBMT'' SETS

LOAD ADDRESS WORD (TDB)

CLEAR ‘TSOM"’

STEP CLOCK AND TEST SYNC FLAG RECEIVED
SETS WITHIN 400 (OCTAL) CLOCK TICKS

ERROR REPORT IS ERROR 14

STEP CLOCK, OUTPUT DATA (ON ''TBMT'') AND TEST
RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS
ERROR REPORT IS ERROR 34

TEST THAT DATA READ IS SAME AS SENT

ERROR _REPORT IS ERROR 23

TEST THAT "ERRCK'' BIT IS NOT SET

ERROR REPORT IS ERROR 25

SEQ 0017
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SET '‘TEOM'’
STEP CLOCK AND READ RECEIVED DATA WORDS
UNTIL SYNC FLAG RECEIVED SETS
TEST SYNC FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 36
TEST ALL DATA RECEIVED WITHIN 400 (OCTAL)
CLOCK TICKS

b ERROR REPORT IS ERROR 34

TEST ALL DATA RECEIVED IS SAME AS SENT
* ERROR REPORT IS ERROR 23

TEST THAT "ERRCK'' IS NOT SET
» ERROR REPORT IS ERROR 25

STEP CLOCK, READ DATA AND TEST SYNC FLAG
RECEIVED SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 22
STEP CLOCK 2 TICKS AND TEST °REOM'’ IS SET
* ERROR REPORT IS ERROR 21
TEST "ERRCK'' IS NOT SET
b ERROR REPORT IS ERROR 25
TEST 65: (ERROR _TEST FOR CCITT-CRC WITH INITIALIZE SET TO -1 (CCP MODE))

THIS TEST_WILL CHECK THAT THE CCITT POLYNOMIAL
(X16 + X12 + X15 ¢ 1) WITH A PRESET OF =1
THERE IS _NOT FORCED ERROR CONDITiON IN THIS TEST.
THIS TEST PERFORMS THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS/CHARACTER
SET PROTOCOL TO BOP AND ENABLE CCITT-CRC16
WITH A PRESET OF -1
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP MAINTENANCE CLOCK
SET "TSOM'"
STEP CLOCK UNTIL '‘TBMT'* SETS
LOAD ADDRESS WORD (TDB)
CLEAR "'TSOM''
STEP CLOCK AND TEST SYNC FLAG RECEIVED
SETS WITHIN 400 (OCTAL) CLOCK TICKS
. ERROR REPORT IS ERROR 14
STEP CLOCK, OUTPUT DATA (ON '‘TBMT'‘) AND TEST
RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORS IS ERROR 34

TEST THAT DATA READ ]S SAME AS SENT
" ERROR REPOBT IS §RROR 23

TEST THAT '‘ERRCK'' BIT IS NOT SET
. ERROR REPORT 1S ERROR 25

SET "'TEOM

STEP CLOCK AND READ RECEIVED DATA WORDS
UNTIL SYNC FLAG RECEIVED SETS
TEST SYNC FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 36
TEST ALL DATA RECEIVED WITHIN 400 (OCTAL)
CLOCK TICKS

* ERROR REPORT IS ERROR 34
TEST ALL DATA RECEIVED IS SAME AS SENT

SEQ 0018
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* ERROR_REPORT 1S ERROR 23
TEST THAT "ERRCK’' IS NOT SET
* ERROR REPORT IS ERROR 25

STEP CLOCK, READ DATA AND TEST SYNC FLAG
RECEIVED SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 22
STEP CLOCK 2 TICKS AND TEST '‘REOM’* ]S SET
* ERROR REPORT IS ERROR 21

TEST 'ERRCK'' IS NOT SET
* ERROR REPORT IS ERROR 24
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TEST 66: (ERROR CHECK TEST FOR CCITT=CRC WITH INITIALIZE SET TO O (CCP MODE))
THIS TEST WILL CHECK THE CCITT POLYNOMIAL
(X16 + X12 ¢ X5 +1) WITH A PRESET OF 0. THERE IS
NO FORCED ERROR CONDITION IN THIS TEST.
THIS TEST PERFORMS THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS/CHARACTER
SET PROTOCOL TO BOP AND ENABLE CCITT-CRC16
WITH A PRESET OF =1
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP, MAINTENANCE CLOCK
SET 'TSOM'" o
STEP CLOCK UNTIL '‘TBMI'* SETS
LOAD ADDRESS WORD (TDB)
CLEAR “TSOM'"
STEP CLOCK AND TEST SYNC FLAG RECEIVED
SETS WITHIN 400 (OCTAL) CLOCK TICKS
. ERROR REPORT IS ERROR 14
STEP CLOCK, OUTPUT DATA (ON “‘TBMT') AND TEST
"RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORS IS ERROR 34

TEST THAT DATA READ IS SAME AS SENT
* ERROR REPORT 15 ERROR 23

TEST THAT “ERRCK'' BIT ]S NOT SET
* ERROR REPORT 1S ERROR 25

SET "'TEOM''

STEP CLOCK AND READ RECEIVED DATA WORDS
UNTIL SYNC FLAG RECEIVED SETS
TEST SYNC FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLCCK TICKS

* ERROR REPORT IS ERROR 36
TEST ALL DATA RECEIVED WITHIN 400 (OCTAL)
CLOCK TICKS

* ERROR REPORT IS ERROR 34

TEST ALL DATA RECEIVED IS SAME AS SENT
* ERROR REPORT IS ERROR 23

TEST THAT "ERRCK'' IS NOT SET
* ERROR REPORT 1S ERROR 25

STEP CLOCK, READ DATA AND TEST SYNC FLAG
RECEIVED SETS WITHIN 400 (OCTAL) CLOCK TICKS
* ERROR REPORT 1S ERROR 22

STEP CLOCK 2 TICKS AND TEST ‘REOM' IS SET
* ERROR REPORT IS ERROR 21
TEST "ERRCK'' IS NOT SET
* ERROR REPORT IS ERROR =24
TEST 67: (ERROR CHECK TEST FOR CRC=16 (CLP MODE).

THIS TEST WILL CHECK THAT THE CRC-16 POLYNOMIAL
(X16 + X15 + X2 +1) WILL FUNCTION WITHOUT SETTING
THE ERROR CHECK BIT. THERE 1S NO FORCED ERROR
CONDITION IN THIS TEST.

SEQ 0020
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TEST 70:

THIS TEST PERFORMS THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS/CHARACTER
SET PROTOCOL TO BOP AND ENABLE CCITT=CRC16
WITH A PRESET OF =1
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP MAINTENANCE CLOCK
SET "TSOM'*
STEP CLOCK UNTIL “‘TBMT'* SETS
LOAD ADDRESS WORD (TDB)
CLEAR ''TSOM'*
STEP CLOCK AND TEST SYNC FLAG RECEIVED
SETS WITHIN 400 (OCTAL) CLOCK TICKS
. ERROR REPORT IS ERROR 14
STEP. CLOCK, OUTPUT DATA (ON '‘TBMT'") AND TEST
"RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR _REPORS 1S ERROR 34

TEST THAT DATA READ IS SAME AS SENT
* ERROR REPORT IS ERROR 23

TEST THAT *ERRCK'' BIT IS NOT SET
* ERROR REPORT IS ERROR 25

SET '‘TEOM''

STEP CLOCK AND READ RECEIVED DATA WORDS
UNTIL SYNC FLAG RECEIVED SETS
TEST SYNC FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 36
TEST ALL DATA RECEIVED WITHIN 400 (OCTAL)
CLOCK TICKS

* ERROR REPORT IS ERROR 34

TEST ALL DATA RECEIVED IS SAME AS SENT
* ERROR REPORT IS ERROR 23

TEST THAT °*ERRCK'' IS NOT SET
* ERROR REPORT IS ERROR 25

STEP CLOCK, READ DATA AND TEST SYNC FLAG
RECEIVED SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 22

STEP CLOCK 2 TICKS AND TEST 'REOM'' IS SET
" ERROR REPORT 1S ERROR 21

TEST "ERRCK'' IS NOT SET
* ERROR REPORT IS ERROR =24

(CCP MODE ODD PARITY 'ERRCHK'* MODE)

THIS TEST WILL CHECK THAT THE ODD PARITY

GENERATION LOGIC (IN USYRT) WILL NOT RAISE

THE 'ERRCHK'' BIT WHEN THE RECEIVER RECEIVES

THE DATA_CHARACTER.

THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE.
ISSUE A MASTER CLEAR
SET TRANSMIT AND RECEIVE TO 7 BIT CHARACTER
SET PROTOCOL (CCP) STRIP SYNC AND ODD PARITY
GENERATION AND DETECTION
LOAD SYNC REGISTER (SEC 4) WITH SYNC CHARACTERS (26)
SET TENA, TENA AND INTERNAL SINGLE STEP LOOP
SET *‘TSOM'* (TRANSMIT START OF MESSAGE)

SEQ 0021
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STEP CLOCK UNTIL "‘TBMT'’' SETS
TEST THAT SYNC FLAG RECEIVED (S/F) SETS
WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORYT IS ERROR 15
CLEAR '‘TSOM'’ BIT
STEP CLOCK AND OUTPUT DATA AND MONITOR THAT
"RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 34
READ DATA RECEIVED AND VERIFY DATA S
SAME AS SENT

* ERROR REPORT IS ERROR 23

THE 'ERRCHK'' BIT IS READ AND TESTED FOR
NOT BEING SET
* ERROR REPORT IS ERROR 25

TEST 71: (CCP MODE EVEN PARITY '"ERRCHK'® MODE)
THIS TEST WILL CHECK THAT THE EVEN PARITY
GENERATION LOGIC (IN USYRT) WILL NOT RAISE THE
"ERRCHK'' BIT WHEN THE RECEIVER RECEIVES THE DATA
CHARACTER
THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE.
ISSUE A MASTER CLEAR
EELG}SANSHIT AND RECEIVE TO 7 BIT CHARACTER
SET PROTOCOL (CCP) STRIP SYNC AND 0ODD PARITY
GENERATION AND DETECTION
LOAD SYNC REGISTER (SEC 4) WITH SYNC CHARACTERS (26)
SET TENA, TENA AND INTERAL SINGLE STEP LOOP
SET *‘TSOM'* (TRANSMIT START OF MESSAGE)
STEP CLOCK UNTIL “‘TBMT’' SETS
TEST THAT SYNC FLAG RECEIVED (S/F) SETS
WITHIN 400 (OCTAL) CLOCK TICKS
b ERROR REPORT IS ERROR 15
CLEAR "'TSOM'’' BIT
STEP CLOCK AND QUTPUT DATA AND MONITOR THAT
RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS

* ERROR REPORT IS ERROR 34
READ DATA RECEIVED AND VERIFY DATA IS
SAME AS SENT

* ERROR REPORT IS ERROR 23

THE ‘ERRCHK'' BIT IS READ AND TESTED FOR
NOT BEING SET
* ERROR REPORT IS ERROR 25

TEST 72: (TRANSMITTER UNDERRUN TEST-BOP MODE)
THIS TEST WILL CHECK THAT A FORCED UNDERRUN
CONDITION WILL SET “‘TSA'' (TRANSMITTER STATUS
AVAILABLE) '‘TERR'™' (TRANSMITTER ERROR) AND
THAT THE RECEIVER WILL SET THE 'RXA8'
(RECEIVER ABORT)
THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS
SET PROTOCOL 10 BOP
SET TENA, RENA AND INTERNAL SINGLE STEP MAINT CLOCK
SET '“TSOM'* (TRANSMIT START OF MESSAGE)

—

SEQ 0022
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TEST 73:

|
NOTE:

STEP CLOCK UNTIL '‘TBMT'' SETS

LOAD AN ADDRESS CHARACTER

CLEAR ''TSOM'’ BIT .

STEP CLOCK AND OUTPUT DATA (ON ‘TBMT'* SET)
UNTIL SYNC FLAG RECEIVED (S/F) SETS

TEST SYNC FLAG RECEIVED SETS WITHIN 400
(OCTAL) CLOCK TICKS

ERROR REPORT IS ERROR 14

STEP CLOCK AND OUTPUT DATA UNTIL "RDA"’
(RECEIVE DATA AVAILABLE) SETS

TEST "RDA’* SETS WITHIN 400 (OCTAL)

CLOCK TICKS

ERROR REPORT IS ERROR 34

STEP, CLOCK AND READ DATA BUFFER WHEN
RDA'SETS UNTIL “TSA™ (TRANSMIT STATUS AVAILABLE)
TEST "TSA'' SETS WITHIN 400 (OCTAL) CLOCK TICKS
ERROR REPORT IS ERROR 36

TEST "'TERR'' (TRANSMIT ERROR (SEC 3-7) IS SET
ERROR REPORT IS ERROR 26

STEP CLOCK AND READ RECEIVE DATA BUFFER

WHEN "RDA’ SETS AND TEST 'RXAB™* (RECEIVER
ABORT) SETS WITHIN 400 (OCTAL) CLOCK TICKS
ERROR REPORT IS ERROR 27

THE "RXAB' (177) IS GENERATED BY THE USYRT
TRANSMITTER LOGIC ON AN UNDERRUN CONDITION
IN CCP MODE

(TRANSMITTER UNDERRUN TEST FOR (CP MODE)

THIS TEST WILL CHECK THAT A FORCED UNDERRUN

CONDITION WILL SET °'‘TSA'' (TRANSMITTER STATUS

AVAILABLE) '‘TERR'' (TRANSMITTER ERROR) THEN CONTINUE
STEPPING THE CLOCK UNTIL A SYNC FLAG IS RECEIVED
INDICATING THE TRANSMITTER SENT SYNC CHARACTERS
(SECONDARY REG 4). WHEN THE UNDERRUN CONDITION OCCURRED
THIS TEST EXECUTES IN THE FOLLOWING SEQUENCE

ISSUE A MASTER CLEAR SEQUENCE

SET CHARACTER LENGTH TO 8 BITS
SET_PROTOCOL TO CCP

LOAD SYNC REGISTER WITH SYNC CHARACTER (26)
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP, MAINTENANCE CLOCK

SET *TSOM'"

STEP MAINT. CLOCK UNTIL '‘TBMT'* SETS

LOAD TRANSMIT DATA BUFFER WITH AN STX (2)
STEP CLOCK AND OUTPUT DATA AND TEST SYNC
FLAG RECEIVED (S/F) SETS WITHIN 400 (OCTAL
CLOCK TICKS

ERROR REPORT IS ERROR 15

CLEAR '‘TSOM'"

STEP CLOCK AND QUTPUT DATA AND TEST

RDA'* SETS WITHIN 400 (OCTAL) CLOCK TICKS
ERROR REPORT IS ERROR 34

STEP CLOCK, READ RECEIVE DATA BUFFER

WHEN "RDA'*’SETS UNTIL "'TSA'* SETS

TEST THAT '“TSA™ SETS WITHIN 400 (OCTAL)

SEQ 0023
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CLOCK TICKS

* ERROR REPORT IS ERROR 36
TEST THAT ‘°TERR'® (TRANSMITTER ERROR) IS SET
* ERROR REPORT IS ERROR 26

STEP CLOCK AND TEST SYNC FLAG RECEIVED SETS
WITHIN 400 (OCTAL) CLOCK TICKS
* ERROR REPORT IS ERROR 28

(RECEIVER OVERRUN TEST FOR CCP MODE)

THIS TEST WILL FORCE A RECEIVER OVERRUN CONDITION
BY NOT READING THE SECOND DATA CHARACTER RECEIVED.
THE "ROR'* BIT IS READ (SECONDARY REG, 1-BIT 3)

AND CHECKED FOR BEING CLEAR (RESULT OF
ORIGINAL READING).
THIS TEST EXECUTES THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS
SET PROTOCOL TO CCP
LOAD SYNC ADDRESS REGISTER WITH SYNC (26)
SET TENA, RENA AND ENABLE INTERAL SINGLE
STEP MAINTENANCE CLOCK
SET "‘TSOM'*
STEP CLOCK 9 TICKS
CLEAR ‘‘TSOM**
LOAD DATA REGISTER WITH CHARACTER (SOH=1)
STEP CLOCK 16 TICKS
LOAD FIRST DATA CHARACTER
STEP CLOCK 8 TICKS
LOAD 2N DATA CHARACTER
STEP CLOCK 8 TICKS
LOAD 3RD DATA CHARACTER
STEP CLOCK 8 TICKS
READ RECEIVE DATA BUFFER
LOAD 4TH DATA CHARACTER
STEP CLOCK 16 TICKS (FORCE RECEIVER OVERRUN)
TEST THAT 'ROR’' IS NOW SET

* ERROR REPORT IS ERROR 29
READ 'ROR’' 2ND TIME AND TEST BIT
IS CLEAR

b ERROR REPORT IS ERROR 30

(RECEIVER OVERRUN TEST FOR BOP MODE)
THIS TEST WILL FORCE A RECEIVER OVERRUN CONDITION BY
NOT REACING THE SECOND DATA CHARACTER RECEIVED. THE
ROR'' BIT IS READ (SECONDARY REG. 1-BIT 3)
AND CHECKED BOR BEING SET. THE BIT IS THEN REREAD
aggofzggkfb FOR BEING CLEAR (RESULT OF ORIGINAL
THIS TEST EXECUTES THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET CHARACTER LENGTH TO 8 BITS
gSgEPROTOCOL TO BOP AND ENABLE SECONDARY ADDRESS
LOAD SYNC REGISTER (SECONDARY 4) WITH A 376.
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP MAINTENANCE CLOCK.

SEQ 0024
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SET '‘TSOM"’
STEP CLOCK 2 TICKS
CLEAR “‘'TSOM"
LOAD TRANSMIT DATA BUFFER WITH SECONDARY
ADDRESS (376)
STEP CLOCK 14 TICKS
LOAD DATA BUFFER WITH CONTROL CHARACTER (0)
STEP CLOCK B TICKS
LOAD 1ST DATA CHARACTER
STEP CLOCK 8 ".(CKS
LOAD 2ND DATA CHARACTER
STEP CLOCK 8 TICKS
LOAD 3RD DATA CHARACTER
STEP CLOCK 8 TICKS
READ RECEIVE DATA BUFFER
LOAD 4TH DATA CHARACTER
STEP CLOCK 16 TICKS (FORCE RECEIVER OVERRUN)
TEST 'ROR'" BIT IS SET.
* ERROR REPORT IS EPROR 29
REREAD THE 'ROR'® BIT AND TEST THAT BIT
WAS CLEARED AND INITIAL READ.
* ERROR REPORT IS ERROR 30

(TRANSMIT ABORT AND RECEIVE ABORT TEST)
THIS TEST WILL CHECK THAT A '‘TXAB'' (TRANSMITTER
ABORT) WILL TRANSMIT AN ABORT CHARACTER
AND THE USYRT RECEIVE LOGIC WILL SET THE 'RXAB''
(RECEIVE ABORT) BIT WHEN THE CHARACTER IS
CLOCKED INTO THE RECEIVER.
THIS TEST EXECUTES THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET PROTOCOL TO BOP AND ENABLE SECONDARY
ADDRESS MODE
LOAD SECONDARY ADDRESS REGISTER WITH A 376
SET TENA, TENA AND ENABLE INTERNAL SINGLE
STEP CLOCK
SET "'TSOM'’
STEP CLOCK 2 TICKS
CLEAR ''TSOM'’
WRITE TRANSMIT DATA BUFFER WITH SECONDARY
ADDRESS CHARACTER (376)
STEP CLOCK 14 TICKS TO SYNC THE RECEIVE LOGIC
WRITE TRANSMIT DATA BUFFER WITH CONTROL
CHARACTER (0)
STEP CLOCK 8 TICKS TO TRANSMIT OUT THE
CONTROL CHARACTER
TRANSMIT OUT 3 DATA CHARACTERS (10)
SET "‘TEQM'® AND ‘‘TXAB''
STEP CLOCK 8 TICKS
READ RECEIVE DATA BUFFER (SECONDARY ADDRESS)
STEP CLOCK 8 TICKS
READ RECEIVE DATA BUFFER (1ST DATA CHARACTER)
STEP CLOCK 9 TICKS (TRANSMIT IN ABORT CHARACTER)
READ ‘RXAB'‘ AND TEST FOR BEING SET
* ERROR REPORT [S ERROR 31

SEQ 0025
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ANSMIT GO AHEAD AND RECEIVE GO AWEAD TEST (BOP MODE))
TEST WILL FORCE A GO AHEAD CONDITION BY SETTING
*"TXGA'" (TRANSMIT GO AHEAD) BIT AFTER THE LOGIC
SYNC AND TESTING THAT THE RECEIVE LOGIC
TS THE GO AHEAD CONDITION BY SETTING ‘RXGA
IVE GO AHEAD) .
TEST WILL EXECUTE THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET PROTOCOL TO BOP AND ENABLE LOOP MODE
SET TENA, RENA AND ENABLE INTERNAL SINGLE
STEP MAINTENANCE CLOCK
SET ''TSOM'"
STEP CLOCK 2 TICKS
CLEAR "TSOM
WRITE TRANSMIT DATA BUFFER WITH FIRST
DATA CHARACTER (101)
STEP_CLOCK 14 TICKS (SYNC LOGIC AND XMIT
FIRST_CHARACTER)
LOAD 2ND DATA CHARACTER (101)
STEP CLOCK 8 TICKS
LOAD 3RD DATA CHARACTER (101)
STEP_ CLOCK 8 TICKS
SET ''TEOM'* AND '‘TXGA"'
STEP CLOCK 8 TICKS (SEND CRC #1)
READ DATA REGISTER (ADDRESS:LM=1(BOP))
STEP CLOCK 8 TICKS (SEND CRC #2)
READ DATA REGISTER (1ST DATA CHARACTER)
STEP CLOCK 8 TICKS
READ DATA REGISTER (2ND DATA CHARACTER)
STEP CLOCK 9 TICKS
TEST THAT 'RXGA™ IS NOW_SET
. ERROR REPORT IS ERROR 32

(EXTERNAL DATA LOOP TEST)
THIS TEST CHECKS THAT THE EXTERNAL DATA LOOP
AND CLOCK PATH IS FUNCTIONAL (EXTERNAL DRIVEPS
ANL RECEIVERS) THE TEST WILL TRANSMIT AND
RECEIVE A WALKING ONES DATA PATTERN (1 TO 200)
THIS TEST WILL EXECUTE ONLY IF THE OPERATOR
HAS ENABLED THE EXTERNAL TEST ((CONFIGURATION)
THIS TEST WILL EXECUTE THE FOLLOWING SEQUENCE
ISSUE MASTER CLEAR SEQUENCE
SET PROTOCOL TO BOP
SET TENA, RENA AND ENABLE EXTERNAL SINGLE
STEP MAINTENANCE CLOCK
SET '‘TSOM"’
STEP CLOCK 2 TICKS
CLEAR ''TSOM'’
LOAD TRANSMIT DATA BUFFER (CURRENT DATA PATTERN)
STEP CLOCK AND TEST ‘‘TBMT'‘ SETS WITHIN
9 CLOCK TICKS
* ERROR REPORT IS ERROR 13
STEP CLOCK AND TEST 'RDA'' SETS WITHIN
9 CLOCK TICKS
* ERROR REPORT IS ERROR 42
READ RECEIVE DATA BUFFER AND TEST

—f D et ) e —0;
ITODMADVNIITIT— ~N

boe FTY =4 M D

SEQ 0026
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DATA CHARACTER IS SAME _AS SENT
* ERROR REPORT IS ERROR 23

(CRC~32 TRANSMITTER ERROR CHECK TEST)
THIS TEST WILL CHECK THAT THE TRANSMITTER
CHECK ERROR FLAG (PRI14~BIT 2) WILL SET BY
TRANSMITTING A DATA MESSAGE_WITH TRANSMIT CHECK MODE
ENABLED AND AN ILLEGAL CRC-32 CODE APPENDED TO THE
DATA MESSAGE.
THE DATA WORD TRANSMITTED IS A BYTE OF ALI 2EROS
AND THE APPENDED 32 BIT CRC IS A 1
THIS TEST EXECUTES ONLY IF EXT. TESTS ARE CONFIGURED
THIS TEST WILL EXECUTE THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET PROTOCOL TO BOP AND DISABLE USYRT ERROR
CHECK FUNCTJONS
ENABLE CRC=32 TRANSMIT CHECK MODE (PRI13-BIT 5)
TEST THAT BITS 1 & 2 OF PRIMARY REGISTER 14
ARE NOT SET.
. ERROR REPORT IS ERROR 38
SET TENA, RENA, ENABLE CRC-32 (CHECK MODE)
AND ENABLE EXTERNAL SINGLE STEP MAINT. CLOCK
SET "TSOM"
STEP CLOCK 2 TICKS
CLEAR "TSCM"
SEQUENCE TO TRANSMIT THE DATA BYTE
AND 2 CRC BYTES, STEPPING CLOCK 8 TICKS
FOR EACH AND TESTING '‘TBMT™ SETS
. ERROR REPORT IS ERROR 13
SET “TEOM™
STEP CLOCK 17 17 TICKS
TEST "TCRCE'* IS SET AND 'RCRCE'' IS CLEAR
. ERROR REPORT IS ERROR 38
FIRST TIME THROUGH TEST CHECK '‘TCRCE"
CLEARS BY WRITING THE BIT WITH A ONE.
. ERROR REPORT IS ERROR 38
SECOND TIME THROUGH TEST CHECK ''TCRCE'’
CLEARS BY ISSUING A LINE RESET.
. ERROR REPORT IS ERROR 38

(CRC~32 RECEIVER ERROR CHECK TEST)
THIS TEST WILL CHECK THAT RECEIVE CHECK
ERROR FLAG (PRIT4=BIT 1) WILL SET BY TRANSMITTING
A MESSAGE (1 BYTE=1) WITH AN APPENDED CRC-32
CODE (32 BITS=0) AND THE CRC LOGIC PLACED IN
CHECK_MODE (NON-GENERATE) .
THIS TEST WILL EXECUTE ONLY IF EXTERNAL TEST ARE
ENABLED (CONF IGURAT ION)
THIS TEST WILL EXECUTE THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET PROTOCOL TO BOP AND DISABLE USYRT
ERROR CHECK_FUNCTIONS
TEST THAT "‘TCRCE'* AND ‘RCRCE'' ARE NOT SET
. ERROR REPORT IS ERROR 38
SET TENA, RENA AND ENABLE (R(C-32
AND EXTERNAL SINGLE STEP MAINTENANCE CLOCK.

SEQ 0027
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TEST 103:

TEST 104:

SET "'TSOM*’
STEP CLOCK 2 TICKS
CLEAR ''TSOM'’
TRANSMIT THE DATA CHARACTER AND & CRC-32
BYTES, TESTING AFTLR EACH CHARACTER CLOCKED
OUT THAT '‘TBMT'‘ IS SET

* ERROR REPORT IS ERROR 13
SET '‘TEOM'
CLOCK IN & CHARACTERS (RCAD DATA REG. AFTER
EACH CHARACTER RECEIVED)
TEST 'RCRCE'® (PRI14-BIT 1) IS SET

* ERROR REPORT IS ERROR 38 \
FIRST TIME THROUGH TEST CHECK 'RCRCE’
IS CLEANED BY WRITING THE BIT WITH A ONE

* ERROR REPORT IS ERROR 38 ,
SECOND TIME THROUGH TEST CHECK '‘TCRCE™
IS CLEANED BY ISSUING A LINE RESET.

* ERROR REPORT 1S ERROR 38

(CRC-32 NON-ERROR TRANSMIT & RECEIVE TEST)
THIS TEST WILL CHECK A NON-ERROR CRC RECEIVE
CHECK AND NON-ERROR TRANSMIT CHECK BY TRANSMITTING
A DATA STREAM (NON-GENERATE) WITH A PRECALCULATED
CRC-32 APPENDED. THE DATA STREAM CONSISTS OF
WALKING A ONE ACCROSS 16 BITS (1 TO 100000).
THIS TEST EXECUTES ONLY OF THE EXTERNAL DATA TESTS
ARE ENABLED (CONFIGURATION)
THIS TEST EXECUTES THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
SET PROTUCOL TO BOP AND DISABLE USYRT
ERROR CHECKING
SET CRC=32 TO TRANSMIT (HECK MODE
SET TENA, RENA AND ENABLE CR(C-32 AND
EXTERNAL SINGLE STEP MAINTENANCE CLOCK
TEST THAT °''TCRCE'® AND 'RCRCE'' ARE NOT SET
* ERROR REPORT IS ERROR 38
SET '‘TSOM'’
STEP CLOCK 2 TICKS
CLEAR '‘TSOM'
SEQUENCE TO OQUTPUT AND RECEIVE THE DATA AND
CRC-32 CHARACTERS MONITORING THAT THE CHARACTERS
RECEIVE WITHIN 11 CLOCK TICKS

* ERROR REPORT IS ERROR 41
TEST THAT °‘TCRCE'' AND 'RCRCE'' ARE NOT SET
* ERROR REPORT IS ERROR 39
gggfg; TEST FOR EACH DATA VALUE AND CALCULATED

(CRC-32 TRANSMIT GENERATE TEST)

THIS TEST WILL CHECK CRC~32 TRANSMIT GENERATE BY
TRANSMITTING A ONE WORD BUFFER OF A WALKING ONE
(1 TO 100000) DATA PATTERN AND CHECKING THE
RECEIVED CRC32 DATA.

THIS TEST WILL EXECUTE ONLY IF EXTERNAL TESTS

T

SEQ 0028
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ARE ENABLED (CONFIGURATION)
THIS TEST WILL EXECUTE THE FOLLOWING SEQUENCE
ISSUE A MASTER CLEAR SEQUENCE
%Egr?ngOCOL TO BOP AND DISABLE USYRT ERROR
SET TENA, RENA, ENABLE CR(C-32 AND EXTERNAL
SINGLE STEP MAINTENANCE CLOCK
SET TRANSMIT GENERATE MODE
TEST '‘TRCRE'' AND ‘RCRCE’' ARE NOT SET
* ERROR REPORT IS ERROR 39
SET "‘TSOM"’
STEP CLOCK 2 TICKS
CLEAR ‘'TSOM"’
SEQUENCE TO QUTPUT 2 DATA CHARACTERS
AND RECEIVE 2 DATA CHARACTERS AND
& CRC BYTES (SETTING AND CLEARING
"'TEOM'' AT APPROPRIATE TIMES) AND MONITORING
NOT MURE THAN 11 CLOCKS TICKS ARE REQUIRED
FOR EACH CHARACTER

* ERROR REPORT IS ERROR 41
TEST THAT GENERATED CRC-32 IS SAME AS CALCULATED
* ERROR REPORT IS ERROR 40

REPEAT TEST FOR EACH DATA VALUE.

SEQ 0029
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THE FOLLOWING ARE THF ASSOCIATED ERRORS (NUMBERED)
AND THEIR DATA HEADER STATEMENTS.

ERROR1 :PRIMARY REGISTER ERROR

ERROR2:FLOATING ONE'S ERROR

ERROR3:SECONDARY REGISTER READ ERROR

ERRORG:THE FOLLOWING READ ONLY BIT CAN BE WRITTEN
ERRORS : TRANSMIT STATUS REGISTER BIT FAILURE

ERRORG:MODE CONTROL REGISTER BIT FAILURE

ERROR?7 : CHARACTER LENGTH REGISTER BIT FAILURE

ERROR8: TRANSMIT STATUS REGISTER BIT FAILED TO CLEAR AFTER LINE RESET
ERROR9 :MODE CONTROL REGISTER BIT FAILED TO CLEAR AFTER LINE RESET
ERROR10: SECONDARY INCREMENT ONE'S TEST FAILURE
ERROR11:SECONDARY REGISTER DID NOT CLEAR AFTER LINE RESET
ERROR12:TBMT NOT RESET AFTER TSOM SET WITH TENA SET
ERROR13:TBMT FAILED TO SET

ERROR14:S/F DID NOT SET AFTER FLAG SENT

ERROR15:S/F DID NOT SET AFTER SYNC SENT

ERROR16:S/F DID NOT RESET

ERROR17:RAC FAILED TO SET AFTER 3 DATA BYTES TRANSMITTED
ERROR18:RDA FAILED TO SET AFTER 3 DATA BYTES TRANSFERED
ERROR19:RSOM FAILED TO SET

ERROR20:FIRST DATA BYTE TRANSMITTED IN ERROR

ERROR21:REOM FAILED TO SET AFTER TEOM SET

ERROR22:LINE FAJLED TO RESYNC AFTER TEOM SET WITH IDLE RESET
ERROR23:DATA TRANSMITTED INCORRECTLY

ERROR24 :ERROR CHECK BIT FAILED TO SET

ERROR25:ERROR (CHECK BIT SET AND SHOULD NOT HAVE
ERROR26:NO TRANSMIT ERROR ON A FORCE UNDERRUN

ERROR27:NO ABORT INDICATIONS RECEIVED ON A FORCE UNDERRUN
ERROR28:LINE DID NOT RESYNCE ON A FORCE UNDERRUN
ERRORZ29:RECEIVER OVERRUN DID NOT SET ON A FORCE OVERRUN
ERROR30:RECEIVER OVERRUN DID NOT RESET AFTER STAUS READ
ERROR31:NO RECEIVE ABORT ON A TRANSMIT OF A ABORT
ERROR32:NO RECEIVE GO AHEAD ON A TRANSMIT OF GO AHEAD
ERROR33:DEVICE IS STILL TRYING TO SYNC

ERROR34:THE KMC11 IS HUNG

ERROR35:NO S/F AFTER TEOM WAS SET

ERROR36:S/F SET BEFORE LAST DATA BYTE RECEIVED
ERROR37:RSA DID NOT SET ON A TRANSMIT UNDERRUN
ERROR38:CRC-32 ERROR STATUS BITS (PR14-182)
ERROR39:CRC-32 TRANSFER CAUSED STATUS ERROR

ERROR4LQ: CRC-32 GENERATED IS NOT CORRECT

ERROR41:TRANSFER INCOMPLETE

ERROR42:'RDA'* FAILED TO SET ON DATA TRANSFER

THE FOLLOWING FOUR FIELDS ARE PESENT IN EVERY ERROR MESSAGE.

TEST PC KMC11
(OCTAL # OF FAILING TEST) (PROGRAM ADDR. OF ERROR) (1-16) # OF CONFIGURED UNIT) (# OF FA

THE FOLLOWING DESCRIBES THE OTHER POTENTIAL DATA AND STATUS FIELDS OF THE ERROR REPORTS.

L
I

I
L

N
1

E
NG LINE (0-7)

sTQ 0030
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REG
EXP
REC

PRINZ =

CRC=H]
CRC-LO

PRI =

Y
17:03

NUMBER OF FAILING REGISTER AS ADDRESSED 8Y KM(C11.
VAUE OF EXPECTED DATA OR STATUS
VALUE OF RECEIVED OR READ DATA OR STATUS

CONTENTS OF PRIMARY REGISTER 12

HI ORDER 16 BITS OF CALCULATED CR(C-32
LOW ORDER 16 BITS OF CALCULATED CRC-32
VALUE OF PRI14 (LINE UNIT STATUS)

PRIT4(SHBE) = STATUS VALUE THAT PRIMARY REG 14 SHOULD BE
SHBE-HI = CALCULATED HIGH ORDER 16 BITS OF CRC-32
SHBE=LO = CALCULATED LOW ORDER 16 BITS OF CRC-32

WAS=HI
WAS-LO
DATA =

8.0

RECEIVER HIGH ORDER 16 BITS OF (R(C-32
RECEIVED LOW ORDER 16 BITS OF CRC-32
DATA WORD TRANSMITTED

DIAGNOSTIC LISTING

3

SEQ 0031




c
CZKMDAO DMS11-DA STATIC MACY11 30A(1052) 21-nNCT-81 09:21 PAGE 32
CZKMDA.P11 20-0CT-81 17:03

.ENABL ABS,AMA
NLIST MD,MC,CND
aEO,LOC,BIN

b ek b
NN

62
62
62

SEQ 0032
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1626
1627
1628
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1630 START OF STATIC TEST LISTING
1631 ttttututttttttttttttttttnwnt"uuauttun"utttutt
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1636
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1637
1638
1639
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000001
160000

001100

000011
000012
000015
000200
177776

177774
177772
177570
177570

000000
000001
000002
000003
000004
000005
000006
000007
000006
000007

000000
000040
000100
000140
000200
000240
000300
000340

.LIST  SEQ,LOC,.8IN
LENABL ABS,AMA

«NLIST MC,.MD,CND

LIST ME

LTITLE CZKMDAQ DMS11-DA STATIC
:*COPYRIGHT (C) 1981

s*DIGITAL EQUIPMENT CORP.
:*MAYNARD, MASS. 01754

I
:*PROGRAM BY RAY BALDWIN/R. J. COLLINS
X

:THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
s *PACKAGE (MAINDEC-11-DZQAC-(C5), JAN, 1981,

*
$TN=1
$SWR=160000 ;:HALT ON ERROR, LOOP ON TEST. INHIBIT ERROR TYPOUT
.SBTTL BASIC DEFINITIONS
;*INITIAL ADDRESS OF THE STACK POINTER ssx 1100 wwe

STACK= 1100
:.BASIC DEFINITION OF ERROR CALL

.EQUIV EMT,ERROR
.EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL

s*MISCELLANEOUS DEF INITIONS

HT= 1 ;;CODE FOR HORIZONTAL TAB

LF= 12 :;CODE FOR LINE FEED

CR= 15 ::CODE FOR CARRIAGE RE)URN

CRLF= 200 :;CODE FOR CARRIAGE RETURN-LINE FEED
PS= 177776 : sPROCESSOR STATUS WORD

LEQUIV PS,PSW
STKLMT= 177774
PIRG= 177772
DSWR= 177570
DDISP= 177570

ssSTACK LIMIT REGISTER

2 ;PROGRAM INTERRUPT REQUEST REGISTER
s ;MARDWARE SWITCH REGISTER

;s sHARDWARE DISPLAY REGISTER

:®*GENERAL PURPOSE REGISTER DEFINITIONS

RO= X0 :;GENERAL REGISTER
R1= X1 :sGENERAL REGISTER
R2= X2 :;GENERAL REGISTER
R3= 13 :;GENEPAL REGISTER
R4= A s:GENF AL REGISTER
RS= x5 ::GEVM AL REGISTER
R6= 26 ::GE” RAL REGISTER
R7= Y ¥4 ;:GE JERAL REGISTER
SP= 16 J:STACK POINTER
PC= ¥4 ; sPROGRAM COUNTER
+*PRIORITY LEVEL DEFINITIONS

PRO= 0 ::PRIORITY LEVEL 0
PR1= 40 ;:PRIORITY LEVEL 1
PR?= 100 ::PRIORITY LEVEL 2
PR3= 140 ::PRIORJTY LEVEL 3
PR4= 200 ;:PRIORITY LEVEL 4
PRS= 240 ::PRIORITY LEVEL §
PR6= 300 ::PRIORITY LEVEL 6
PR7 = 340 ;:PRIORITY LEVEL 7

SEQ 0037
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100000
040000
020000
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004000
002000
001000
000400
000200
000100
000040
000020
000010
000004
000002
000001

100000
040000
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000004
000010
000014
000014
000014
000020
000024
000030
000034
000060
000064
000240
163400
000001
000001

17
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09:21

BASIC DEFINITIONS

N
PAGE 39

:*BASIC "'CPU'" TRAP VECTOR ADDRESSES

ERRVE(=
RESVEC=
TBITVEC=

-y

X

—

<

m

[ g

n
NIOND b b b b S

(=P P P )

4
EMTVEC= 30
TRAPVEC=34
TKVEC= 60
TPVEC= 66
PIRQVE(C=240
$SWR=163400
$TN=1
$N=1

;TIME OUT AND OTHER ERRORS
..RESESYED AND ILLEGAL INSTRUCTIONS
::TRACE TRAP
: :BREAKPOINT TRAP (8BPT)

;s INPUT/QUTPUT TRAP (10T) ««SCOPE=++
s ;POWER FAJL

; ;EMULATOR TRAP (EMT) #+ERROR«*
;."TRAP" TRAP

;TTY KEYBOARD VECTOR
:STTY PRINTER VECTOR
; ;PROGRAM INTERRUPT REQUEST VECTOR

SEQ 0039
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177 100000

1786 000000 000000
1787 000002 000737

1789 000004 002004
1790 000006 000340
1791 000174
1792 000174 000000
1793 000176 000000

1795 000200 000137 002004

8
21-0CT-81 09:21 PAGE 40
TRAP CATCHER

.SBTTL TRAP CATCHER

=0
;*ALL UNUSED LOCATIONS OF THE VECTOR AREA CONTAIN
J*A "' +2, JOT'' SEQUENCE TO CATCH AND PROCESS ILLEGAL
:*TRAPS AND INTERRUPTS THAT MIGHT OCCUR.
;*THE 10T TRAP WHICH IS TAKEN ON THE ILLEGAL TRAP/INT
¢*TRAPS TO THE $SCOPE ROUTINE WHICH (IF THE RETURN PC IS
;*LESS THAN 1002) JUMPS TO THE SERROR ROUTINE.
s*THE $ERROR ROUTINE WILL REPORT THE ERROR AS FOLLOWS:
i PC=YYYYYY UNEXPECTED TRAP TO XXX
:%AND RETURN TO THE PROGRAM AT PC=YYYYYY+2
: *WHERE XXX=LOCATION OF ILLEGAL TRAP

" YYYYVY=PC AT TIME OF TRAP
‘«NOTE: IF THE PROCESSOR IS NOT AN 11705 THE PROGRAM
i CAN BE STARTED AT ADDRESS O AS WELL AS ADDRESS 200.
$4LOCAT: HALT ALT
8R =100 ..?q?ggu TO 177700 & TIME OUT (NOT ON
JWORD  ,START “'VECTOR TO STARTING ADDRESS
-WORD 340 *'WITH PRIORITY LEVEL 7
DISPREG:.WORD 0 ;;SOF TWARE DISPLAY REGISTER
SWREG: .WORD 0 ::SOFTWARE SWITCH REGISTER

.SBTTL STARTING ADDRES(ES)
JMP a# . START ;.60 TO START OF PROGRAM

SEQ 0040
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CY11 30A(1052)

21-0C7-81

COMMON TAGS
.SBTTL COMMON TAGS

RN AR RN RN AR A AN AN AR AN RN RN AR AANAAN AN RNNRN AN ANANY

s*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS

;*USED IN THE PROGRAM.

$CMTAG:
$PASS:
STSTNM:
$ERFLG:
SICNT:
$LPADR:
$LPERR:
$ERTTL:
SITEMB:
SERMAX :
$ERRPC:
$GDADR:
$8DADR:
$GDDAT:
$BDDAT:

$AUTOB:
$INTAG:

SWR:

DISPLAY:

$TKS:
$TKB:
$TPS:
$TP8:
$NULL :
SFILLS:
$FILLC:
$TPFLG:
$REGAD:

$REGO:
$REG]:
$SREGZ:
$REG3:
$SREG4:
$SREGS:
$REGH:
$REG?7:
$TMPO:
$TMP1 :
$TMP?2:
$TMP3:
$STMPL :
$TMPS :
$TMP6:
$TMP?7:
$TMP10:

.=1100

.WORD
.BYTE
.BYTE
.WORD
. WORD
.WORD
.WORD
.BYTE
.BYTE
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
-WORD
.BYTE
.WORD
.WORD
- WORD
177560
177562
177564
177566
.BYTE
.BYTE
. 40RD

.WORD
.WORD
.WORD
.WORD
-WORD
.WORD
.WORD
.WORD
-WORD
.WORD
-WORD
.WORD
-WORD
.WORD
.WORD
.WORD

09:21

(elelelelelelolelelel Jolelelelolelela)

0O
on
g
w0
o

no

OOO0O0O0OCOCOODOOO0OOOO OO=NO

¢
PAGE 41

::START OF COMMON TAGS

;s CONTAINS PASS COUNT

c.CONTAINS THE TEST NUMBER

;s CONTAINS ERROR FLAG

s ;CONTAINS SUBTEST ITERATION COUNT
.- CONTAINS SCOPE LOOP ADDRESS

s s CONTAINS SCOPE RETURN FOR ERRORS
:;CONTAINS TOTAL ERRORS DETECTED

s ;CONTAINS ITEM CCNTROL BYTE

s CONTAINS MAX. ERRORS PER TEST

s s CONTAINS PC OF LAST ERROR INSTRUCTION
:; CONTAINS ADDRESS OF 'GOOD' DATA
s CONTAINS ADDRESS OF °BAD' DATA
::CONTAINS 'GOOD' DATA

:cCONTAINS 'BAD' DATA

; sRESERVED-=NOT TO BE USED

s sAUTOMATIC MODE INDICATOR
:: INTERRUPT MODE INDICATOR

;sADDRESS OF SWITCHM REGISTER

2 sADDRESS OF DISPLAY REGISTER

;:TTY KBD STATUS

:sTTY KBD BUFFER

;2TTY PRINTER STATUS REG. ADDRESS

::TTY PRINTER BUFFER REG. ADDRESS

ssCONTAINS NULL CHARACTER FOR FILLS

ssCONTAINS # OF FILLER CHARACTERS REQUIRED

.,JNSERT FILL CHARS. AFTER A 'LINE FEED'’

s 'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)

;sCONTAINS THE ADDRESS FROM

J:WHICH (SREGO) WAS OBTAINED

;s CONTAINS ((SREGAD)+0)

JsCONTAINS ((SREGAD) +2)

JoCONTAINS ((SREGAD) +4)

2 oCONTAINS ((

..CONTAINS ((SREGAD) +
CONTAINS ggs

s cUSER DEF INED
s ;USER DEF INED
s sUSER DEFINED

SEQ 0041

-




CZKMDAO DMS11-DA STATIC MACYI 30A(1052)C

CZKMDA.P11 20-0C7-81
1852 001224 000000
1853 001226 000000
1856 001230 177607
1855 001234 077
1856 001235 015
1857 001236 000012
1858
1859
1860
1861
1862 001240
1863 000207
1864 000002
1865 000002
1866 000207
1867 000020
1868 000001
1869 000100
1870 000200
1871 000020
1872 000100
1873 000000
1874 000001
1875 000001
1876 000001
1877 000002
1878 000004
1879 000001
1880 000003
1881 000004
1882 000005
1883 000010
1884 000007
1885 000200
1886 000001
1887 000010
1888 000100
1889 000040
1890 000200
1891 000040
1892 000004
1893 000002
1894 000001
1895 000002
1896 000004
1897 000004
1898 000010
1899 000020
1900 000040
1901 000100
1902 000200
1903 000002
1904 000004
1905 000010
1906 000200
1907 000001

17:03

000377

0
21-0CT-81 09:21 PAGE 42
OMMON TAGS

SEQ 0042

$TMP11: .WORD O s ;USER DEF INED

SESCAPE:0 s cESCAPE ON ERROR ADDRESS
$BELL: .ASCIZ <207><377><377> ;;CODE FOR BELL

$QUES: .ASCII /2/ :;QUESTION MARK

$CRLF: L.ASCII <15> s : CARRIAGE RETURN

SLF: ASCIZ <O ;. LINE FEED

A AR AR SRR AR AR R iR AR ARl il Rl i il it d ittt il idddtidddd ]

: PROGRAM CONTROL PARAMETERS

©EXIT=207

EXITT=RT]
EXITI=RT]
EXITS=207
TENA=BIT4
TSOM=BITO
TAC=BITé
TSA=BIT7
TBMT=B] T4
CCP=BIT6
BOP=0
RENA=BITO
RDA=BITO
X=1
y=2
=4
CCITT=X
CRCI6=X!Y
0DDP=2
EVENP=X!Z
CRCEN=BIT3
CRC32=X!Y!2
ERRCK=BIT?7
SOH=001
SF=BIT3
=BIT6
MA=BITS
MCc=8117
LM=BITS
RAC=8BIT?2
RSA=8]T1
RSOM=BITO
REOM=BIT1
RXGA=B1T2
RXAB=B]T?
ROR=BIT3
ABCA=BIT4
AB(CB=BIT5
ABCC=B1T6
ERRCK=B1T7
TEOM=BIT1
TXAB=BIT2
TXGA=BIT3
TERR=BIT7
PROTEX=BIT0




CZKMDAQ DMS11-DA STATIc MACY]
CZKMDA.P11 20-0C7-81 17:03

1908 000002 PROTEY=BIT1
1909 000004 PROTEZ=BIT2
1910 000010 NIDLE=BIT3
1911 000020 SAM=B] T4
1912 000040 SSL=BITS
1913 000100 PROT0=B]Té
1914 000200 APA=B]T?
1915 000001 RDATA1=BITO
1916 000002 RDATA2=BIT1
1917 000004 RDATA3=B]T2
1918 000010 EXCON=BIT3
1919 000020 EXADD=B81T4
1920 000040 TDATA1=8]TS
1921 000100 TDATA2=B1T6
1922 000200 TDATA3=BIT7
1923 000001 LNRST=8]T0
1924 005227 INCL=05227
1925 000007 DISCRC=7
1926 000026 SYN=26

1927 000002 STX=2

1928 000001 SOH=1

1929 000004 EOT=4

1930 000003 ETX=3

1631 000001 INIT=BITO
1932 000002 LOCK=B]T1
1933 000004 LNLOCK=BIT2
1934 000010 TLOCK=BIT3
1935 000010 PRI10=10
1936 000011 PRI11=11
1937 000012 PRI12=12
1938 000013 PRI13=13
1939 000014 PRI14=14
1940 000015 PRI15=15
1941 000016 PRI16=16
1942 000017 PRI17=17
1943 000000 SEC0=0

1944 000001 SEC1=1

1945 000002 SEC2=2

1946 000003 SEf3=3

1947 000004 SEC4=4

1948 000005 SEC5=5

1949 000006 SEC6=6

1950 000007 SEC7=7

1951 000000 LNO=0

1952 000040 LN1=40

1953 000100 LN2=100
1954 000140 (N3=140
1955 000200 LN4=200
1956 000240 LNS=240
1957 000300 LN6=300
1958 000340 LN7=340
1959 000000 SEL0=0

1960 000002 SEL2=2

1961 000004 SEL4=4

1962 000006 SEL6=6

1963 000000 BSELO=0

E
1 30A(1052) 21-0CT-81 09:21 PAGE 43
COMMON TAGS

SEQ 0043




CZKMDAO DMS11-DA STATIC MACY
20-0CT1-81 17:0

CZKMDA

1964
1965
1966
1967
1968
1969
1970
1971
1972
1973
1974

P11

001240
001242

001242
001244
001246
001250

001260
001262

000001
000002
000003
000004
00005
000006
000007
000010
000040
000004
000002

000000

000000
000000
000000
000001
000000
000000
000000
000000
000000

1
3

1 30A(1052)c

21-0C7-8
OMMON TAGS

1

RCRCE

;  PROGRAM

09:2

=8

1

PAGE

REGIST: 0

-ROEND:

CLINE:

CLINED:
SDVICE:
CMFLAG:
NXTLIN:
LINBYT:
CRC32F:
CLKDAT:
TSTNUM:

.WORD
.WORD
-WORD
.WORD
-WORD
.WORD
.WORD
- WORD
.WORD

OOO0O0OLOOO

by
—
o

f
Lb

;REGISTER NUMBER STORAGE FOR TYPE OUT

sCURRENT LINE POINTER
s CURRENT LINE POINTER DZCIMAL
: CURRENT DEVICE #
sPROGRAM COMMAND FLAG
sFLAG FOR NEXT LINE TO BE TESTED
;HOLDS LINES ENABLED
;CRC-32 FLAG
:INT/EXT FLAG
;TEST # FOR ERROR REPORT

SEQ 0044




CZKMDAQ DMS11-DA STATIC MAC

CZKMDA.P11

1990

SEEREERRE

SNNN
S22
Ny =

001264

001264
001264
001272
001274
001302
001304
001312
001314
001322
001324
001332
001334
001342
001344
001352
001354
001362

001512
001514

Y1
20-0CT-81 17:03

040140
0640140
040140
040140
040216
040216
040216
040216
040216
040140
040140
040216
040216
040216
040216
040216
040216
040216
040216

036415 040216

1 30A(1052)

040624
060624
060624
040624
060644
040644
040644
0640644
040644
060624
040624
060662
060662
060662
040662
060662
060662
040662
040662
040644

21-0CT1-81

09:21 PAGE

ERROR POINTER TABLE
.SBTTL ERROR POINTER TABLE

;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

G
45

;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN

:*hgge{ION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE ]S PERTINENT.
i :
;*NOTEZ2:

LI YO KN )

L 2R B R

$ERRTB:

IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

.BCRAD ERROR TABLE

BCRAD.ERTBL :

EM1,DH1,DT1,DF1
EM2,DH1,DT1,DF1
EM3.,DH1,DT1,DF1
EMé& ,DH1,DT1,DF1
EM5.DH2,DT2,DF2
EM6,0H2,DT2,DF2
EM7 ,DH2,DT2,DF2
EM8,DH2,DT2,DF2
EM9,DH2,DT2,DF2
EM10,DH1,DT1,DF1
EM11,DH1.DT1,DF1
EM12,DH2,DT3,DF2
EM13,DH2,DT3,DF2
EM14,DH2,DT3,DF2
EM15,DH2,DT3,DF2
EM16,DH2,DT3,DF2
EM17,DH2,DT3,DF2
EM18,DH2,DT3,DF2
EM19,DH2,DT3,DF2
EM20,DH?2,DT2,DF2

:;POINTS TO THE ERROR MESSAGE
+sPOINTS TO THE DATA HEADER

;s sPOINTS TO THE DATA

s;POINTS TO THE DATA FORMAT

SEQ 0045




H
CZKMDAO DMS11-DA STATIC MACY1T 30A(1052) 21-0CT-81 09:21 PAGE 46

CZKMDA.P11 20-0CT-81 17:03 ERROR POINTER TABLE
2046 001522 041022
2047 001524 036462 040216 0460662 EM21,DH2,DT3,DF2
2048 001532 041022
2049 001534 036524 060322 040712 EM22,DH5,DT5,DF5
2050 001542 041034
2051 001564 036611 040216 060644 EM23,DH2,DT2,DF2
2052 001552 041022
2053 001554 036646 040216 040662 EM24,DH2,DT3,DF2
2054 001562 041022
2055 001564 036704 040216 060662 EM25,DH2,DT3,DF2
2056 001572 041022
2057 001574 036754 040266 040700 EM26,DH4.DT4,DF 4
2058 001602 041030
2059 001604 037022 040266 040700 EM27.DH4 ,DT4 ,DF4
2060 001612 041030
2061 001614 037106 040266 040700 EM28,DH4 ,DT4,DF4
2062 001622 041030
2063 001624 037155 040266 040700 EM29.DH4 ,DT4,DF 4
2064 001632 041030
2065 001634 037235 060266 040700 EM30,DH4,DT4,DF &
2066 001642 041030
2067 001644 037315 040266 040700 EM31,DH4,DT4,DF 4
2068 001652 041030
2069 001654 037367 040266 040700 EM32,DH4,DT4 ,DF &
2070 001662 041030
2071 001664 037445 040322 040712 EM33,DH5,DTS,DFS
2072 001672 041034
2073 001674 037506 060266 040700 EM34 ,DH4 ,DT4 ,DF 4
2074 001702 041030
2075 001704 037526 040322 040712 EM35,DH5,DT5,DF5
2076 001712 041034
2077 001714 037560 040322 040712 EM36,DH5,DT5,DFS
2078 001722 041034
2079 001724 037627 040322 040712 EM37 ,DH5,.DT5.DF5
2080 001732 041034
2081 001734 037676 040366 040726 EM38,DH6.DT6,DF6
2082 001742 041041
2083 001744 037742 040436 040744 EM39,DH7,DT7,DF7
2084 001752 041047
2085 001754 040006 040526 040766 EM40,DH8,DT8,DF1
2086 001762 041012
2087 001764 040113 040266 040700 EM4T ,DHG, DTG, DF 4
2088 001772 041030
2089 001774 040046 040216 040662 EMé&2,DH2,DT3,DF2

2090 002002 041022

SEQ 0046




CZKMDAD DMS11-DA STAT]IC

CZKMDA.P11

2091

2092 002004
2093 002004
2094

2095

2096 002004
2097 002010
2098 002012
2099 002016
2100 002020
2101

2102 002024
2103 002032
2104 002040
2105 002046
2106 002054
2107 002062
2108 002070
2109 002076
2110 002102
2111 002110
2112 002116
2113

2114

2115 002124
2116 002130
2117 002136
2118 002144
2119 002152
2120 002160
2121

2122 002162
2123 002164
2124 002170
2125 002172
2126 002200
2127 002206
2128

2129

2130

2131 002212
2132 002216
2133 002220
2134 002226
2135 002230
2136

2137 22
2138 002240
2139 002242
2140 002250
2141 002252
2142 002254
2143 002256
2144 002264
2145 002264
2146

20-0CT-81

012706

022777
001012

000403
012716
000002
012737
012737
012637

005227
001041
022737
001435
104401

005737
001006
023727
001005
104406
000403
112737

000416

MACY11 30A(1052)

1
17:03

001100
001140
001100

043564
000340
043114
000340
050052
000340
035036
001226
000001
002110
002116

000004
002164
177570
177570
177777

002172
000176

000174
000004

177777
035070
002266
000042
001140

000001

000020
000022
000030

176760

o0
O
-— b
— b
He
O

000042

000176

001134

21-0CT7-81
ERROR POINTER TABLE

.BEGINNING ROUTINE

.START:

1
09:21 PAGE 47

.BEGIN: ;CLEAN UP THE REST OF THE VARIABLE TABLE
INITIALIZE THE COMMON TAGS
:sCLEAR THE COMMON TAGS (SCMTAG) AREA

.SBTTL

mMov
CLR
CMP
BNE

#SCMTAG . R6 s.FIRST LOCATION TO BE CLEARED
(R6) + s sCLEAR MEMORY LOCATION

#SWR,R6 ;.DONE?
=6 :+LOOP BACK IF NO
#STACK ,SP JoSETUP THE STACK POINTER

MOV
s INITIALIZE A FEW VECTORS
MOV

MOV
MOV
MOV
MoV
MOV
MoV
CLR
Movs
MoV
MoV

#$SCOPE ,@#10TVEC ;,I0T VECTOR FOR SCOPE ROUTINE
#340,34I0TVEC+2 ;. LEVEL 7

#SERROR ,@#EMTVEC :;EMT VECTOR FOR ERROR ROUTINE
#3460, QNEMTVEC+2 ; LEVEL 7

#STRAP ,@#TRAPVEC ;:TRAP VECTOR FOR TRAP CALLS
#3460 34TRAPVEC+2;LEVEL 7

SENDCT,SEOPCT  ;;SETUP END-OF ~PROGRAM COUNTER

SESCAPE ssCLEAR THE ESCAPE ON ERROR ADDRESS
#1,SERMAX :;ALLOW ONE ERROR PER TEST

#.,SLPADR s INITIALIZE THE LOSP ADDRESS FOR SCOPE
#.,SLPERR s SETUP THE ERROR LOOP ADDRESS

;:SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
;;EQUAL TO A *'=1'', SETUP FOR A SOF TWARE SWITCH REGISTER.

64S:
65%:
669%:

MOV
MoV
MOV
MoV
CMP
BNE

BR

MOV
RTI
Mov
MOV
Mov

@#ERRVEC,-(SP) ;;SAVE ERROR VECTOR
#648 ,@MERRVEC  ;.SET UP ERROR VECTOR

#DSWR, SWR ssSETUP FOR A HARDWARE SWICH REGISTER
#DDISP,DISPLAY ;:ANC A HARDWARE DISPLAY REGISTER
#-1,3SWR s TRY TO REFERENCE HARDWARE SWR

66$ s ;BRANCH IF NO TIMEOUT TRAP OCCURRED

ssAND THE HARDWARE SWR IS NOT = -1

65% :sBRANCH IF NO TIMEOUT
#658, (SP) :-SET UP FOR TRAP RETURN
#SWREG, SWR s ;POINT TO SOF TWARE SWR
#D]SPREG,DISPLAY

(SP)+ ,Q#ERRVEC ;;RESTORE ERROR VECTOR

.SBTTL TYPE PROGRAM NAME
;< TYPE THE NAME OF THE PROGRAM IF FIRST PASS

.SBTTL

69$:
708:

;:688:

INC
BNE
cMP
BEQ

”-1 ;:FIRST TIME?
67% 2:BRANCH IF NO
#SENDAD ,a#42 ::ACT=112

67% s cBRANCH IF YES

TYPE L0688 J:TYPE ASCIZ STRING

GET VALUE FOR SOFTWARE SWITCH REGISTER

TST anég?l ;;ARE WE RUNNING UNDER XXDP/A(CT?
BNE 698 ;:BRANCH IF YES

CMP SWR,#SWREG J:SOFTWARE SWITCH REG SELECTED?
BNE 708 ;:BRANCH IF NO

g;SUR 208 J:GET SOFT-SWR SETTINGS

MOVB #1,8AUTOB 2sSET AUTO=-MODE INDICATOR

:: GET OVER THE ASClZ

8R 67% s e
.ASCIZ <CRLF>#CIKMDAO DMS11-DA STATIC #<CRLF>

SEQ 0047
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002412
002412
002414
002416
002422
002424
002430
002432
002436
002440
002440
002444

002450
002450

002452
002456
002464
002470
002474

002512

002516
002520

002604
002610
002614
002642

002642
002646

20-0CT-81

004737
004737
012706
012737
104401
000420

104412
012600
022700
001413
022700
001003

004737
000735

104401
000401

000730

012706
142737
005037
005037
005037
005037
012737

004737
000401
00042¢€
005737
001402
000137
104401
000412
004737
000137

004737

0304612

013746
104403

000001
000002
041134

002446

001100
000340
001250
001242
001244
001246
042460

042630

041064
035006
002542

041134
002452

043002

001102
002616

001244

1 30A(1052)

177776

177776

041070

J
21-0CT-81 09:21 PAGE 48
GET VALUE FOR SOFTWARE SWITCH REGISTER

67%:
JSR PC,$SIZE
JSR PC, CNSTKINT ({(memmnna <<=
.MONIT: MOV #STACK SP
MOV #340.PSW
TYPE .653 ..TYPE ASCIZ STRING
:GET OVER THE ASCI2Z

BR 648
éigSS: JASCIZ <15><12>/(1)DIAG. TEST(2) CONF IGURATION /

RDOCT

MOV (SP)+,R0

CMP #1,R0 ;LOGIC TEST?

BEQ LOOP

(MP #2,R0 ;GO TO LOGIC TEST LOOP

BNE 3s ;CONF IGURATION MODE

JSR PC,MODTAB JMODIFY THE CONFICURATION ROUTINE
3 BR MOMIT

TYPE L0678 J:TYPE ASCIZ STRING

BR 66% J:GET OVER THE ASCIZ
::67%: LASCIZ ?2?
66$:

BR MONIT

< STATIC TEST LOOPING ROUTINE
LOOP: MOV #STACK,SP

BI(C8 #340,PSW

CLR CMFLAG

CLR CLINE

CLR CLINED

CLR $DVICE

Mov #KMCTAB-6,CURTAB

;<==<<< ALLOW INTS.

NXTUN:
JSR PC.,GETKMC
BR 18 ;8= NO KMCS ENABLED
BR CYCLE

1$: TST KMCNT ;1S THERE KMC'S ENABLED
BEQ 2$ 18=NO

2 JMP $EOP

' TYPE ,653 ;s TYPE ASCIZ STRING

BR 64$ *GET OVER THE A5SCIZ

3225’: JASCIZ  <15><12>/NO UNITS ENABLED/
" JSR PC,MODTAB ;SET UP CONFIGURATION TABLE

JMP LOOP JNOW ENTER LOGIC TEST
CYCLE:
JSR PC,GETLIN
B8R NXTUN JFINISHED ALL LINES GET NEXT UNIT
CLR $TSTNM
TYPE ,65% ..TYPE ASCI2 STRING
BR 64$ :GET OVER THE ASCIZ

-253: PASCIZ  <155<12>/Now TESTING LINE/

MOV CLINED,-(SP) ;s SAVE CLINED FOR TYPEOUT
TYPOS ::GO TYPE--OCTAL ASCII

One e
F o]

SEQ 0048




CZKMDAD OMS11=DA STATIC MACY11 30A(1052) 21-0CT=81 09:21 PAGE 49
CIKMDA.P11  20-0CT=-81 17:03 GET VALUE FOR SOFTWARE SWITCH REGISTER SEQ 0049

2203 002650 006 .BYTE 6 ;:TYPE 6 DIGITS

2204 002651 000 .BYTE 0 : :SUPPRESS LEADING 2EROS

2205 002652 104401 002660 TYPE .67% :3TYPE ASCIZ STRING

2206 002656 000404 BR é6$ 1:GET OVER THE ASCIZ

2207 ;:678:  LASCIZ / KMC #/

2208 002670 66$:

2209 002670 013746 001246 MOV $DVICE,~(SP) ::SAVE SDVICE FOR TYPEOUT

2210 002674 104405 TYPDS ::G0 TYPE==DECIMAL ASCII WITH SIGN

2211 002676 104401 002704 TYPE 698 <3TYPE ASCIZ STRING

2212 002702 000402 BR 68$ ::GET OVER THE ASCIZ

2213 ::698: ASCIZ / /

2214 002710 68$:

2215 002710 000137 002714 JMP LTEST ;RUN LOGIC TESTS




CZKMDAQO DMS11-
CZKMDA.P11

nJ
Ny
—
o~

002714

NS ST, ST NT.NT ST ST T NT. NI ST, VI, ST N
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PRELIMINARY PRIMARY REGISTER READ TESTS

i??g;L PRELIMINARY PRIMARY REGISTER READ TESTS

Jrennnnnnsnnncacscsentnanant TEST 1 ceavnnanncananonentesnantnd
s*LINE SELECT REGISTER TEST

:*DO A MASTER CLEAR, VERIFY THAT ALL

;*BITS ARE IN THE CORRECT STATE OF REGISTER PRI11

N N e e T L T T e L e DT T T T T Y
: TEST 1

RN AN AT T R AN AR R RN AR AR R AR RN AR R AR R
TST1:  SCOPE
MOV #1,STSTNA : LOAD THE NO. OF THIS TEST
MOV #1,TSTNUN ;& FOR TYPE OUT
1018:  RESET sCLEAR THE WORLD
JSR PC.a¥STKINT sINITIAL TTY INPUT

CLR RO
108 : INCB RO
BNE 108
CLR (R4) JINITIALIZE THE CSR REGISTERS
CLR 2(R4) : oo
CLR 4(RG) : cos
CLR 6(R4) : coe
1028: MOV #PRI11,REGIST  ;SAVE THE REGISTER FOR TYPE OUT
READ PRI sREAD PRI
MOV (SP)+,$TMPO J:POP STACK INTO $TMPO
CLR STMF1 :PUT "EXPECTED'' IN $STMPI
CMP $TMPO,S$TMPI ; COMPARE RESULTS
8EQ TST2 ‘.
ERROR 1 ;ERROR IN PRIN
JMP 1018 ;LOOP ON ERROR

JENENRAARRRNRNRRRC R Rnananans TEST 2 stnanantntnanvesndnntnnnene
s*SECONDARY SELECT REGISTER TEST

s*D0 A MASTER CLEAR, VERIFY THAT ALL

;*BITS ARE IN THE CORRECT STATE OF REGISTER PRIN2

IR AN AR RN RN A RN AN ARAANARRANRAANANRARANAA AN AR RN RN RN RRN

; TEST 2

:- -
PCRARARNRARAARNANRRAAARARNER AN R R NN N AN RN NN RNARNNAN R AR NA AR RA RN

7ST2:  SCOPE
MOV #2.8TSTNM : LOAD THE NO. OF THIS TEST
<# FOR TYPE OUT

MOV #2,TSTNUM

1018$:  RESET ;CLEAR THE WORLD
JSP PC.a#S$TKINT JINITIAL TTY INPUT
CLR RO
108: INCB RO
BNE 108
CLR (R4) ;INITIALIZE THE CSR REGISTERS
CLR 2(R4) : ces

CLR 4 (R&) ; cee
CLR 6(R4) : coe

SEQ 0050
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CZKMDA . P11 20-0CT-81 17:03 PRELIMINARY PRIMARY REGISTER READ TESTS SEQ 0051
2272 003074 012737 000012 001240 102%: MOV #PRI12,REGIST :SAVE THE REGISTER FOR TYPE QuT
2273 003102 104420 000012 READ LPRI?2 sREAD PRI12
2274 003106 012637 001202 MOV (SP)+,$THAPO ;:POP STACK INTO $TMPO
2275 003112 005037 001204 CLR $TMP JPUT "EXPECTED'' IN $TMP?

2276 003116 023737 001202 001204 (MP $TMPO,STMP1 ;COMPARE RESULTS

2277 003124 001403 BEQ TST3 22

2278 003126 104001 ERROR 1 ;ERROR IN PR]12

%Sgg 003130 000137 003042 JMP 1018 ;LOOP ON ERROR

2281

2282 anteRnanntnsrrrtnrntnnnnens TEST 3 wecennnevevanannaevanannens
2283 ;«LINE STATUS REGISTER TEST

2284 ;*D0 A LINE CLEAR, VERIFY THAT ALL

2285 ;*BITS ARE IN THE COKRECT STATE OF REGISTER PRII3

2286 JINAANEAANRAANCTNNARNARRNANNAARANARNAACNAARNAAARNAANNARONAGORAOR
2287

%ggg ; TEST 3

2290 :;ﬁttttt;tttttttltttttttttttttIttttttttttttttlttttttttttttttttttt
2291 003134 000004 TST3: SCOPE

2292 003136 012737 000003 001102 MOV #3,8TSTNR ; LOAD THE NO. OF TH1S TEST
2293 003144 012737 000003 001262 MOV #3,TSTNUM ;# FOR TYPE OUT

2294 003152 104417 101$: LRESET

2295 003154 012737 000013 001240 MOV #PRI13,REGIST JSAVE THE REGISTER FOR TYPE OUT
2296 003162 104420 000013 READ PRI3 :READ PRJ13

2297 003166 012637 001202 MOV (SP)+,$TMP(Q ::POP STACK INTO $TMPO

2298 003172 012737 000020 001204 MOV #20,8TMP1 JPUT “EXPECTED'' IN $TMPI
2299 003200 023737 001202 001204 (MpP $TMPO,STHPI ; COMPARE RESULTS

2300 003206 001403 BEQ TST4 32

2301 003210 104001 ERROR 1 JERROR IN PRII3

2302 003212 000137 003152 JMP 1018 ;LOOP ON ERROR

s

2305 Jannennnnenrneseenenennnnann TEST 4 ananneneavacnnvanannnenanns
23058 s*«LINE CONTROL REGISTER TEST

2307 ;*D0 A LINE CLEAR, VERIFY THAT ALL

2308 ;«BITS ARE IN THE CORRECT STATE OF REGISTER PRI14

2309 PR e I I T P e T P T T e e
2310

gg}; ; TEST &

2313 ;;tttttt'tttttttttttttttttttttttttttittttttttttttttttttttttttttttt
2314 003216 000004 T$T4:  SCOPE

2315 003220 012737 000006 001102 MOV #6,STSTNM ; LOAD THE NO. OF THIS TEST
2316 003226 012737 000004 001262 MOV #6,TSTNUM ;# FOR TYPE OUT

2317 003234 104417 1018: LRESET

2318 003236 012737 0000146 001240 MOV #PRI14 REGISY JSAVE THE REGISTER FOR TYPE QuUT
2319 003244 104420 000014 READ LPRIG sREAD PRI4

2320 003250 012637 001202 MOV (SP)+ ,$THPO ;:POP STACK INTO STMPO

2321 003254 005037 001204 (LR S$TMP1 sPUT “EXPECTED'' IN $TMP1

2322 003260 023737 001202 001204 (MP STMPO,$THP1 ; COMPARE RESULTS

2323 003266 001403 BEQ ISTS 13

2324 003270 104001 ERROR 1 JERROR IN PRI4

Sggg 003272 000137 003234 JMP 101$ ;LOOP ON ERROR

2327
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PRELIMINARY PRIMARY REGISTER READ TESTS

seannaenanstneteesenenennans TEST § eevennesnsencenasetentteeee
. *TRANSMIT STATUS MX REGISTER TEST

;*D0 A MASTER CLEAR, VERIFY THAT ALL

;*BITS ARE IN THE CORRECT STATE OF REGISTER PRI16

;:ttt.ttttﬁtl"t"'t.l!lﬁtt.li't.ttttii.....i.t.iﬁ'..tt'i'it"t

;:tttQtti::::::::::z:::tttttttttttttttttttttttttttﬁttttttt!t't.'t
TST5:  SCOPE
Mov #5,8TSTNM ; LOAD THE NO. OF THIS TEST
MoV #5,TSTNUM ;# FOR TYPE OUT
101$:  RESET ;CLEAR THE WORLD
JSR PC,aN#STKINT ;INITIAL TTY INPUT

CLR RO
108: INCB RO
BNE 108
CLR (R4) JINITIALIZE THE CSR REGISTERS
CLR 2(R4) : .
CLR 4 (RG) H oo
CLR 6(R4) : oo
1028: MOV #PRI16,REGIST  ;SAVE THE REGISTER FOR TYPE OUT
READ PRI16 :READ PRI16

MOV (SP)+,$TMPO ::POP STACK INTO $TMPO

MOV #377.,$TMP1 SPUT "EXPECTED'' IN STMP1
JSR PC, .MASK :CALCULATE THE MASK

BIC MASK, STMPO ‘MASK OUT LINES NOT INUSE

BIC MASK . STMP1 TMASK OUT LINES NOT IN USE

CMP $TMP), $TMP1 ; COMPARE RESULTS

BEQ TST6 HH
ERROR 1 ;ERROR IN_ PRI
JMP 1018 ;LOOP ON ERROR

chenranknannkseeteennanannnn TEST § suvonannnnvnnnntnennvdnttns

s*RECEIVE SIATUS MX REGISTER TEST
;%D0 A MASTER CLEAR, VERIFY THAT ALL
;*BITS ARE IN THE CORRECT STATE OF REGISTER PRI17

::tt**t*ttttttttittttiiitt*tttttttttttttttttttttttttt!*tttﬁt't*

TST6:  SCOPE
MOV #6,3TSTNM
MOV #6, TSTNUM
101$:  RESET

: LOAD TKE NO. OF THIS TEST
:# FOR TYPE OUT
:CLEAR THE WORLD

JSR PC,a#STKINT ;INITIAL TTY INPUT
CLR RO
10%: INCB RO
BNE 108
CLR (R4) JINITIALIZE THE CSR REGISTERS
CLR 2(Ré&) H cos
CLR 4(R&) : ces
CLR 6(R4)

1028: MOV #PRI17.REGIST  SAVE THE REGISTER FOR TYPE OUT

SEQ 0052
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PRELIMINARY PRIMARY REGISTER READ TESTS

READ
MOV
CLR
JSR
8IC
BIC
CMP
BEQ
ERROR
JMP

PRIN?
(SP)+,$TMPO
$TMP1

PC,.MASK
MASK, STMPO
MASK  $TMP1
$TMPO, STMP1
1ST7

1018

-—h

:READ PRI7
;:POP STACK INTO $TMPO
“PUT "EXPECTED'* IN $TMP1
:CALCULATE THE MASK
SMASK OUT LINES NOT INUSE
:MASK OUT LINES NOT IN USE
; COMPARE RESULTS

‘ERROR IN PRI17
*LOOP ON ERROR

SEQ 0053
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003560
003562
003570
003576
003604
003612
003614
003616

003702

003704

20-0CT-81 17:03

104002
000137

006237
001346
000400

OO0
OQ=bdad —d =
HS oGO
SO NNNNO
= O WWNWWO
SBNNNNS

000007
000007
000011
000200

000011

000011
001202
003622
000217
000217
001202

003614
003622

000010
000010
000012
000200

001102
001262
001240
003622

001204
001202
001204
001204

001102
001262
001240
003746

C
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FLOATING ONE TEST OF PRIMARY REGISTER 11,12,13

.SBTTL FLOATING ONE TEST OF PRIMARY REGISTER 11,12.13

seannnnnnRRRsasneacennnnnnnt TEST 7 annsencncnseesstnantectenes
:*PRIMARY REGISTER WRITE/READ TEST

;*FLOAT A 1 THROUGH PRI11

;*THE FOLLOWING BITS ARE _NOT TESTED

;* **<BITO!BIT1!BITZ!BIT3!BIT?>%x

SINAARANRRRANEA RN ANAAAANACRARARAAAAAAAAARAAAAAANRARAORAACEARRNRSY

: ..............
COAARANANAARAANRANANAAAARARRANRANNANARAAARAANRA RGN AC AR AN NSNS

7ST7:  SCOPE

MOV #7,8TSTNM ; LOAD THE NO. OF THIS TEST
MOV #7,TSTNUM ;# FOR TYPE OUT
MOV #PRI1T REGIST  ;SAVE REGISTER FOR TYPE QUT
MOV #8177,66% :START WITH BIT 7
SCOPE
Ag;i: MSTCLR
WRITE ,PRIT JWRITE DATA INTO PRI
66S$: 0 :DATA
READ PRI :READ PRI
MOV (SP)+,$TMPO J2POP STACK INTO $STMPO
MOV 663,8$TMP1 :PUT EXPECTED INTO STMPI
BIC #8ITO'BIT1!BIT2'BITI!'BIT7.,$TMPO ;JCLEAR DON'T CARE
BIlC #8ITO!BIT1!8IT2!BIT3!BIT7,$TMP] ;CLEAR UNWANTED BITS
CMPB $TMPO,STMP1 :DATA CORRECT?
BEQ 65% :BR IF YES
ERROR 2 JFLOATING ONE'S ERROR OF PRI
658 JMP 1018 ;LOOP ON ERROR
ASR 66$ JSHIFT BIT IN 663
BNE 648 J1F 66%=0 THEN DONE
BR TST10 -

JRRARRAANRARRRARAARANRAARRnt TEST J0) tvennvannrnavavavanavneevene
s*PRIMARY REGISTER WRITE/READ TEST

:*FLOAT A 1 THROUGH PRI12

s*THE FOLLOWING BITS ARE_NOT TESTED

;% *x<BITO!BIT1!BIT2!BIT3>%»

SINRRRARRAAARA RN A C AN RNANNRANANANAANACANNENRAANARANAARCAARRARAOAND
: TEST 10

[ ]
A AR 22822 3R 00202 232222022 2202322233232 323223282222

TST10: SCOPE

MOV #10,STSTNM : LOAD THE NO. OF THIS TEST
MOV #10,TSTNUM :# FOR TYPE OUT

MoV #PRI12,REGIST  ;SAVE REGISTER FOR TYPE OUT

g?gpf #B81T7,66% sSTART WITH BIT 7

101$:  MSTCLR

SEQ 0054
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000012
000012
001202
003746
000017
000017
001202
003740

003746

000011
000011
001256

000013
000200

000013
000013

000020
001202

004072
004100

001204
001202
001204
001204

001240
004100

001204
001204
001204
001204

FLOATING ONE TEST OF PRIMARY REGISTER 11,12,13

WRITE  ,PRI12 ;WRITE DATA INTO PRI12
668: 0 SDATA

READ  ,PRI12 ‘READ PRI12

MOV (SP) +,$TMPO ::POP STACK INTO $TMPO

MOV 66$,$TMP1 :PUT EXPECTED INTO $TMP1

BIC #8ITO'BITY!BIT2!BIT3,$TMPO

;CLEAR DON'T CARE
BIC #BITO!8IT1!BIT2!BITS,$TMP]

sCLEAR UNWANTED BITS

CMPB $TMPO,$TMP1 :DATA CORRECT?

BEQ 658 :BR _IF vEs

ERROR 2 sFLOATING ONE'S ERROR OF PRI12
653 JMP 1018 :LOOP ON ERROR

ASR 66$ sSHIFT BIT IN 663

BNE 648 ;IF 66%=0 THEN DONE

BR TST11 2

JRRARRARRAnkanneenteennnnanrt TEST 17 snnvanensnnvenanannnannenes

;*PRIMARY REGISTER WRITE/READ TEST

;*FLOAT A 1 THROUGH PRI13

;*THE FOLLOWING ARE READ ONLY BITS

;% »*<BITO!'BIT1!BIN2!BITI!BIT4!BIT6!BIT7 >+

;*AND SHOULD BE READ AS 2ERO

JINRANRARRRAAN RO R A AN ARNRARRAR KRN RRA AN A AN NN RN RN RNAANA RS

: TEST N
;;tttQtt;tttttttttttttttttttttttttttttttttttttttttttttttttttttttt
TST11:  SCOPE

MOV #11,STSTNM : LOAD THE NO. OF THIS TEST

MOV #11_TSTNUM :# FOR TYPE OUT

TSTB  CRCS2F : CRC32 ENABLED?

BPL TST12 4

MOV #PRI13 ,REGIST  ;SAVE REGISTER FOR TYPE QUT

MOV #MIT7,66% ;START WITH BIT 7

SCOPE
gg}i: MSTCLR

WRITE  ,PRI13 JWRITE DATA INTO PRI3
66$: 0 ;DATA

READ PRI3 SREAD PRI13

MOV (SP)+,$TMPO ;.POP STACK INTO STMP(

MOV 663 ,8TMP1 ;PUT EXPECTED INTO_STMP1

BIC #BITO!BIT1!BIT2!BIT3!BIT4!BIT6!BIT7,STMPY

BIS #TBMT,$TMP] . TBMT SHOULD BE SET

CMP8 $TMPO,$TMP1 :DATA CORRECT?

BEQ 658 :BR IF YES

ERROR 2 sFLOATING ONE'S ERROR OF PRI13
653 JMP 1018 :LOOP ON ERROR

ASR 66$ sSHIFT BIT IN 66%

BNE 643 :IF 66%=0 THEN DONE

BR TST12 i

JNRNARRARRARRAsanaRnastnant TEST 12 wsanennssannsnananvennnnnne

SEQ 0055

sCLEAR ALL READ ONLY BIT
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FLOATING ONE TEST OF PRIMARY REGISTER 11,12,13

s*PRIMARY REGISTER WRITE/READ TEST
s*FLOAT A 1 THROUGH PRI14

¢*THE FOLLOWING ARE READ ONLY BITS
;v ««CBIT1!BIT2> e

s*AND SHOULD BE READ AS ZERO

CiRARANRRAARA R A EERRRAAANACANPRANRNARNANNARANAARAACANAANARENANOAARONS

;s TEST 12
::tiiﬁﬁ*;.itiiﬁﬁitttﬁt*tit"iit*i.iiii.ttt'i*it....ii..*.f'*t*'.ﬁ
TST12: SCOPE

MOV #12,8TSTNM : LOAD THE NO. OF THIS TEST

MOV #12,TSTNUM ;# FOR TYPE OUT

MOV #PRI14 ,REGIST JSAVE REGISTER FOR TYPE OUT

MOV #8IT7,66$% ;START WITH BIT 7

SCOPE
1018: MSTCLR
648:

WRITE LPRING ;WRITE DATA INTO PRI
668%: 0 :DATA

READ PRI JREAD PRI14

MOV (SP)+,$TMPO ;;POP STACK INTO $TMPO

MOV 66%,$TMP1 JPUT EXPECTED INTO $TMP1

BIC #BIT1!BITZ,.$TMPI JCLEAR ALL READ ONLY BITS

TSTB CRC32F : CRC32 ENABLED?

BM] 1108 : SKIP IF YES

BIC #BIT3,$TMPO : CLEAR CRC32 EN.

1108 BIC #BIT3, STMPT

CMPB $TMPO,STMPI :DATA CORRECT?

BEQ 65% ;BR IF YES

ERROR 2 sFLOATING ONE'S ERROR OF PRI14
655 JMP 101$% ;LOOP ON ERROR

ASR 668 JSHIFT BIT IN 66%

BNE 643 ;IF 66%=0 THEN DONE

B8R TST13 ::

SEQ 0056
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PRELIMINARY SECONDARY REGISTER READ ONLY TEST

.SBTTL PRELIMINARY SECONDARY REGISTER READ ONLY TEST

Juennnnnnnntrttetntenennantt TEST 13 necnesnnaenetontvettenanney

s*RECEIVE DATA BUFFER SECONDARY READ TEST
;*DOES A LINE RESET
; *READS SECONDARY REGISTER SECO

IR AR AT E AR ANRRA AN RANR AR EARRRA T EA RO R AR
; TEST 13

[ 4
P ARARAAA RN AAARAIAAAA RN RANRARAARARNAAAANAAREAE RO AN ENTSY

TST13: SCOPE

MOV #13,8$TSTNM ¢ LOAD THE NO. OF THIS TEST
MOV #13,TSTNUM :# FOR TYPE OUT
18: LRESET
MOV #SECO,REGIST :SAVE REGISTER FOR TYP OUT
READ .SECO +READ SECONDARY DATA
MOV (SP)+,$TMPO :;POP STACK INTO $TMPQ
MOV #0,$TMP1 sLOAD EXPECTED INTO $TMP1
CMP $TMPO,$TMPI + COMPARE RESULTS

BEQ TST14 3
ERROR 3 :READ ERROR OF SECO
JMP 18 ;LOOP ON ERROR

JRAARRRARARNNRARCRERRRARARRRERE TEST 14 woanvnnnncnnvantnsanvnnsenne
s*RECIEVE STATUS SECONDARY READ TEST
s*READS SECONDARY REGISTER SEC1

SIRARARNARARAARAAALAAAAAAARAAAANAARAAAAAANRARRAAARRANAAAAACASRRENR

: TEST 14

L4
RN RAAA AN RE AR AN AN ANAARAANRAARANRRA RN ANEN IR ANCARO NS

TST14: SCOPE
MOV #14,$TSTNM : LOAD THE NO. OF THIS TEST
:# FOR TYPE OUT

MOV #14,TSTNUM
18: LRESET
MOV #SECT1.REGIST sSAVE RE-ISTER FOR TYP OUT
READ .SECT +READ SECONDARY DATA
MOV (SP)+,$TMPO :;POP STACK INTO $TMPO
MOV #0_.$TMP1 sLOAD EXPECTED INTO $TMP1
CMP $TMPO,STMPY s COMPARE RESULTS

BEQ TST1S H
ERROR 3 ;READ ERROR OF SEC1
JMP 18 :LOOP ON ERROR

Jannnnrsasnnenenrerannnenntet TEST 15 annscnnnnnannnsnnnnnnannnnns

s*TRANSMIT DATA BUFFER SECONDARY READ TEST
s *READS SECONDARY REGISTER SEC(Z

e tRNAARNRARNANE RN AR AN RN NAARARANRNRNNRANNRARARRAAARANANNRA AN RARY

: TEST 15

[ J
s s RARNERRANANARARRANARE A VA NAERRAARARANENARNAREANANSACAARRAAERARARRE

SEQ 0057
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000017

000004

000000
001202

PR
TS

75
001102
001262

001240

18:

001204
001202
001204

78
00110¢
001262

001240

1%:

001204
001204

6
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ELIMINARY SECONDARY REGISTER READ ONLY TEST
T15: SCOPE

MOvY #15,8TSTNM > LOAD THE NO. OF THIS TEST

EggSET #15 TSTNUM ;¥ FOR TYPE OUT

MOV #SECZ REGIST ;SAVE REGISTER FOR TYP QUT

READ .SEC2 JREAD SECONDARY DATA

MOV (SP)* $TMPO ::POP STACK INTO $TMPO

MOV #0, $TMP1 sLOAD EXPECTED INTO $TMP1

CMP $THPO $TMP1 ;COMPARE RESULTS

BEQ IST16 0l

ERROR 3 ;READ ERROR OF SE(?2

JMP 18 ;LOOP ON ERROR

JRRARRRRRnkkarettennannnannt TEST 16 tennanancannennenennvsnnnen

J*TRANSMIT STATUS SECONDARY READ TEST

J*READS SECONDARY REGISTER SEC3

;*THE FOLLOWING BIT{(S) ARE NOT CHECKED

:* *x CBITO!BITS!BITS> o«

IR AN RN A AR AR A AR AN AR NN AN N RN RN AR AR CN AR AN AN RN RN AR

s TEST 16
tttttttttttttttttttttttttttttttttttttttt*ttttttﬁttttﬁttttt'tttt
T16: SCOPE

MOV #16,8TSTNM H LOAD THE NO. OF THIS TEST

Tg¥SET #16,TSTNUM :# FOR TYPE OUT

MOV #SEC3,REGIST ;SAVE REGISTER FOR TYP 0OUT

READ .SEC3 JREAD SECONDARY DATA

MOV (SP)+ $TMPO ::POP STACK INTO $TMPO

MOV 20, STHP1 ; LOAD EXPECTED INTO STMP1

BIC #BIT6!BITS!BIT4,$TMPO  ;MASK DON'T CARE BITS

CMP STMPO $TMP1 :COHPARE RESULTS

BEQ TST17 -

ERROR 3 :READ ERROR OF SEC3

JMP 18 ;LOOP ON ERROR

JARRRRARRAARARRACRaRandandnt TEST 17 wnnsntnnnsvnasannanstneennny

;*SYNC SECONDARY ADDRESS SECONDARY READ TEST

s *READS SECONDARY REGISTER SEC4

JINRANAA AR AR AN AR RN R AN N RN AN AN IA RN RN AR AN R NN R NN NN RN AR

; TEST 17
ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
T17: SCOPE

MOV #17,$TSTNM ;s LOAD THE NO. OF THIS TESTY

EggSET #17,TSTNUM & FOR TYPE OUT

MOV #SECL ,REGIST :SAVE REGISTER FOR TYP QUT

READ SEC4 sREAD SECONDARY DATA

MOV (SP)+ $TMPO :sPOP STACK INTO $TMPO

MOV #0, $TMP1 sLOAD EXPECTED INTO $TMP1

CMP $TMPO,$THP1 s COMPARE RESULTS

SEQ 0058




H
CZKMDAO DMS11-DA STATIC MACY11 30A(1052) 21-0CT-81 09:21 PAGE 59
CZKMOA.P11 20-0CT-81 17:03 PRELIMINARY SECONDARY REGISTER READ ONLY TEST SEQ 0059
2655 004772 001403 BEQ 1ST20 M
2656 004714 104003 ERROR 3 sREAD ERROR OF SEC4
2657 G04716 000137 004656 JMP 18 ;LOOP ON ERROR
5629
2660 JRARANANAARARRERRORROERNAeens TEST S0 RutaddrRARERNNRNRRNRRCRANNAY
2661 *HODE CONTROL SECONDARY READ TEST
2662 :*READS SECONDARY REGISTER SECS
2663 ; XTI I I I I e I P e R R R e R R R X R 2 R R R R R e 22222 L
2664
5222 : TEST 20
2667 : tt"tattttt"tttttttttttttntttttttutttttttttntttttttttwt\nttt
2668 004722 000004 TST20: SCOPE
2669 004724 012737 000020 001102 MOV #20,$TSTNM ; LOAD THE NO. OF THIS TEST
2670 004732 012737 000020 001262 MOV #20,TSTNUM :# FOR TYPE OUT
2671 0047240 104417 1$: LRESET
2672 004742 012737 000005 001240 MOV #SECS5,REGIST sSAVE REGISTER FOR TYP OUT
2673 004750 104420 000005 READ .SECS JREAD SECONDARY DATA
2676 004754 012637 001202 MOV (SP)+ ,S$TMPO ;:POP STACK INTO $TMPQ
2675 004760 012737 000000 001204 MoV #0,$TMPI sLOAD EXPECTED INTO $STMP1
2676 004766 023737 001202 001204 CMP $TMPO,STMP1 ;COMPARE RESULTS
2677 004774 001403 BEQ TST21 H
2678 004776 104003 ERROR 3 sREAD ERROR OF SECS
gggg 005000 000137 004740 JMP 18 :LOOP ON ERROR
2681
2682 IRRRAANNANRANRRRNNRRRRNRERN® TEST 27 sunnananannennsansstaeratnns
2683 s%CHARACTER LENGTH SECONDARY READ TEST
2684 s *READS SECONDARY REGISTER SEC?7
Zbgg P RARAAR AR AR AR R AR R A NRR AN AN RN A RN AN NRRANRR AR AARANOARA AR AN ARR
26
2687 ; TEST 21
2688 :
2689 '.tttttttttttttﬁtttttttttttttttttttttttttttttttttttttttttttttttt'
2690 005004 060004 TST21: SCOPE
2691 005006 012737 000021 001102 MOV #21,8TSTNM ; LOAD THE NO. OF THIS TEST
2692 005016 012737 000021 001262 MOV #21,TSTNUM ;# FOR TYPE 0OUT
2693 005022 104417 1$: LRESET
2694 005024 012737 000007 001240 MOV #SEC7 ,REGIST ;SAVE REGISTER FOR TYP QUT
2695 005032 104420 000007 READ LSEC? JREAD SECONDARY DATA
2696 005036 012637 001202 MOV (SP)+,$TMPO ;:POP STACK INTO $TMPO
2697 005042 012737 000000 001204 MOV #0,3TMP1 ;LOAD EXPECTED INTO $TMP1
2698 005050 023737 001202 001204 CMP $TMPO,$TMP1 : COMPARE RESULTS
2699 005056 001403 BEQ 18722 HH
2700 005060 104003 ERROR 3 JREAD ERROR OF SEC7

2701 005062 000137 005022 JMP 1$ :LOOP ON ERROR




I
CZKMDAO DMS11-DA STATIC MACY11 30A(1052) 21-0CT-81 09:21 PAGE 60

CZKMDA.P11 20-0CT-81 17:03 RECEIVE STATUS REGISTER WRITE TEST SEQ 0060
2702 .SBTTL RECEIVE STATUS REGISTER WRITE TEST
£704
2705 INNRARRRAPRARRAREARRENNns h TEST 22 sansevnentatdtntbdtdttdanns
2706 *RECEIVE STATUS REGISTER SECONDARY) BIT TEST
2707 *THIS TEST DOES A WRITE .) THE READ ONLY BITS
2708 ;t tt RSOM o«
2709 s*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN
2710 R et
27’1
%;}% : TEST 22
2714 ,.ttttttttttttttttttttttttttttttttttt-ttttttttttttttttttttttttttt
2715 005066 000004 TST22: SCOPE
2716 005070 012737 000022 001102 MOV #22,8TSTNM ; LOAD THE NO. OF THIS TEST
2717 005076 012737 000022 001262 MOV #22,TSTNUM :# FOR TYPE QUT
2718 005104 104417 1%: LRESET
2719 005106 104416 000001 000001 WRITE .SECT,RSOM JWRITE THE READ ONLY BIT RSOM
2720 005114 012737 000001 001240 MOV #SECT1,REGIST ;SAVE REGISTER FOR TYP OUT
2721 005122 104420 000001 READ ,SECT
2722 005126 012637 001202 MOV (SP)+ ,$TMPQ J:POP STACK INTC $TMPO
2723 005132 042737 177776 001202 BIC #~C<RSOM>,$TMPO ;CLEAR UNWANTED B]TS
2726 005140 005037 001204 CLR $TMPI JLOAD EXPECTED INTO $TMP1
2725 005144 023737 001202 001204 CMP $TMPO,STMP1 JTEST IF SET
2726 005152 001403 8EQ TST23 HH
2727 005154 104004 ERROR 4 sERROR RSOM CAN BE WRITTEN
2728 005156 000137 005104 JMP 1$ ;LOOP ON ERROR
5753
2731 JRRARARANRAARARARArannnatnnt TEST 23 twananannnnnnnonanenennvnnes
2732 ;*RECEIVE STATUS REGISTER (SECONDARY) BIT TEST
2733 ;*THIS TEST DOES A WRITE TO THE READ ONLY BITS
2734 % wt REOM 2
2735 ;*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN
2736 R IR L T L L T T T T T e T
2737
%;gg : TEST &3
2740 ..t:tttttttttttttttttttttttttttttttttttttttttttttﬁttttttttttttttt
2741 005162 000004 TST23: SCOPE
2742 005164 012737 000023 001102 MOV #23,8TSTNM ; LOAD THE NO. CF THIS TEST
2743 005172 012737 000023 001262 MOV #23,TSTNUM s# FOR TYPE OUT
2744 005200 104417 18: LRESET
27645 005202 106416 000001 000002 WRITE  ,SECT1,REOM JWRITE THE READ ONLY BIT REOM
2746 005210 012737 000001 001240 MOV #SECT ,REGIST ;SAVE REGISTER FOR TYP OUT
27647 005216 104420 000001 READ LSECT
2748 005222 012637 001202 MOV (SP)+ ,$THPQ ;:POP STACK INTO $STMPO
2749 005226 042737 177775 001202 8I( #*C<REOM>,$TMPO ,;CLEAR UNWANTED BITS
2750 005234 005037 001204 CLR $TMP1 sLOAD EXPECTED INTO STMPI
2751 005240 023737 001202 001204 CMP $TMPO,STMPI TEST IF SET
2752 005246 001403 BEQ TST24
2753 005250 104004 ERROR & ERROR REOM CAN BE WRITTEN
g;gﬁ 005252 000137 005200 JMP 1$ :LOOP ON ERROR
J
2756

2757 Janknanansenantseneenranannnt TEST 24 necantnnnnssnansaansanseany




J
CZKMDAO DMS11-DA STATIC MACY11 30A€1052) 21-0CT-81 09:21 PAGE 61

CZKMDA.PT 20-0CT7-81 17:03 RECEIVE STATUS REGISTER WRITE TEST SEQ 0061
2758 J*RECEIVE STATUS REGISTER (SECONDARY) BIT TEST
2759 s*THIS TEST DOES A WRITE TO THE READ ONLY BITS
2760 Jn an RXGA *w
2761 :*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN
2762 R A L e T e e e T R e e e T
2763
%;gg . TEST 24
2766 '.tttttttttttttttttttttttttttttttnttttttttttttttttttttt'ttttttt?t
2767 005256 000004 TST24: SCOPE
2768 005260 012737 000024 001102 MOV #24,8TSTNM s LOAD THE NO. OF THIS TEST
2769 005266 012737 000024 001262 MOV #24 ,TSTNUM :# FOR TYPE OUT
2770 005274 104417 1$: LRESET
2771 005276 104416 000001 000004 WRITE ,SECT,RXGA JWRITE THE READ ONLY BIT RXGA
2772 005304 012737 000001 001240 MOV #SECT ,REGIST sSAVE REGISTER FOR TYP OUT
2773 005312 104420 000001 READ LSEC1
2774 005316 012637 001202 MOV (SP)+,$TMPO ;:POP STACK INTO $TMPO
2775 005322 042737 177773 001202 B8IC #*C<RXGA>,$TMPO ;CLEAR UNWANTED BITS
2776 005330 005037 001204 (LR $TMP1 ;LOAD EXPECTED INTO $TMP1
2777 005334 023737 001202 001204 CMP $TMPO,S$TMP1 JTEST IF SET
2778 005342 001403 B8EQ TST2S cs
2779 005344 104004 ERROR 4 ;ERROR RXGA CAN BE WRITTEN
2780 005346 000137 005274 JMP 18 sLOOP ON ERROR
il
2783 INRARREAARANNEARRR AR anAnantt TEST 25 sannnnndnnnnannnavsantnnens
2784 s*RECEIVE STATUS REGISTER (SECONDARY) BIT TEST
2785 sTHIS TEST DOES A WRITE TO THE READ ONLY BITS
2786 ;% %= ROR %
2787 s*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN
2788 R R e e e e T e L R e e T T e
2789
g;g? ; TEST 25
2792 '.tﬁttttttttttttttttttttttttttttitttttttttttttttttttttttttttttttt
2793 005352 000004 TST25: SCOPE
2794 005354 012737 000025 001102 MOV #25,8TSTNM ;. LOAD THE NO. OF THIS TEST
2795 005362 012737 000025 001262 MOV #25,TSTNUM :# FOR TYPE OUT
2796 005370 104417 18: LRESET
2797 005372 104416 000001 000010 WRITE .SEC1,ROR JWRITE THE READ ONLY BIT ROR
2798 005400 012737 000001 001240 MOV #SEC1 ,REGIST sSAVE REGISTER FOR TYP QUT
2799 005406 104420 000001 READ .SEC1
2800 005412 012637 001202 MOV (SP)+,$TMP0O J:POP STACK INTO $TMPO
2801 005416 042737 177767 001202 B8IC #2C<ROR>,$TMPQO :CLEAR UNWANTED BITS
2802 005424 005037 001204 (LR $TMP1 JLOAD EXPECTED INTO $TMP1
2803 005430 023737 001202 001204 CMP $TMPO,STMP1 JTEST IF SEY
2804 005436 001403 BEQ TST26 H
2805 005440 104004 ERROR 4 JERROR ROR CAN BE WRITTEN
2806 005442 000137 005370 JMP 1$ :LOOP ON ERROR
2
2809 JRRRRAARRANCRRNREARANRRRNARt TEST 26 avannnnnnnennvavesrsnsnsnsn
2810 *RECEIVE STATUS REGISTER (SECONDARY) BIT TEST
2811 tTHIS TEST DOES A WRITE TO THE READ ONLY BITS

2812 ;v wx AB(A *¢
2813 s*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN




CZKMDAO DMS11-DA STATI(
CZKMDA.P

2814
2815
2816
2817
2818
2819
2820
2821

1

005446
005450
0056456
005464
005466
005474
005502

005536

005542
005544

20-0C7-81

023737
001403
104004
000137

000137

MACY11 30A(1052)

17:03

000026
000025

000001
000001
000001
001202
177757
001204
001202

005464

000027
000027

000001

001204
001202

005560

s OO

00 OO
oo OO
[BY = J— gy
O -
OO Mo

001202
001204

001102
001262

000040
001240
001202
001204

21-0CT-81

K
09:21 PAGE 62

RECEIVE STATUS REGISTER WRITE TEST

LA AR AL AL A AAAAAAARRR AL ARt stidiiaitidiiiadiiiidladsdiidld

; TEST 26

ttﬁ'ttﬁttttttttttttttt.it'ttttttttttttttttittttttit.ttt"ﬁttttt

s LOAD THE NO. OF THIS TEST
:# FOR TYPE OUT

sWRITE THE READ ONLY BIT ABCA
:SAVE REGISTER FOR TYP OUT

:;POP_STACK INTO $TMPO
sCLEAR UNWANTED BITS
sLOAD EXPECTED INTO $TMPI
;TEST IF SET

*ERROR ABCA CAN BE WRITTEN
*LOOP ON ERROR

JNRRNANANRNANCENCRARNRRRAARY TEST 27 AAanaadtaanaaennastasaantnan

c*RECEIVE STATUS REGISTER (SECONDARY) BIT TEST
s*THIS TEST DOES A WRITE TO THE READ ONLY BITS

s *AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN

S IANNRARANANAS RN R R A RARRANANANARNRRARRA A AN AT AN AR AR AN AR AN

tttttttttttttttttttttttttti*ttttt*t*tttti*tttﬁttﬁt*tttt**ﬂttttt

TST26 SCOPE
MOV #26,$TSTNM
MOV #26,TSTNUM
18: LRESET
WRITE  ,SEC1,ABCA
MOV #SEC1 REGIST
READ ,SECT
MOV (SPj+,$TMPQ
8IC #*C<ABCA>,$TMPO
CLR $TMP1
CMP $TMPO, $TMPI
BEQ 15127
ERROR &
JMP 1$
Jx s AB(B v
; TEST 27
TSTZ? SCOPE
MOV #27 ,$TSTNM
MOV #27,TSTNUM
1$: LRESET
WRITE ,SEC1,AB(B
MOV #SECT REGIST
READ .SECT
MOV (SP) +,$TMPO
BIC #2C<AB(B>,$TMPO
CLR $TMP1
CMP $TMP(O,$TMPI
BEQ TST30
ERROR 4
JMP 18

; LOAD THE NO. OF THIS TEST
;# FOR TYPE OUT

+WRITE THE READ ONLY BIT AB(B
:SAVE REGISTER FOR TYP OUT

+:POP STACK INTO $STMPO
sCLEAR UNWANTED BITS
;LOAD EXPECTED INTO $TMP1
sTEST IF SET

*ERROR ABCB CAN BE WRITTEN
*LOOP ON ERROR

Juannknanenscnecesenennnntnt TEST 30 wensnnannnsnannnnnnnnannsnnn

-RECEIVE STATUS REGISTER (SECONDARY) BIT TEST
;«THIS TEST DOES A WRITE TO THE READ ONLY BITS

;t % ABCC ww
+s*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN

s IR ARARAARNRARA AU AANRAARARARAARNRARA AR AAAARARENRCACARARRRNNS

. TEST 30

SEQ 0062




L
CIKMDAC DMS11-DA STATIC MACY11 30A(1052) 21-0CT-81 09:21 PAGE 63

1
CZKMDA.P11 20-0CT-81 17:03 RECEIVE STATUS REGISTER WRITE TEST SEQ 0063
2870 T N Iy
2871 005636 000004 TIST30: SCOPE
2872 005640 012737 000030 001102 MOV #30,8TSTNM ; LOAD THE NO. OF THIS TEST
2873 005646 012737 000030 001262 MOV #30,TSTNUM :# FOR TYPE OUT
2874 005654 104417 18: LRESET
2875 005656 104416 000001 000100 WRITE ,SEC1,ABCC sWRITE THE READ ONLY BIT ABCC
2876 005664 012737 000001 001240 Moy #SECT1,REG]IST JSAVE REGISTER FOR TYP OUT
2877 005672 104420 000001 READ LSEC1
2878 005676 0129%; 001202 MOV (SP)+ ,$THPQ ;:POP STACK INTO $TMPO
7

2879 005702 042 177677 001202 8IC #*C<ABCC>,$TMPO ;CLEAR UNWANTED BITS

2880 005710 005037 001204 CLR $TMP1 sLOAD EXPECTED INTO $TMP1

2881 005714 023737 001202 001204 (MP $TMP(O,STHP1 JTEST IF SET

2882 005722 001403 BEQ TST31 32

2883 005726 104004 ERROR & ¢ERROR ABCC CAN BE WRITTEN

2884 005726 000137 005654 JMP 18 ;LOOP ON ERROR

s

2887 Jrknknnnsasntevenevesanasntt TEST J] avnvdvnnevavtnnnavtnenettns
2888 ;s*RECEIVE STATUS REGISTER (SECONDARY) BIT TEST

2889 :*THIS TEST DOES A WRITE TO THE READ ONLY BITS

2890 ;% wx ERRCK ¢

2891 J*AND THEN CHECKS TO MAKE SURE IT WAS NOT WRITTEN

289% PR AN RN AN T RO RN R AN RAN RN R AR AN A AR AN A RN RN A AR AR AA N RR RN RNRAS
289

%ggg ; TEST N

2896 :;tttttt;tttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2897 005732 000004 TST31: SCOPE

2898 005734 0i2737 000031 001102 MoV #31,8TSTNA ;s LOAD THE NO. OF THIS TEST
2899 005742 012737 000031 001262 MoV #31,TSTNUM :# FOR TYPE OUT

2900 005750 104417 18: LRESET

2901 005752 104416 000001 000200 WRITE .SECT1,ERRCK JWRITE THE READ ONLY BIT ERRCK

2902 005760 012737 000001 001240 MoV #SEC1,REGIST :SAVE REGISTER FOR TYP QuT

2903 005766 104420 000001 READ .SECY

2904 005772 012637 001202 MOV (SP)+_$TMPO J:POP STACK INTO $STMPO

2905 005776 042737 177577 001202 8IC #*C<ERRCK>,S$TMPO : CLEAR UNWANTED BITS

2906 006004 005037 001204 CLR $TMP1 sLOAD EXPECTED INTO $TMP1

2907 006010 023737 001202 001204 CMP $TMPO.STHPI JTEST IF SET

2908 006016 001403 BEQ TST32 3

2909 006020 104004 ERROR & JERROR ERRCK CAN BE WRITTEN

2910 006022 000137 G05750 JMP 1$ :LOOP ON ERROR




n
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CZKMDA.PI 20-0(T-81 17:03 TRANSMIT DATA BUFFER REGISTER FLOATING ONE'S TEST SEQ 0064
53}5 .SBTTL TRANSMIT DATA BUFFER REGISTER FLOATING ONE'S TESY
2913
2914 Jennannnennneneteenenennneans TEST 32 csenenncccnnennsesttnnsnnees
2915 ;*TRANSMIT DATA REGISTER (SECONDARY)
2916 :*INCREMENT ONE'S TEST
2917 ;:ttttittttttttttttttttttttttttttttttttttttttt'ttt.tt.tttttttttt
2918
%g;g . TEST 32
2921 ..ttttttttttttttttttttttttittttttttttttttttttttttttttttttt'tttttt
2922 006026 000004 TST132: SCOPE
2923 006030 012737 000032 001102 MOV #32,8TSTNM ; LOAD THE NO. OF THIS TEST
2924 006036 012737 000032 001262 MOV #32, TSTNUM ;# FOR TYPE 0OUT
2925 006044 012737 000002 006070 MOV #81T71,65% JSTART WITH BIT 0
2926 006052 012737 000002 001240 MOV #SEC2 ,REGIST sSAVE REGISTER FOR TYP QUT
2927 006060 000004 SCOPE
2928 006062 104414 1$: MSTCLR
2929 006064 104416 000002 64$: WRITE  ,SEC2
2930 006070 000000 65%: 0 sDATA
2931 006072 104420 000002 READ .SEC2 JREAD THE DATA JUST WRITTEN
2932 006076 012637 001202 MOV (SP)+,$TMPO ;;POP STACK INTO $TMPO
2933 006102 013737 006070 001204 MOV 658 ,3TMP sLOAD EXPECTED
2934 006110 123737 001202 001204 (MP8 STMPO.STHP1 JTEST IF CORRECT
2%35 006116 001403 BEQ 66$ ;YES GO TO 66%
2936 006120 104012 ERROR 10, :SECONDARY REGISTER INCREMENT ONE'S FAILURE
2937 006122 000137 006062 JMP 1$ ;LOOP ON ERROR
2938 006126 005237 006070 66S%: INC 65% ;LOAD NEXT DATA
2939 006132 032737 000400 006070 BIT #8]78,65% JTEST IF ALL DONE
2940 006140 001751 BEQ 649 :NO GO TO 643
2941 006142 104417 2$: LRESET
2962 0061464 104420 000002 READ .SEC2 JREAD AND TEST IF CLEARED
2943 006150 012637 001202 MOV (SP) +,$TMPO ;:POP STACK INTO $STMPO
2944 006154 005037 001204 CLR S$TMP1 ;LOAD EXPECTED
2945 005160 023737 001202 001204 (MP $TMPQ ,STMP1 JTEST IF ALL CLEAR
2946 006166 001403 BEQ T1ST33 se
2947 Q06170 104013 ERROR 11. ;DID NOT CLEAR AFTER RESET
2948 006172 000137 006142 JMP 2% ;LOOP ON ERROR




N
CZKMDAO DMS11-DA STATIC MACYI1 30A(C1052) 21-0CT-81 09:21 PAGE 65

CZKMDA.P13 20-0C7-81 17:03 TRANSMIT STATUS REGISTER (SECONDARY) READ WRITE TEST SEQ 0065
gggg LSBTTL TRANSMIT STATUS REGISTER (SECONDARY) READ WRITE TEST
2951
2952 sennntetrnarntrtttnenenanant TEST 33 wevnncnvnnnnnsnnennnceannne
2953 J*TRANSMIT STATUS REGISTER (SECONDARY) BIT TEST
2954 ;s*THIS TEST DOES A:
2955 L 1. WRITE AND A READ VERIFY
2956 . 2. CLEAR AND A READ VERIFY
2957 A 3. WRITE AND A LINE RESET THEN A READ VERIFY
2958 .' OF BIT TSOM
2959 JINNANAANR NN A AN TE RN AR ARARNRARARA AN AR AN NI AR ANRA AN RN RN RARAS
2960
ggg; ; TEST 33
2963 "ttttttttttttttttttttttt'ttttttttttttttttttttttttttttttttttttttt
2964 006176 000004 TST33: SCOPE
2965 006200 012737 000033 001102 MOV #33,$TSTNM ;s LOAD THE NO. OF THIS TEST
2966 006206 012737 000033 001262 MOV #33,TSTNUM ;¥ FOR TYPE QUT
2967 006214 104417 48 : LRESET
2968 006216 104416 000003 000001 WRITE  ,SEC3,TSOM ;SET BIT TSOM
2969 006226 104420 000003 READ .SEC3 sREAD VERIFY
2970 006230 012637 001202 MOV (SP) +,3$TMP( ;sPOP STACK INTO $TMPO
2971 006234 042737 177776 001202 8IC #2C<TSOM>,$TMPO ;CLEAR UNWANTED
2972 006242 012737 000001 001204 MOV #TSOM, STMP1 :LOAD EXPECTED
2973 006250 023737 001202 001204 CMP $TMPO,STHPI JTEST FOR A SET
2974 006256 001403 BEQ 9
2975 006260 104005 ERROR 5 sTRANSMIT STATUS REGISTER TSOM WRITE FAILURE
2976 006262 000137 006214 JMP 4 sLOOP ON ERROR
2977 006266 18:
2978 006266 104416 000003 000000 WRITE ,SEC3,0 sRESET BIT TSOM
2979 006274 104420 000003 READ .SEC3 sREAD VERIFY
2980 006300 012637 001202 MOV (SP)+,$TMPO ;:POP STACK INTO $TMPO
2981 006304 042737 177776 001202 8IC #‘C(TSOH> $TMPO ;CLEAR UNWANTED BITS
2982 006312 005037 0031204 CLR $TMP1 ;LOAD EXPECTED
2983 006316 023737 001202 001204 CMp STHPO $TMP1 sTEST FOR RESET
2984 006324 001403 B8EQ 2% JYES SKIP ERROR
2985 006326 104005 ERROR 5 sTRANSMIT STATUS REGISTER TSOM FAILED TO CLEAR
2986 006330 000137 006214 JMP 43 ;LOOP ON ERROR
2987 006334 2$:
2988 006334 104416 000003 000001 WRITE  ,SEC3,TSOM JWRITE TSOM
2989 006342 104417 5%: LRESET
2990 006344 104420 000003 READ .SEC3 JREAD VERIFY
2991 006350 012637 001202 MOV (SP)+,$TMPO ;.POP STACK INTO $TMPO
2992 006354 042737 177776 « 001202 BIC #‘C(TSOH> $TMPO .CLEAR UNWANTED BITS
2993 006362 005037 001204 CLR $TMP1 .LOAD EXPECTED
2994 006366 023737 001202 201204 CMP $TMPQ,S$TMP1 JTEST FOR A RESET
2995 006374 001403 BEQ TST34 K
2996 026376 104010 ERROR 8. JTRANSMIT STATUS REGISTER TSOM FAILED TO CLEAR AFTER RES
5335 006400 000137 006342 JMP 5% ;LOOP ONERROR
2999
3000 JReERknnnnnnanneentnnennnnnnt TEST 34 wxnnnnnronasnnneanavnantnny
3001 ;*TRANSMIT STATUS REGISTER (SECONDARY) BIT TEST
3002 ;*THIS TEST DOES A
3203 :* . WRITE AND A READ VERIFY

3004 i 2. CLEAR AND A READ VERIFY
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000004
012737
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012737
023737
001403
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000137
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104417
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005037
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006612 000004

MACY11 30A(1052)

]
17:03
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000003
000003
001202
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000002
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000003
001202
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001204
001202
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000003
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001202
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001202
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001204
001204
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SEQ 0066

21-0C7-81 09:21

TRANSMIT STATUS REGISTER (SECONDARY) READ WRITE TEST

i 3. WRITE AND A LINE RESET THEN A READ VERIFY

i OF BIT TEOM

;:ttttﬁttﬁ'QtQ""ttitttﬁtﬁQ.tﬁiiit.t'i.'.."""'..ﬁt...'tﬁ't'.

; TEST 34
::ttttﬁti"tt't'tﬁﬁt.'tii'iit.tttl..Qti.tt.tt..'ttttt'.'ii.ttittt
T$T34: SCOPE

MOV #34,$TSTNM : LOAD THE NO. OF THIS TEST

MOV N34.TSTNUM :# FOR TYPE OUT
4$: LRESET

WRITE ,SEC3,TEOM ;SET BIT TEOM

READ  ,SEC3 :READ VERIFY

MOV (SP)+,$TMPO :;POP STACK INTO $TMPQ

BIC  #*C<TEOM>,$TMPO :CLEAR UNWANTED

MOV NTEOM,STMP] :LOAD EXPECTED

(Mp $TWPO.STHPI :TEST FOR A SET

ERROR S ; TRANSMIT STATUS REGISTER TEOM WRITE FAILURE
s P 4s :LOOP ON ERROR

WRITE  ,SEC3,0 :RESET BIT TEOM

READ  ,SEC3 :READ VERIFY

MOV (SP)+,$TMPO ::POP STACK INTO $TMPO

BIC #*C<TEOM>,STMPO :CLEAR UNWANTED BITS

CLR S TMP1 :LOAD EXPECTED

CMP  $TMPO,STMPI TEST FOR RESET

BEQ 28 :YES SKIP ERROR

ERROR S :TRANSMIT STATUS REGISTER TEOM FAILED TO CLEAR
25 M4 :LOOP ON ERROR

WRITE  ,SEC3,TEOM ;WRITE TEOM
58 LRESET

READ  ,SEC3 :READ VERIFY

MOV (SP)+,$TMPO :;POP STACK INTO $TMPO

BIC  #~C<TEOM>,STMPO :CLEAR UNWANTED BITS

(LR $TMP] :LOAD EXPECTED

(WP STMEO.STHPY :TEST FOR A RESET

ERROR 8, : TRANSMIT STATUS REGISTER TEOM FAILED TO CLEAR AFTER RES

JMP 5% :LOOP ONERROR

JARRRARARARARARERReanansnnnt TEST 35 wananannnnsnnnnasneavrnnanne

s*TRANSMIT STATUS REGISTER (SECONDARY) BIT TEST
¢*THIS TEST DOES A:

i 1. WRITE AND A READ VERIFY

i . CLEAR AND A READ VERIFY

:® . WRITE AND A LINE RESET THEN A READ VERIFY
o OF BIT TXA8

PRI I L T e Y L L L LI LTI

; TEST 35

: -
o MANAA AN RAAARR AR AN AR R AN ANREA RN A A RN NN RN N AN N ANAN AN RN A

7ST35: SCOPE
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CZKMDA.P11 20-0CT7-81 17:03 TRANSMIT STATUS REGISTER (SECONDARY) READ WRITE TEST SEQ 0067
3061 006614 012737 000035 001102 MOV #35,8TSTNM s LOAD THE NO. OF THIS TEST
3062 006622 012737 000035 001262 MOV #35,TSTNUM :# FOR TYPE OUT
3063 006630 104417 43: LRESET
3064 006632 104416 000003 000004 WRITE .SEC3,TXAB ;JSET BIT TXA8
3065 006640 104420 000093 READ .SEC3 sREAD VERIFY
3066 006644 012637 001202 MOV (SP)+,$TMP(Q s +POP STACK INTO STMPO
3067 006650 042737 177773 001202 BIC #C<TXAB>,$TMPO ;CLEAR UNWANTED
3068 006656 012737 000004 001204 MOV #TXAB,$TMP1 sLOAD EXPECTED
3069 006664 023737 001202 001204 CMP $TMPO,STMP1 sTEST FOR A SET
3070 006672 001403 BEQ 1%
3071 006674 104005 ERROR b) sTRANSMIT STATUS REGISTER TXAB WRITE FAILURE
3072 006676 000137 006630 JMP 43 ;LOOP ON ERROR
3073 006702 1$:
3074 006702 104416 000003 000000 WRITE .SEC3.,0 sRESET 8]T TXAB
3075 006710 104420 000003 READ .SEC3 JREAD VERIFY
3076 006714 012637 001202 MOV (SP)+ ,$TMPO :;POP STACK INTO $TMPO
3077 006720 042737 177773 001202 BIC #°C<TXAB>,$TMP0O ;CLEAR UNWANTED BITS
3078 006726 005037 001204 CLR $TMP1 sLOAD EXPECTED
3079 006732 023737 001202 001204 CMP $TMPO,STMP1 ;TEST FOR RESET
3080 006740 001403 BEQ 2% JYES SKIP ERROR
3081 006742 104005 ERROR 5 JTRANSMIT STATUS REGISTER TXAB FAILED TO CLEAR
3082 006744 000137 006630 JMP 48 ;LOOP ON ERROR
3083 006750 2s:
3084 006750 104416 0000063 000004 WRITE .SEC3,TXAB ;WRITE TXAB
3085 006756 104417 5%: LRESET
3086 006760 104420 000003 READ .SEC3 JREAD VERIFY
3087 006764 012637 001202 MOV (SP)+,$TMPQ :'POP STACK INTO $TMPO
3088 006770 042737 177773 001202 BIC # C<TXAB>,$TMPO ;CLEAR UNWANTED BITS
3089 006776 005037 001204 CLR $TMP1 :LOAD EXPECTED
3090 007002 023737 001202 001204 CMP $TMPO,STMP1 JTEST FOR A RESET
3091 007010 001403 BEQ T1ST36 i
3092 007012 104010 ERROR 8. STRANSMIT STATUS REGISTER TXAB FAILED TO CLEAR AFTER RES
3093 (07014 000137 006756 JMP 5% ;LOOP ONERROR
s
3096 JRRRRAARARRRARNERRRRRannnntt TEST 36 anannanannnetnssasanenrennnn
3097 *TRANSHIT STATUS REGISTER (SECONDARY) BIT TEST
3098 :*THIS TEST DOES A
3099 .* 1. WRITE AND A READ VERIFY
3100 o 2. CLEAR AND A READ VERIFY
3101 . * 3. WRITE AND A LINE RESET THEN A READ VERIFY
3102 I OF BIT TXGA
3103 AR AR AR R AR AR R AN R R AN R AR AR AR AN R RN RN R AR R AR N AR ARNRN RN RRRARR
3104
%}82 : TEST 36
3107 '.ttttttttttttttt'tt'tntttttttttttittttttttttittttttttttttttttttt
3108 007020 000004 TST36: SCOPE
3109 007022 012737 000036 001102 MOV #36,8$TSTNM : LOAD THE NO. OF THIS TEST
3110 007030 012737 0060036 001262 MOV #36,TSTNUM ;¥ FOR TYPE OUT
3111 007036 104417 4$: LRESET
3112 007040 104416 000003 000010 WRITE  ,SEC3,TXGA ;SET BIT TXGA
3113 007046 104420 000003 READ LSEC3 cREAD VERIFY
3114 007052 012637 001202 MOV (SP)+ ,STMPO :.POP STACK INTO STMP(
3115 007056 042737 177767 001202 8IC #*2C<TXGA> ,$TMPO ;CLEAR UNWANTED
3116 007064 012737 0000.0 001204 MOV #TXGA,STMP1 sLOAD EXPECTED
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if:

CZXMDA.P11 20-0CT-81 TRANSMIT STATUS REGISTER (SECONDARY) READ WRITE TEST SEQ 0068
3117 007072 023737 001202 001204 CMP $TMPO,S$TMP1 sTEST FOR A SET
3118 007100 001403 BEQ 1$
3119 007102 104005 ERROR 5 s TRANSMIT STATUS REGISTER TXGA WRITE FAILURE
g}g? 88;}?8 000137 007036 18 JMP 43 :LOOP ON ERROR
3122 007110 104416 000003 000000 WRITE ,SEC3,0 ¢RESET BIT TXGA
3123 007116 104420 000003 READ ,SEC3 sREAD VERIFY
3126 007122 012637 001202 MOV (SP)+,$TMPO s .POP STACK INTO $TMPO
3125 007126 042737 177767 001202 BIC #2C<TXGA>,$TMPO ;CLEAR UNWANTED BITS
3126 007134 005037 001204 CLR $TMP1 sLOAD EXPECTED
3127 007140 023737 001202 001204 CMP $TMPO,$TMP1 sTEST FOR RESET
3128 007146 001403 BEQ 2$ ¢YES SKIP ERROR
3129 007150 104005 ERROR 5 s TRANSMIT STATUS REGISTER TXGA FAILED TO CLEAR
3130 007152 000137 007036 JMP 43 :LOOP ON ERROR
3131 007156 28:
3132 007156 104416 000003 000010 WRITE  ,SEC3,TXGA JWRITE TXGA
3133 007164 104417 5%: LRESET
3134 007166 104420 000003 READ .SEC3 +READ VERIFY
3135 007172 012637 001202 MOV (SP)+,STMPO :;POP STACK INTO $TMPO
3136 007176 042737 177767 001202 8IC #2C<TXGA> ,$TMPO ;CLEAR UNWANTED BITS
3137 007204 005037 001204 CLR $TMPI sLOAD EXPECTED
3138 007210 023737 001202 001204 CMP $TMPO,$TMP1 sTEST FOR A RESET
3139 007216 001403 BEQ 18137 B
3140 007220 104010 ERROR 8. sTRANSMIT STATUS REGISTER TXGA FAILED TO CLEAR AFTER RES
31641 007222 000137 007164 JMP 5% :LOOP ONERROR
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3142
3143
3144
3145
3146
3147
3148
3149
3150
3151
3152
3153 007226 000004
3154 007230 012737
3155 007236 012737
3156 007244 012737
3157 007252 012737
3158 007260 000004
3159 007262 106414
3160 007264 104416
3161 007270 000000
3162 007272 104420
3163 007276 012637
3164 007302 013737
3165 007310 123737
3166 007316 001403
3167 007320 104012
3168 007322 000137
3169 007326 005237
3170 007332 032737
3171 007340 001751
3172 007342 106417
3173 007346 104420
3174 007350 012637
3175 007354 005037
3176 007360 023737
3177 007366 007403
3178 007370 104013
3179 007372 000137

C
1

MACY1
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000037
000037
000002
000004

000004

000004
001202
007270
001202

007262
007270
000400

000004
001202
001204
001202

007342
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SYNC SECONDARY ADDRESS REGISTER (SECONDARY) FLOATING ONE'S TEST
.SBTTL SYNC SECONDARY ADDRESS REGISTER (SECONDARY) FLOATING ONE'S TEST

JRRRRARRRARAARERRReRRnnnnnens TEST 37 secnnanacntosnsonttanncetne

;*SYNC SECONDARY REGISTER (SECONDARY)

:*INCREMENT ONE'S TEST

JINANAANARARA A RN AR ARNANNRENEAROEAARE RN NAACE RO AAARAAINNGAAAACENY

L[4
SIRARNAAAAAAAAANAAAAAAAN RN RN NN RARNAAARRAN R AR AARARAAAAARAR AN AAAR

: TEST 37

TST37: SCOPE
MOV #37.8TSTNM
MoV #37,TSTNUM
MOV #MIT1,65%
MOV #SEC4& ,REGIST
SCOPE

1$: MSTCLR

64%: WRITE ,SEC4

65%: 0
READ LSEC4

MoV (SP)+,$TMPO
MOV 658 ,$TMP1

CMPB $TMPO,S$TMP1
BEQ 66%
ERROR  10.
JMP 18

66$: INC 65%
BIT #B1T8,65%

BEQ 643
2$: LRESET
READ .SEC4
MOV {SP) ¢+, $TMPO
CLR $TMP1
CMP $TMPQ,$TMP1
BEQ TST40
ERROR 11,
JMP 2%

: LOAD THE NO. OF THIS TEST
:# FOR TYPE OUT
:START WITH BIT 0

:SAVE REGISTER FOR TYP OUT

sDATA

sREAD THE DATA JUST WRITTEN
:;POP STACK INTO STMPO

sLOAD EXPECTED

sTEST IF CORRECT

sYES GO TO 66%
-SECONDARY REGISTER INCREMENT ONE'S FAILURE
sLOOP ON ERROR
sLOAD NEXT DATA
sTEST IF ALL DONE
:NO GO TO 64$

sREAD AND TEST IF CLEARED
:;POP STACK INTO $TMPO
sLOAD EXPECTED

sTEST IF ALL CLEAR

:DID NOT CLEAR AFTER RESET
:LOOP ON ERROR

SEQ 0069
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000004
012737
012737
104417
104416
104420
012637
042737
012737
023737
001403
104006
000137

104416
104420
012637
042737
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023737
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104006
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¢
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000040
000040
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000005
001202
177776
000001
001202

007414

000005
000005
001202
177776
001204
001202
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000005
000005
001202
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001204
001202
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001262

000001
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000000

001202
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000001
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MODE CONTROL REGISTER (SECONDARY) READ WRITE TEST

.SBTTL MODE CONTROL REGISTER (SECONDARY) READ WRITE TEST

JARNRARRRARRRRereneaannnattt TEST 40 sennnvanvannvecnaneneannnen

-*MODE CONTROL REGISTER (SECONDARY) BIT TEST

s*THIS TEST DOES A:

;¥ 1. WRITE AND A READ VERIFY

2. CLEAR AND A READ VERIFY

3. WRITE AND A LINE RESET THEN A READ VERIFY
OF BIT PROTEX

SINANANANARA AR AN TR RAARRR AR AN A AANNAANRARRRAN AN ANNEARNRREROORESY

; TEST 40

: ..............
SCARANAAARAARRAARARARAANN AN A RN RN AR NN AR AN RN AN AR AN AR

TST40: SCOPE

» 2N

MOV #60,8TSTNM : LOAD THE NO. OF THIS TEST

MOV #40.TSTNUM 4 FOR TYPE OUT
4$: LRESET

WRITE  ,SECS.PROTEX  ;WRITE BIT PROTEX

READ  .SECS TREAD VERIFY

MOV (SP)+,$TMPO .;POP STACK INTO $TMPO

BIC #AC<PROTEX>,$TMP :CLEAR UNWANTED

MOV #PROTEX.STMP1  :LOAD EXPECTED

ggﬁ ?;npo,svnp1 sTEST FOR A SET

ERROR 6 ;MODE CONTROL REGISTER PROTEX WRITE FAILURE
s JMP 4$ :LOOP ON ERROR

WRITE  ,SECS.0 ;RESET BIT PROTEX

READ  .SE(S *READ VERIFY

MOV (SP)+,$TMPQ -:POP STACK INTO STMPO

BIC #*C<PROTEX>,$TMPD :CLEAR UNWANTED BITS

CLR $TMP1 :LOAD EXPECTED

CMP $TMPO, STMP1 STEST FOR RESET

BEQ 28 :YES SKIP ERROR

ERROR 6 “MODE CONTROL REGISTER PROTEX FAILED TO CLEAR
s JMP 48 :LOOP ON ERROR

WRITE  ,SECS,PROTEX  ;WRITE PROTEX
5%: LRESET

READ  ,SECS :READ VERIFY

MOV (SP)+,$TMPO -:POP STACK INTO $TMPO

BIC #*C<PROTEX>,$TMPD :“LEAR UNWANTED BITS

CLR $TMP1 ;LOAD EXPECTED

ggg %g?fg.srnp1 sTEST FOR A RESET

ERROR 9. :MODE CONTROL REGISTER PROTEX FAILED TO CLEAR AFTER RESE

JMP 58 :LOOP ONERROR

JaReanRaRntnnstenenanantant TEST 4] sennannnnnnnvesennananenens
;*MODE CONTROL REGISTER (SECONDARY) BIT TEST

s*THIS TEST DOES A:

o 1. WRITE AND A READ VERIFY

¥ 2. CLEAR AND A READ VERIFY

SEa 06070

Do~

|
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CZKMDA.P11 20-0CT7-81 17:03 MODE CONTROL REGISTER (SECONDARY) READ WRITE TESY SEQ 0071
3236 s 3. WRITE AND A LINE AESET TNEN A READ VERIFY
3237 o ¥ OF BIT PROTEY
3238 JINRARRRAANARARRAAANARNRARAARAARNAAAAAAAAVVVVOV VOOV ORNNORCANN
3239
ggz? ; TEST &

3242 ;:tttttt;ttttttttttttttttttttttttttttttttttttt.lttt"t"..'.".'.

3243 007604 000004 TST41: SCOPE

3244 007606 012737 000041 001102 MOV #41,8TSTNM ; LOAD THE NO. OF TMIS TEST

3245 007614 012737 000041 001262 MOV #41,TSTNUM & FOR TYPE OUT

3246 007622 104417 4S: LRESET

3247 007626 104416 000005 000002 WRITE .SECS5,PROTEY JWRITE BIT PROTEY

3248 007632 104420 000005 READ .SECS sREAD VERIFY

3249 007636 012637 001202 MOV (SP)+,$TMPO :sPOP STACK INTO $TMPO

3250 007642 042737 177775 001202 81C #*C<PROTEY>,$TMPD : CLEAR UNWANTED

3251 007650 012737 000002 001204 MOV #PROTEY ,$TMP1 sLOAD EXPECTED

3252 007656 023737 001202 001204 CMP $TMPO,S$TMPT JTEST FOR A SET

3253 007664 001403 BEQ 1$

3254 007666 104006 ERROR 6 ;MODE CONTROL REGISTER PROTEY WRITE FAILURF
3255 007670 000137 007622 JMP 43 ;LOOP ON ERROR

3256 007674 18:

3257 007674 104416 000005 000000 WRITE .SECS,0 ;RESET BIT PROTEY

3258 007702 104420 000005 READ .SECS sREAD VERIFY

3259 007706 012637 001202 MoV (SP)+,$TMPO :sPOP STACK INTO STMPO

3260 007712 042737 177775 001202 BIC #-C<PROTEY>,$TMP s CLEAR UNWANTED BITS

3261 007720 005037 001204 (LR $TMP1 sLOAD EXPECTED

3262 007724 023737 001202 001204 CMP $TMPO, STHP1 JTEST FOR RESETY

3263 007732 001403 BEQ 2% JYES SKIP ERROR

3264 007734 104006 ERROR 6 sMODE CONTROL REGISTER PROTEY FAILED TO CLEAR
3265 007736 000137 007622 JMP 43 ;LOOP ON ERROR

3266 007742 2$:

3267 007742 104416 000005 000002 WRITE .SEC5,PROTEY sWRITE PROTEY

3268 007750 104417 5$: LRESET

3269 007752 104420 000005 READ .SECS sREAD VERIFY

3270 007756 012637 001202 MOV (SP) +,$TMPO :sPOP STACK INTO STMPO

3271 007762 042737 177775 001202 BI( #‘C<PROTEV>.STHP6 :CLEAR UNWANTED BITS

3272 007770 005037 001204 CLR S$TMP1 sLOAD EXPECTED

3273 007774 023737 001202 001204 CMP $TMPO,STMP1 sTEST FOR A RESET

32764 010002 001403 BEQ TST42 2

3275 010004 104011 ERROR 9. ;MODE CONTROL REGISTER PROTEY FAILED TO CLEAR AFTER RESE
;5;? 010006 000137 007750 JMP 5% :LOOP ONERROR

3278

3279 JRRNARRRAAAAAERRRRRRRnnannan TEST 42 tamanannnnnnnnncnesnsnnnnnns
3280 ;*MODE CONTROL REGISTER (SECONDARY) BIT TEST

3281 c*THIS TEST DOES A:

3282 o % 1. WRITE AND A READ VERIFY

3283 ] 2. CLEAR AND A READ VERIFY

3284 o 3. WRITE AND A LINE RESET THEN A READ VERIFY
3285 o OF BIT PROTEZ

%%gg PR AR A R AN AR A AN AN N AN NANN R AR A AR AR AR ANRARA RN R RERRARY
%ggg : TEST 42

3290 AR A AN AR RN AR AR AR NN TR AN AN

3291 010012 000004 TST42: SCOPE
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CZKMDA.P11 20-0CT-81 17:03 MODE CONTROL REGISTER (SECONDARY) READ WRITE TEST SEQ 0072
3292 010016 012737 000042 001102 MoV #62,8TSTNM : LOAD THE NO. OF THIS TEST
3293 010022 012737 000042 001262 MoV #42,TSTNUM :# FOR TYPE OUT
3294 010030 104417 43: LRESET
3295 010032 104416 000005 000004 WRITE ,SECS,PROTEZ JWRITE BIT PROTEZ
3296 010040 104420 000005 READ LSECS JREAD VERIFY
3297 010044 012637 00120 MOV (SP)+ ,$TMPO :2POP STACK INTO $TMP(Q
3298 010050 042737 177773 001202 BIC #*C<PROTEZ>,$TMPD :CLEAR UNWANTED
3299 010056 012737 000004 001204 MOV #PROTEZ ,$TMP1 ;LOAD EXPECTED
3300 010064 023737 001202 001204 CMP $TMPO,$THPY JTEST FOR A SET
3301 010072 001403 BEQ 1$
3302 070074 104006 ERROR 6 sMODE CONTROL REGISTER PROTEZ WRITE FAILURE
3303 010076 000137 010030 JMP 43 ;LOOP ON ERROR
3304 010102 1$:
3305 010102 104416 000005 000000 WRITE ,SECS5.,0 SRESET BIT PROTE2
3306 010110 104420 000005 READ .SECS JREAD VERIFY
3307 010114 012637 001202 MOV (SP)+,$TMPO ::POP STACK INTO $TMPO
3308 010120 042737 1777783 001202 BIC l‘C(PROTEZ>.STHPb ;CLEAR UNWANTED BITS
3309 010126 005037 001204 CLR $TMP1 JLOAD EXPECTED
3310 010132 023737 001202 001204 CMP $TMPO,$TMP1 JTEST FOR RESET
3311 010140 001403 BEQ 2% cYES SKIP ERROR
3312 010142 104006 ERROR 6 SMODE CONTROL REGISTER PROTEZ FAILED TO CLEAR
3313 010144 000137 010030 JMP 43 ;LOOP ON ERROR
3314 010150 2$:
3315 010150 104416 00000S 000004 WRITE .SEC5,PROTEZ JWRITE PROTEZ
3316 010156 104417 5%: LRESET
3317 010160 104420 000005 READ .SECS sREAD VERIFY
3318 010164 012637 001202 MOV (SP)+ ,$TMPO :sPOP STACK INTO $TMPO
3319 010170 042737 177773 001202 BIC #~C<PROTEZ>,$TMPD JCLEAR UNWANTED BITS
3320 010176 005037 001204 CLR $TMP1 :LOAD EXPECTED
3321 010202 023737 001202 001204 (MP $TMPO,STMPY STEST FOR A RESET
3322 010210 001403 BEQ TST43 4N
3323 010212 104011 ERROR 9. JMODE CONTROL REGISTER PROTEZ FAILED TO CLEAR AFTER RESE
3324 010214 000137 010156 JMP 5% ;LOOP ONERROR
335
3327 JRRANRRARAARNRNRRRRRRRARAnand TEST 43 anantnnnnvansnsananenenateny
3328 c*MODE CONTROL REGISTER (SECONDARY) BIT TEST
3329 ;*THIS TEST DOES A:
3330 ] 1. WRITE AND A READ VERIFY
3331 o * 2. CLEAR AND A READ VERIFY
3332 o X 3. WRITE AND A LINE RESET THEN A READ VERIFY
3333 o OF BIT NIDLE
ggglg DA AR AR RN AN NRARNA R NAR AN NN R NN TN RARARNRREY
gggg ; TEST 43
3338 ;;tttttt;ttttttttttttttttttttttttttwttttt!ttttttttttttttttttttttt
3339 010220 000004 TST43: SCOPE
3340 010222 012737 000043 001102 MOV #43,8TSTNM : LOAD THE NO. OF THIS TEST
3341 010230 012737 000043 001262 MOV #63,TSTNUM :# FOR TYPE OUT
3342 010236 104417 4S: LRESET
3343 010240 104416 000005 000010 WRITE  ,SECS5,NIDLE JWRITE BIT NIDLE
3344 010246 104420 000005 READ .SECS JREAD VERIFY
3345 010252 012637 001202 MOV (SP)+ ,S$THPO ssPOP STACK INTO $TMPO
3346 010256 042737 177767 001202 BIC #*C<NIDLE>,STMPO :CLEAR UNWANTED
3347 010264 012737 000010 001204 MOV ANIDLE,STMP1  :LOAD EXPECTED
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CZKMDA.P11 20-0CT-81 17:03 MODE CONTROL REGISTER (SECONDARY) READ WRITE TEST SEQ 0073
3348 010272 023737 001202 001206 cMP $TMPO,STHP1 JTEST FOR A SET
3349 010300 001403 BEQ 18
3350 010302 104006 ERROR 6 JMODE CONTROL REGISTER NIDLE WRITE FAJLURE
ggg; 8}83?3 000137 010236 s JMP 43 ;LOOP ON ERROR
3353 010310 104416 000005 000000 WRITE ,SECS5.0 JRESET BIT NIDLE
3356 010316 104420 000005 READ LSECS JREAD VERIFY
3355 010322 012637 001202 MOV (SP)+ ,$TMPO J:POP STACK INTO $TMPO
3356 010326 042737 177767 001202 BIC #*C<NIDLE>,S$TMPO :CLEAR UNWANTED BITS
3357 010334 005037 001204 CLR $TMPI sLOAD EXPECTED
3358 010340 023737 001202 001204 CMP $TMPO,STMPT JTEST FOR RESET
3359 010346 001403 BEQ 2% ;YES SKIP ERROR
3360 010350 104006 ERROR 6 JMODE CONTROL REGISTER NIDLE FAILED TO CLEAR
3361 010352 000137 010236 JMP 43 ;LOOP ON ERROR
3362 010356 2$:
3363 010356 104416 000005 000010 WRITE  ,SECS5,NIDLE JWRITE NIDLE
3364 010364 104417 5%: LRESET
3365 010366 104420 000005 READ .SECS JREAD VERIFY
3366 010372 012637 001202 MOV (SP)+ _STMPO ;:POP STACK INTO STMPO
3367 010376 042737 177767 001202 BIC #*C<NIDLE>,S$TMPO ;s CLEAR UNWANTED BITS
3368 010404 005037 001204 CLR $TMP sLOAD EXPECTED
3369 010410 023737 001202 001204 CMP $TMPO ,STMP1 JTEST FOR A RESET
3370 010416 001403 BEQ TST44 22
3371 010420 104011 ERROR 9. sMODE CONTROL REGISTER NIDILE FAILED TO CLEAR AFTER RESET
gg;% 010422 000137 010364 JMP 5% ;LOOP ONERROR
3374
3375 JRAARARAAANARRRARCOARRannnnn TEST 44 annnnnnnanannnnnsnsnnannnny
3376 ;*MODE CONTROL REGISTER (SECONDARY) BIT TEST
3377 s%«THIS TEST DOES A:
3378 o® 1. WRITE AND A READ VERIFY
3379 o® 2. CLEAR AND A READ VERIFY
3380 o ® 3. WRITE AND A LINE RESET THEN A READ VERIFY
3281 S OF BIT SAM
%gs% PR I e i e T I L L T T T T T e
8
g%gg ;s TEST 44
3386 ;.-tttttt;tttttttttttttttttttttttttttttttttttttttttttttttttt*ttttt
3387 010426 000004 TST44: SCOPE
3388 010430 012737 000044 001102 MOV #64 ,STSTNM : LOAD THE NO. COF THIS TEST
3389 010436 012737 000044 001262 MOV #64 ,TSTNUM ;¥ FOR TYPE OUT
3390 010444 104417 48 LRESET
3391 010446 104416 000005 000020 WRITE L,SEC5,SAM ;WRITE BIT SAM
3392 010454 104420 000005 READ .SECS sREAD VERIFY
3393 010460 012637 001202 MOV (SP)+ ,$TAPO s.POP STACK INTO STMPO
3394 010464 042737 177757 001202 BIC #-C<SAM> ,$TMPO ;CLEAR UNWANTED
3395 010472 012737 000020 001204 MOV #SAM $STMP1 sLOAD EXPECTED
3396 010500 023737 001202 001204 (MpP STHPO.STHPI sTEST FOR A SEY
3308 010310 104008 ERROR & MODE CONTROL REGISTER SAM WRITE f
: W AILURE
3399 010512 000137 010444 JMP 4 ;LOOP ON ERROR
3400 010516 1$:
3401 010516 104416 000005 000000 WRITE ,SECS5.0 sRESET BIT SAM
3402 010524 104420 000005 READ LSECS :READ VERIFY
3403 010530 012637 001202 MOV (SP)+,$TMPO 2sPOP STACK INTO $TMPO
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CZKMDA.P11 20-0CT-81 17:03 MODE CONTROL REGISTER (SECONDARY) READ WRITE TEST SEQ 0074
3404 010534 042737 177757 001202 BIC #2C<SAM> ,$TMPO ;CLEAR UNWANTED BITS
3405 010542 005037 001204 (LR $TMP1 cLOAD EXPECTED
3406 010546 023737 001202 001204 CMP $TMPO,$TMP1 JTEST FOR RESET
3407 010554 001403 BEQ 2$ JYES SKIP ERROR
3408 010556 104006 ERROR 6 ¢MODE CONTROL REGISTER SAM FAILED TO CLEAR
3409 010560 000137 0104446 JMP 43 ;LOOP ON ERROR
3410 010564 2$:
3411 010564 104416 000005 000020 WRITE  ,SECS5,SAM JWRITE SAM
3412 010572 104417 5%: LRESET
3413 010576 104420 000005 READ .SECS SREAD VERIFY
3414 010600 012637 001202 MOV (SP)+_,$TMPO J:POP STACK INTO STMPO
3415 010604 042737 177757 001202 BIC #-C<SAM> ,STMPO ;CLEAR UNWANTED BITS
3416 010612 005037 001204 CLR $TMP1 sLOAD EXPECTED
3417 010616 023737 001202 001204 CMpP $TMPO,STMP1 sTEST FOR A RESET
3418 010624 001403 BEQ TST4S ::
3419 010626 104011 ERROR 9, JMODE CONTROL REGISTER SAM FAILED TO CLEAR AFTER RESET
gzg? 010630 000137 010572 JMP 5% ;LOOP ONERROR
3422
3423 JRRRRARRARARRC ettt anananns TEST 45 wancnnnavnnnnnsananenanenan
3424 <«MODE CONTROL REGISTER (SECONDARY) BIT TEST
3425 s%THIS TEST DOES A:
3426 o ® 1. WRITE AND A READ VERIFY
3427 o 2. CLEAR AND A READ VERIFY
3428 M 3. WRITE AND A LINE KESET THEN A READ VERIFY
3429 o OF BIT SSL
3430 JINER RN AR RN AN RN A A A AR AR AR AN ARA AR RN AN RN AR AR ANR AR AN AS
3431
&g% ; TEST 45
3434 ,-;tttttt;tttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3435 010634 000004 TST45: SCOPE
3436 010636 012737 000045 001102 MOV #65,8TSTNM ; LOAD THE NO. OF THIS TEST
3437 010644 012737 000045 001262 MOV #45,TSTNUM s# FOR TYPE 0OUT
3438 010652 104417 4$: LRESET
3439 010654 104416 000005 000040 WRITE ,SECS,SSL JWRITE 81T 3SSL
3440 010662 1064420 000005 READ .SECS JREAD VERIFY
3441 010666 012637 001202 MOV (SP)+ ,$TMPO J:POP STACK INTO $TMPO
3442 010672 042737 177737 001202 BIC #4C<SSL>,$TMPO  :CLEAR UNWANTED
3443 010700 012737 000040 001204 MOV #SSL,$TMP1 JLOAD EXPECTED
3444 010706 023737 001202 001204 (MP STHPO.STHP1 sTEST FOR A SET
3445 010714 001403 BEQ 18
3446 010716 104006 ERROR 6 sMODE CONTROL REGISTER SSL WRITE FAILURE
3447 010720 000137 010652 JMP (4 :LOOP ON ERROR
3448 010724 1$:
3449 010724 104416 000005 000000 WRITE  ,SECS5.0 JRESET BIT SSL
3450 010732 104420 000005 READ .SECS JREAD VERIFY
3451 010736 012637 001202 MOV (SP)+,$TMPO ::POP STACK INTO STMPO
3452 010742 042737 177737 001202 8IC #4C<SSL>,$TMPO ;CLEAR UNWANTED BITS
3453 010750 005037 001204 CLR $TMP sLOAD EXPECTED
3454 010754 023737 001202 001204 CMP $TMPO,STMP1 sTEST FOR RESET
3455 010762 001403 BEQ 2% :YES SKIP ERROR
3456 010764 104006 ERROR 6 sMODE CONTROL REGISTER SSL FAILED TO CLEAR
3457 010766 000137 010652 JMP 43 sLOOP ON ERROR
3458 010772 2$:
3459 010772 104416 000005 000040 WRITE .SEC5,SSL JWRITE SSL
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CZKMDAO DMS11-DA STATIC MACY?
CZKMDA.P11 20-0CT-81 17:03 MODE CONTROL REGISTER (SECONDARY) READ WRITE TEST SEQ 0075
3460 011000 104417 5$%: LRESET
3461 011002 104420 000005 READ .SECS JREAD VERIFY
3462 011006 012637 001202 MOV (SP)+,$TMPQ ;:POP STACK INTO $TMPO
3463 011012 042737 177737 001202 BI(C #4C<SSL>,$TMPO  :CLEAR UNUWANTED BITS
3464 011020 005637 001204 CLR $TMP1 JLOAD EXPECTED
3465 011024 023737 001202 001204 CMP $STMPO,$TMP1 ;TEST FOR A RESET
3666 011032 001403 BEQ TST46 H
3467 011034 1040179 ERROR 9. JMODE CONTROL REGISTER SSL FAILED TO CLEAR AFTER RESET
gzgg 011036 000137 011000 JMP 5% ;LOOP ONERROR
3470
3471 JEnRAANRkanantnntananenanann TEST 46 tevcoantanavanndnnanavnaenan
3472 ;*MODE CONTROL REGISTER (SECONDARY) BIT TEST
3473 ;*THIS TEST DOES A:
3674 A 1. WRITE AND A READ VERIFY
3475 .t 2. CLEAR AND A READ VERIFY
3476 o 3. WRITE AND A LINE RESET THEN A READ VERIFY
3477 o OF BIT PROTO
3478 JINEANARR AR N R AR AN RN AR AN AR NN RANANNANRAN AR C AN AN IR RNANR N ED
3479
3323? ; TEST 46
3482 ;:tttttt;tttttttttttttttt'ttttttttttttttttttttttttttttttttttttttt
3483 011042 000004 TST46: SCOPE
3484 011044 012737 000046 001102 MOV #46,8TSTNM s LOAD THE NO. OF THIS TEST
3485 011052 012737 000046 001262 MOV #46,TSTNUM :# FOR TYPE OUT
3486 011060 104417 4S: LRESET
3487 011062 104416 000005 000100 WRITE .SECS.PROTO JWRITE BIT PROTO
3488 011070 104420 000005 READ LSECS JREAD VERIFY
3489 011074 012637 001202 MOV (SP)+,$TMPO ssPOP STACK INTO $TMPO
3490 011100 042737 177677 001202 BIC #*C<PROTO>,$TMPO :sCLEAR UNWANTED
3491 011106 012737 000100 001204 MOV #PROTO,$TMP? JLOAD EXPECTED
3492 011114 023737 001202 001204 CMP $TMPO, $TMP1 :TEST FOR A SET
3493 011122 001403 8EQ 1$
3696 011124 1046006 ERROR 6 ;MODE CONTROL REGISTER PROTO WRITE FAILURE
3495 011126 000137 011060 JMP 43 ;LOOP ON ERROR
3496 011132 1$:
3497 011132 104416 000005 000000 WRITE LSEC5.,0 JRESET BIT PROTO
3498 011140 104420 000005 READ .SECS JREAD VERIFY
3499 011144 012637 001202 MOV (SP)+,$TMPO ssPOP STACK INTO $TMPO
3500 011150 042737 177677 001202 81( #*C<PROTO>,$TMPO sCLEAR UNWANTED BITS
3501 011156 005037 001204 CLR $TMP1 ;LOAD EXPECTED
3502 011162 023737 001202 001204 (MP $TMPO,STMPI ;TEST FOR RESETY
3503 011170 001403 BEQ 2% :YES SKIP ERROR
3504 011172 104006 ERROR 6 sMODE CONTROL REGISTER PROTO FAILED TO CLEAR
3505 011174 000137 011060 JMP 43 sLOOP ON ERROR
3506 011200 2$:
3507 011200 104416 000005 000100 WRITE ,SEC5,PROTO :WRITE PROTO
3508 011206 104417 5$: LRESET
3509 011210 104420 000005 READ .SECS sREAD VERIFY
3510 011214 012637 001202 MOV (SP) +,$TMPO :sPOP STACK INTO STMPO
3511 011220 042737 177677 001202 8I( #*C<PROTO>,$TMPO s CLEAR UNWANTED BITS
3512 011226 005037 001204 CLR $TMPI sLOAD EXPECTED
3513 011232 023737 001202 001204 CMP $TMPO,STMPT :TEST FOR A RESET
3514 011240 001403 BEQ 1ST47 H
3515 011242 104011 ERROR 9. ;MODE CONTROL REGISTER PROTO FAILED TO CLEAR AFTER RESETY
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3516 011244 000137 011206 JMP 5% ;LOOP ONERROR




CZKMDAO DMS11-DA STAT]
CZKMDA.P11 20-0CT1-8

(V]
[V,
—b
~

N Ul U AN g AN N U U N AN N AN N N N
VARV AR W AT WAV ANV VYA
WINNANN PORI A N NN PRI =
WA = OO NS NN = O Y00

011250 000004
011252 012737
34 011260 012737
35 011266 104417
36 011270 104416
3537 011276 104420
3538 011302 012637
3539 011306 042737
3540 011314 012737
3541 011322 023737
3542 011330 001403
3543 011332 104007
3544 011334 000137
3545 011340
3546 011340 104416
3547 011346 106420
3548 011352 012637
3549 011356 042737
3550 011364 005037
3551 011370 023737
3552 011376 001403
3553 011400 104007
3554 011402 000137
3555 011406
3556 011406 104416
3557 011414 104417
3558 011416 104420
3559 011422 012637
3560 011426 042737
3561 011434 005037
3562 011440 023737
3563 011446 001403
3564 011450 104025
3565 011452 000137
3566
3567
3568
3569
3570
3571
3572

¢
1

MACY11 30A(1052)

1
17:03

000047
000047

000007
000007
001202
177776
000001
001202

011266

000007
000007
001202
177776
001204
001202

011266
000007
000007
001202
177776

001204
001202

011414

001102
001262

000001

001202
001204
001204
000000

001202
001204

000001

001202
001204

21-0CT-81 09:21 PAGE 77
CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST

.SBTTL CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST

JetRaRRRRtaRteeRtanennennnnt TEST 47 enenneenncnaneencnannannnne

s *CHARACTER LENGTH REGISTER (SECONDARY) BIT TEST

s*THIS TEST DOES A:

ot 1. WRITE AND A READ VERIFY

A . CLEAR AND A READ VERIFY

o - WRITE AND A LINE RESET THEN A READ VERIFY
:* OF BIT RDATA1

SIRANANRAARANARACRANAANRAANAARANAANNANANAROCAANRNCANRACEACARNCRONROERNNS

: TEST &7

.
TrRANEARNRANANRANARANACANNAAANNAARANNANRRAREANANNAOARCARANATANRONY

SEQ 0077

7S$T47: SCOPE

MOV #47.$TSTNM : LOAD THE NO. OF THIS TEST

MOV #47.TSTNUM 4 FOR TYPE OUT
48: LRESET

WRITE  ,SEC7.RDATA1 ;WRITE BIT RDATA1

READ  _SEC7 *READ VERIFY

MOV (SP)+,$TMPO -:POP STACK INTO $TMPO

BIC #*C<RDATA1>,$TMP :CLEAR UNWANTED

MOV #RDATAT,$TMP1  :LOAD EXPECTED

3?2 ?;npo.srnp1 STEST FOR A SET

ERROR 7 ;CHARACTER LENGTH REGISTER RDATA1 WRITE FAILURE
s JMP (8 :LOOP ON ERROR

WRITE ,SEC7.0 :RESET BIT RDATA1

READ  .SEC?7 :READ VERIFY

MOV (SP) +,$TMPO -;POP STACK INTO $TMPQ

BIC #*C<RDATAL>,$TMP :CLEAR UNWANTED BITS

CLR STMP1 ;LOAD EXPECTED

cmP $TMPO, $TMP1 STEST FOR RESET

BFQ 2s *YES SKIP ERROR

ERROR 7 :CHARACTER LENGTH REGISTER RDATA1 FAILED TO CLEAR
2 JMP 4 :LOOP ON ERROR

WRITE  ,SEC7.RDATA1 ;WRITE RDATA1
58: LRESET

READ  ,SEC? :READ VERIFY

MOV (SP)+,$TMPO .:POP STACK INTO $TMPO

BIC #*C<RDATAY> ,$TMPD -CLEAR UNWANTED BITS

CLR $STMP1 :LOAD EXPECTED

CMP STMPO,$TMP1 STEST FOR A RESET

BEQ TSTS0 ¥

ERROR  21. <CHARACTER LENGTH REGISTER RDATA1 FAILED TO CLEAR AFTER

JMP 13 :LOOP ONERROR

Junenannansnnenevenenennanat TEST S5O sonavannenvavenarnnnnenennn
;*CHARACTER LENGTH REGISTER (SECONDARY) BIT TEST

s*THIS TEST DOES A:

o 1. WRITE AND A READ VERIFY

o 2. CLEAR AND A READ VERIFY




CZKMDAQ DMS11-DA STAT](
CZKMOA.P11 20-0CT-81
3573
3574
3575
3576
3577
3578
3579
3580 011456 000004
3581 011460 012737
3582 011466 012737
3583 011474 106417
3584 011476 104416
3585 011504 104420
3586 011510 012637
3587 011514 042737
3588 011522 012737
3589 011530 023737
3590 011536 001403
3591 011540 104007
3592 011542 000137
3593 011546
3594 011546 104416
3595 011554 104420
3596 011560 012637
3597 011566 042737
3598 011572 005037
3599 011576 023737
3500 011604 001403
3601 011606 104007
3502 011610 000137
3603 011614
3604 011614 104416
3605 011622 104417
3606 011624 104420
3607 011630 012637
3608 011634 042737
3509 011642 005037
3610 011646 023737
3611 011654 001403
3612 011656 104025
3613 011660 000137
3614
3615
3616
3617
3618
3619
3620
3621
3622
3623
3624
3625
3626
3627
3628 011664 000004

MACY11 30A(1052)

1
17:03

000050
000050

000007
000007
001202
177775
000002
001202

011474
000007
000007
001202
177775
001204
001202
011474
000007
000007

001204
001202

011622

001102
001262

000002

001202
001204
001204
000000

001202
001204

000002

5 |

001202
001204

N
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CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST

%

* %

SEQ 0078

3. WRITE AND A LINE RESET THEN A READ VERIFY
OF BIT RDATAZ2

[
AR AL LA RARRAS AR AR didda it la il dtiidililld]]

: TEST SO
;:ttiﬁtt;tttiﬁtttttﬁttttttt"tttttttttﬁl!'ﬁtlttttttt"tlt..lttt't
7$T50: SCOPE

MOV #50,$TSTNM : LOAD THE NO. OF THIS TEST

MOV #50. TSTNUM :# FOR TYPE OUT
48: LRESET

WRITE  ,SEC7.RDATA2  ;WRITE BIT RDATA2

READ  .SEC7 sREAD VERIFY

MOV (SP)+,$TMPO .:POP STACK INTO $TMPO

BIC #*C<RDATA2> ,$TMPD ;CLEAR UNWANTED

MOV #RDATA2,$TMP1  :LOAD EXPECTED

ggg ?;npo.srnp1 STEST FOR A SET

ERROR 7 ;CHARACTER LENGTH REGISTER RDATA2 WRITE FAILURE
s JMP (3 :LOOP ON ERROR

WRITE ,SEC7.0 ;RESET BIT RDATA2

READ  .SEC7 *READ VERIFY

MOV (SP) +,$TMPO -:POP STACK INTO $TMPO

8IC #*C<RDATA2>,$TMPD :CLEAR UNWANTED BITS

CLR $TMP1 :LOAD EXPECTED

CMP $STMPO,$TMP1 :TEST FOR RESET

BEQ 28 :YES SKIP ERROR

ERROR 7 :CHARACTER LENGTH REGISTER RDATA2 FAILED TO CLEAR
o8 JMP 4 :LOOP ON ERROR

WRITE  ,SEC7,RDATA2  :WRITE RDATA2
5%: LRESET

READ  ,SEC? :READ VERIFY

MOV (SP)+,$TMPO -:POP STACK INTO $TMPO

BIC #*C<RDATA2> ,$TMPD :CLEAR UNWANTED BITS

CLR $TMP1 ;LOAD EXPECTED

ggg %g?gg.srnp1 STEST FOR A RESET

ERROR  21. :CHARACTER LENGTH REGISTER RDATA2 FAILED TO CLEAR AFTER

JMP 5§ :LOOP ONERROR

JRNRARRARRRNRReRnuneanennant TEST 57 nannsnnnnnnsnnnsnsssnntnnnn

¢ *CHARACTER LENGTH REGISTER (SECONDARY) BIT TEST

s*THIS TEST DOES A:
I

; TEST 51

1. WRITE AND A READ VERIFY
. CLEAR AND A READ VERIFY
. WRITE AND A LINE RESET THEN A READ VERIFY
OF BIT RDATA3

SINANRAANAARRRAE RN AN ARANNAAANANARRAERARNE AN RAN AR P ARARANN AR OANNEY

[ 4
s AR RARARAAN AR A AR AN EAC NN A RN AR ARARAAAN RN AR NSO RANRARANARNREY

7ST51: SCOPE
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CIKMDA.PI1 20-0CT-81 17:03 CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST SEQ 0079
3629 011666 012737 000051 001102 MOV #51,8TSTNM : LOAD THE NO. OF TMIS TEST
3630 011676 012737 000051 001262 MOV #51,TSTNUM :# FOR TYPE OUT
3631 011702 104417 48 LRESET
3632 011704 104416 000007 000004 WRITE .SEC7 ,RDATA3 JWRITE BIT RDATA3
3633 011712 104420 000007 READ LSEC? JREAD VERIFY
3634 0311716 012637 00120 MOV (SP)+,$TMPO :2POP STACK INTO $TMPO
3635 011722 042737 177775 001202 BIC N*C<RDATA3Z>, $TMPD ; CLEAR UNWANTED
3636 011730 012737 000004 001204 MOV #RDATAZ,STMP1  .LOAD EXPECTED
3637 011736 023737 001202 001204 CMP $TMPO,STMP1 JTEST FOR A SET
3638 0117446 001403 BEQ 1%

3639 011746 104007 ERROR 7 ' sCHARACTER LENGTH REGISTER RDATA3 WRITE FAILURE
§229 8}};22 000137 011702 s JMP 43 ;LOOP ON ERROR

3642 011756 104416 000007 000000 WRITE .SEC7.,0 SRESET BIT RDATA3

3643 011762 104420 000007 READ ,SEC7 JREAD VERIFY

3644 011766 012637 001202 MOV (SP)+ _,$TMPO :sPOP STACK INTO $TMPO

3645 011772 042737 177773 001202 BIC #‘C(RDATA3>.$THP6 sCLEAR UNWANTED BITS

3646 012000 005037 001204 CLR $TMP1 ;LOAD EXPECTED

3647 012006 023737 001202 001204 CMP $TMPO,STMPI sTEST FOR RESET

3648 012012 001403 BEQ 2% JYES SKIP ERROR

3649 012014 104007 ERROR 7 sCHARACTER LENGTH REGISTER RDATA3 FAILED TO CLEAR
3650 012016 000137 011702 JMP 43 ;LOOP ON ERROR

3651 012022 2%:

3652 012022 104416 000007 000004 WRITE  ,SEC7.RDATA3 JWRITE RDATA3

3653 012030 104417 5%: LRESET

3654 012032 104420 000007 READ LSEC7 JREAD VERIFY

3655 012036 012637 001202 MOV (SP)+ ,$TMPO : sPOP STACK INTO $TMPO

3656 012062 042737 177773 001202 BIC #‘C(RDATAS).STHPO ;CLEAR UNWANTED BITS

3657 012050 005037 001204 CLR $TMPI JLOAD EXPECTED

3658 012056 023737 001202 001204 CMP $TMPO,STMPY JTEST FOR A RESET

3659 012062 001403 BEQ T1ST52 M-

3660 012064 104025 ERROR 21. sCHARACTER LENGTH REGISTER RDATA3 FAILED TO CLEAR AFTER
3661 012066 000137 012030 JMP 5% :LOOP ONERROR

3663

3664 Rtk RARARARARRR et R anandtnt TEST 52 aevnnnnansnansvnanrennnnsnnny
3665 s*(CHARACTER LENGTH REGISTER (SECONDARY) BIT TEST

3666 s*THIS TEST DOES A:

3667 o 1. WRITE AND A READ VERIFY

3668 o X 2. CLEAR AND A READ VERIFY

3669 . % 3. WRITE AND A LINE RESET THEN A READ VERIFY
3670 A OF BIT TDATA1

332;‘1? JINAARARNRRARNANT RN ARRRRRANRANNARNARANAANRAARNNC NN RANRER AR ANRNREE
3673 ; TEST 52

3674 (eme—cecccccccca-

3675 JIREN AR AR R AR AR AR AR AR AN AN AR AR AR A AR AR AR AN AN RN NARA NN NRRRANAY

3676 012072 000004 75152: SCOPE

3677 012074 012737 000052 001102 MOV #52,8TSTNM s LOAD THE NO. OF THIS TEST

3678 012102 012737 000052 001262 MOV #52,TSTNUM :# FOR TYPE 0UT

3679 012110 104417 4S: LRESET

3680 012112 104416 000007 000040 WRITE LSEC7,TDATA1 JWRITE BIT TDATA1

3681 012120 104420 000007 READ LSEC7 :READ VERIFY

3682 012124 012637 001202 MOV (SP)+,$TMPO «;POP STACK INTO $TMPO

3683 012130 042737 177737 001202 BIC #AC<TDATAL>,$TMPD ; CLEAR UNWANTED

3684 012136 012737 000040 001204 MOV #TDATAY,$TMP1  ;LOAD EXPECTED




CZKMDAO DMS11-DA STATI(

CZKMDA.P11
3685 012144
3686 012152
3687 012154
3688 012156
3689 012162
3690 012162
3691 012170
3692 072174
3693 012200
3694 012206
3695 012212
3696 012220
3697 012222
3698 012224
3699 012230
3700 012230
3701 012236
3702 012240
3703 012244
3704 012250
3705 012256
3708 012262
3707 012270
3708 012272
3709 012274
3710
3711
3712
3713
3714
3715
3716
3717
3718
3719
3720
3721
3722
3723
3724 012300
3725 012302
3726 012310
3727 012316
3728 012320
3729 012326
3730 012332
3731 012336
3732 012344
3733 012352
3734 012360
3735 012362
3736 012364
3737 012370
3738 012370
3739 012376
3740 012402

20-0CT-81

023737
001403
104007
000137

104416

023737
001403
104007
000137

104416
1064417
104420
012637
042737
005037
023737
001403
114025
000137

000004
012737
012737
104417
104416
104420
012637
042737
012737
023737
001403
104007
000137

104416
104420
012637

MACY11 30A(1052)

17:03
001202
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000000

21-0CT=-81 09:21 PAGE 80
CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST

SEQ 0080

ggg ?;npo.srnp1 :TEST FOR A SET

ERROR 7 :CHARACTER LENGTH REGISTER TDATA1 WRITE FAILURE
s JMP 43 “LOOP ON ERROR

WRITE  ,SEC7.0 ;RESET BIT TDATA1

READ  .SE(7 *READ VERIFY

MOV (SP)+,$TMPO ..POP STACK INTO $TMPO

BIC #AC<TDATAT>,$TMPD sCLEAR UNWANTED BITS

CLR STMP1 ;LOAD EXPECTED

CMP $TMPO, STMP1 “TEST FOR RESET

BEQ 28 *YES SKIP ERROR

ERROR 7 :CHARACTER LENGTH REGISTER TDATA1 FAILED TO CLEAR
28 JMP 43 *LOOP ON ERROR

WRITE  ,SEC7.TDATA1  :WRITE TDATA1
58 LRESET

READ  ,SEC7 :READ VERIFY

MOV (SP)+,$TMPO -:POP STACK INTO $TMPO

BIC #AC<TDATAT>,$TMPD :CLEAR UNWANTED BITS

CLR $TMP1 ;LOAD EXPECTED

CMP $TMP(, $TMP1 STEST FOR A RESET

8EQ TSTS3 ¥

ERROR  21. :CHARACTER LENGTH REGISTER TDATA1 FAILED TO CLEAR AFTER

JMP 13 :LOOP ONERROR

JRERANRAAARRARERERRenannantt TEST 53 annnnnavnvnnrvvannvnannannnny

s *CHARACTER LENGTH REGISTER (SECONDARY) BIT TEST

;*THIS TEST DOES A:

s * 1. WRITE AND A READ VERIFY

2. CLEAR AND A READ VERIFY

3. WRITE AND A LINE RESET THEN A READ VERIFY
OF BIT TDATA2

RN A AR AR A AN R AR AR ARANAAANRAAAARAAAAAARANAANAANANAARAANAAANRAY

;s TEST 53

» » 2

[ 4
P ARRARAANAAARRANAANARA NN NN AN AR AR AN AN RN RN NANR AN RARR AR R

7STS3: SCOPE

MOV #53,$TSTNM : LOAD THE NO. OF THIS TEST

MOV #53. TSTNUM :# FOR TYPE OUT
48: LRESET

WRITE  ,SEC7.TDATA2  :WRITE BIT TDATA2

READ  .SEC? *READ VERIFY

MOV (SP)+,$TMPO -:POP STACK INTO $TMPO

BIC #AC<TDATA2> ,$TMP) :CLEAR UNWANTED

MOV NTDATA2,$TMP1  ;LOAD EXPECTED

ggg ?;npo.srnp1 STEST FOR A SET

ERROR 7 ;CHARACTER LENGTH REGISTER TDATA2 WRITE FAILURE
s JMP 4 -LOOP ON ERROR

WRITE  ,SEC?.0 :RESET BIT TDATA?

READ SEC7 *READ VERIFY

MOV (SP)+,$TMPO :;POP STACK INTO $TMPO
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CZKMDA.P1T1 20-0CT-81 17:03 CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST SEQ 0081
3741 0126406 042737 177677 001202 BIC #2C<TDATAZ> ,$TMPO +CLEAR UNWANTED BITS
3742 012414 005037 001204 (LR $TMP JLOAD EXPECTED
3763 012420 023737 001202 001204 CMP $TMPO,$TMP1 JTEST FOR RESETY
37244 0124626 001403 BEQ Pé sYES SKIP ERROR
37645 012430 104007 ERROR 7 sCHARACTER LENGTH REGISTER TDATAZ2 FAILED TO CLEAR
37646 012432 000137 012316 JMP 43 ;LOOP ON ERROR
3747 012436 2%:
3748 012436 104416 000007 000100 WRITE LSEC7,TDATA? JYRITE TDATAZ
3749 012444 104417 5%: LRESET )
3750 012446 104420 000007 READ LSEC? JREAD VERIFY
3751 012452 012637 001202 MOV (SP)+,$TMPO +;POP STACK INTO $TMPO
3752 012456 042737 177677 001202 BIC #‘C<TDATA2>,STHP6 : CLEAR UNWANTED BITS
3753 012464 005037 001204 CLR $TMP sLOAD EXPECTED
3754 012470 023737 001202 001204 CMP $TMPO,STMP1 JTEST FOR A RESET
3755 012476 001403 BEQ TST54 22
3756 012500 104025 ERROR 21. JCHARACTER LENGTH REGISTER TDATA? FAILED TO CLEAR AFTER
3757 012502 000137 012444 JMP 5¢ :LOOP ONERROR
178
3760 JRNRRRARRRRARARAARRdhennanndr TEST 54 tnnsrrnnnnnnnnnnnnnnnnennens
3761 ;*CHARA(CTER LENGTH REGISTER (SECONDARY) BIT TEST
3762 s*THIS TEST DOES A:
3763 o * 1. WRITE AND A READ VERIFY
3764 H 2. CLEAR AND A READ VERIFY
3765 o 3. WRITE AND A LINE RESET THEN A READ VERIFY
3766 A OF BIT TDATA3
3767 JINR AR AR R RN RN AR AR AR AR AAN AR NN NAARRRNNANRA NN RARNACR NN RAR
3768
g;gg : TEST 54
3771 ;;tuum’utuntntuttttttuuuttuttttttutt"ttttttq-ttttttn
3772 012506 000004 TST54: SCOPE
3773 012510 012737 000054 001102 MOV #54 ,$TSTNM ;s LOAD THE NO. OF THIS TEST
3774 012516 012737 000054 001262 MOV #54 ,TSTNUM :# FOR TYPE OUT
3775 012524 104417 49: LRESET
3776 012526 104416 000007 000200 WRITE LSEC7,TDATA3 JWRITE BIT TDATA3
3777 012534 104420 000007 READ LSEC7 READ VERIFY
3778 012540 012637 001202 MOV (SP)+,$TMPO :sPOP STACK INTO $TMPO
3779 012544 042737 177577 001202 BIC 0‘C<TDATA3>.STHP6 sCLEAR UNWANTED
3780 012552 012737 000200 001204 MOV #TDATAS,STMP1 sLOAD EXPECTED
3781 012560 023737 001202 001204 CMP $TMPO,STHP1T JTEST FOR A SET
3782 012566 001403 BEQ 18
3783 012570 104007 ERROR 7 ;sCHARACTER LENGTH REGISTER TDATA3S WRITE FAILURE
3784 012572 000137 012524 JMP 43 ;LOOP ON ERROR
3785 012576 1%:
3786 012576 104416 000007 000000 WRITE .SEC?7.0 JRESET BIT TDATA3
3787 012604 104420 000007 READ .SEC7 ;READ VERIFY
3788 012610 012637 001202 MOV (SP)+,$TMPO :;POP STACK INTO $TMPO
3789 012614 042737 177577 001202 Bi( #“C<TDATA3>.STHPO : CLEAR UNWANTED BITS
3790 012622 005037 001204 CLR $TMP1 :LOAD EXPECTED
3791 012626 023737 001202 001204 CMP $TMPO,$TMP1 JTEST FOR RESET
3792 012634 001403 BEQ 2% ;JYES SKIP ERROR
3793 012636 104007 ERROR 7 s CHARACTER LENGTH REGISTER TDATA3 FAILED TO CLEAR
3794 012640 000137 012524 JMP 43 ;LOOP ON ERROR
3795 012644 28:
3796 012644 104416 000007 000200 WRITE  ,SEC7,TDATA3 JWRITE TDATA3
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CZKMDA .P11 20-0CT-81 17:03 CHARACTER LENGTH REGISTER (SECONDARY) READ WRITE TEST SEQ 0082
3797 012652 104417 5$: LRESET
3798 012654 104420 000007 READ ,SEC7 ;READ VERIFY
3799 012660 012637 001202 MOV (SP)+,$TMPO :sPOP STACK INTO $TMPO
3800 012664 062737 177577 001202 81C #~C<TDATA3Z>,$TMPD : CLEAR UNWANTED BITS
3801 012672 005037 001204 CLR $TMP1 sLOAD EXPECTED
3802 012676 023737 001202 001204 (MP $TMPO,STMPT sTEST FOR A RESETY
3803 012704 001403 BEQ TST55 ¥
3804 012706 104025 ERROR  21. ;CHARACTER LENGTH REGISTER TDATA3 FAILED TO CLEAR AFTER
3805 012710 000137 012652 JMP 5% :LOOP ONERROR
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CZKMDA.P11 20-0CT-81 17:03 TRANSMIT AND RECEIVE INITIALIZATION TEST SEQ 0083

3806 LSBTTL TRANSMIT AND RECEIVE INITIALIZATION TEST
3808 - T
3809 JRRRRRRREANACRRERICRORN RN Rns TEST 05 ANAANRRRAARARRANARARNRARARS
gg}? tTRANSHIT AND RECEIVE INITIALIZATION TEST.
1812 tTHlS TEST UILL SYNC THE SEND RECEIVE LOGIC.
3813 tPROTOCOL CCP
%g}g -THIS TEST WILL PERFORM THE FOLLOWING SEQUENCE:
:t
3816 ‘e
3817 o 1. CLEAR THE SYNC REGISTER
3818 oW 2. ISSUE A MASTER CLEAR
31819 HA 3. SET PROTOCOL = CCP
3820 on &. LOAD SYNC CHARACTER INTO SYNC SECONDARY
3821 o REGISTER
3822 o* 5. SET TENA RENA ,MB ,M(
3823 o 6. SET T
3824 g 7. TEST FOR TBMT RESET
3825 i 8. STEP THE CLOCK 2 (10)
3826 oW 9. TEST FOR TBMT SET AND TAC SET
3827 o 10. RESET TSOM, TEST THAT TBMT RESETY, STEP
3828 o THE CLOCK 6 (10) AND LOCK FOR THE FIRST
3829 c¥ S/F ON RECEPTION OF THE FIRST SYNC
3830 o ® 11. STEP THE CLOCK 2 (10) AND LOOK FOK
3831 o S/F RESET, THEN STEP THE CLOCK 6 (10) FOR
3832 o ® FOR A LOOK AT S/F TO BE SET ON RECEPTION
3833 o OF THE SECOND SYNC.
3834 o ¥ 12. LOAD STX INTO TDB
3835 o 13. STEP THE CLOCK 2 (10)
3836 o 14. LOOK FOR S/F TO BE RESET
3837 i* 15. STEP THE CLOCK 6 (10)
3838 S 16. LOAD A DATA CHARACTER INTO TDB
3839 * AND TRANSMIT
3840 S 17. LOAD A DATA CHARACTER INTO TDB
3841 % AND TRANSMIT
3842 ;. 18. LOAD A DATA CHARACTER INTO TDB
3843 x AND TRANSMIT
3844 S 19. TEST FOR THE FOLLOWING CONDITIONS:
3845 I3 A. RAC TO BE SET
3846 i B. RDA TO BE SET
3847 :* 20. READ THE DATA REGISTER TO HOLD THE STX CHARACTER
3848 PN RN AR R RN RN AR AR R AR AR AN AR AR AN RN AR AN NN RARNREARS
3849
ggg? : TEST 55
3852 ..ttttttt*tttttttttttttt*ttttttttttttttttttttttttttttttt!lttﬁttta
3853 012714 000004 TST55: SCOPE
3854 012716 012737 000055 001102 MOV #55,8TSTNM : LOAD THE NO. OF THIS TEST
3855 012724 012737 000055 001262 MOV 055 TSTNUM ;8 FOR TYPE OUT
3856 012732 012737 012740 001106 MOV #18_,SLPADR JSET RETURN ADDRESS TO 1%
3857 012740 106414 1$: MSTCLR ISSUE A MASTER CLEAR
%ggg 012742 104416 000005 000100 WRITE ,SECS5.CCP SEI HODERS?gEGEL REggSTER
3860 012750 104416 0000046 000026 WRITE LSEC4,SYN sLOAD SYNC SECONDARY ADDRESS REGISTER
3861 012756 104416 000014 000321 WRITE PRl1z TENA'!RENA'MB'MC ENABLE THE FOLLOWING:
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3862 ; TENA

1863 ; RENA

3864 ; M8 AND MC

3865 012764 104416 000003 000001 WRITE  ,SEC3,TSOM ‘SET TSOM

3866 012772 104420 000013 READ  .PRI1S *READ REGISTER

3867 012776 012637 001202 MOV (SP)+.$TMPO 2:POP STACK INTO $STMPO

3868 013002 042737 177757 001202 BIC HAC<TBMT> ,$TMPC :CLEAR UNWANTED BITS

3869 013010 032737 000020 001202 BIT #TBMT ,$TMPO ;TEST TBMT

3870 013016 001414 BEQ 3$ *RESET SKIP ERROR

3871 013020 013737 001202 001204 MOV $TMPO,STMP1 *PREPARE TO REPORT ERROR

3872 013020 013737 001206 001206 MOV $TMP1.$TMP? :LOAD EXPECTED ALSO

3873 013034 042737 000020 001206 BIC ATBMT . $TMP2 :LOAD EXPECTED

3874 013042 104014 ERROR  12. ;TBMT NOT RESET AFTER TSOM AND TENA

I875 013044 000137 012740 JMP 1$ :LOOP ON ERROR

3876 +ENABLED

3877 013050 104421 000004 38: STEP  ,2%2 SSTEP THE CLOCK 2 TICKS

3878 013054 104420 000013 READ  .PRI13 *READ REGISTER

3879 013060 012637 001202 MOV (SP)+,$TMPO S:POP STACK INTO $TMPO

3880 013064 042737 177757 001202 BIC #AC<TBMT>,$TMPO :CLEAR UNWANTED BITS

3881 013072 032737 000020 001202 BIT NTBMT ,$TMP STEST TBMT

3882 013100 001014 BNE 4 *SET SKIP ERROR

3883 013102 013737 001202 001204 MOV $TMPO, $TMP1 *PREPARE TO REPORT ERROR

3884 013110 013737 001204 001206 MOV $TMP1.$TMP? :LOAD EXPECTED ALSO

3885 013116 052737 000020 001206 BIS ATBMT . $TMP? :LOAD EXPECTED

3886 013126 104015 ERROR  13. ;TBMT FAILED TO SET WITH TSOM SET

3887 SAND CLOCK STEPPED 2 TIMES

3888 013126 000137 012740 JMP 18 *LOOP ON ERROR

3889 013132 43:

3890 013132 104416 000002 000002 WRITE  ,SEC2,STX :LOAD START OF TEXT CMARACTER

3891 013140 104421 000016 STEP  .7%2 *SEND FIRST SYNC CHARACTER

3892 013144 104420 000013 READ  .PRI13 *READ REGISTER

3893 013150 012637 001202 MOV (SP)+,$TMPO 2:POP STACK INTO STMPO

3894 013154 042737 177767 001202 BIC #AC<SF>,$TMPO - CLEAR UNWANTED BITS

3895 013162 032737 000010 001202 BIT #SF ,STMPO sTEST SF

389¢ 013170 001014 BNE 6$ :SET SKIP ERROR

3897 013172 013737 001202 001204 MOV $TMPO,$TMP1 *PREPARE TO REPORT ERROR

3898 013200 013737 001204 001206 MOV STMP1.STMP2 :LOAD EXPECTED ALSO

3899 013206 052737 000010 001206 BIS #SF,$TMP2 ;LOAD EXPECTED

3900 013214 104017 ERROR  15. ;S/F DID NOT SET AFTER SYNC SENT

3901 013216 000137 012740 JMP 1%

3902 013222 104416 000003 000000 6$: WRITE ,SEC3.0 ;RESET TSOM

3903 013230 104421 000020 STEP  .8.#2 *SEND SECOND SYNC

3904 013234 104420 000013 READ  .PRI13 *READ REGISTER

3905 013240 012637 001202 MOV (SP)+,$TMPO +:POF STACK INTO $TMPO

3006 013244 042737 177767 001202 BIC #AC<SF>,$TMPO  :CLEAR UNWANTED BITS

3907 013252 032737 000010 001202 BIT #SF ,$TMPO STEST SF

3908 013260 001014 BNE 5% *SET SKIP ERROR

3909 013262 013737 001202 001204 MOV $TMPO, $THP1 :PREPARE TO REPORT ERROR

3910 013270 0313737 001204 001206 MOV $TMP1 . $TMP2 :LOAD EXPECTED ALSO

3911 013276 052737 000010 001206 BIS #SF,$TMP2 ;LOAD EXPECTED

gg;g 013304 104017 ERROR  15. ;g;zcoxo NOT SET AFTER SECOND

3914 013306 000137 012740 JMP 1$ :LOOP ON ERROR

3915 013312 5%:

3916 013312 104421 000022 STEP  ,22 :STEP CLOCK 11 TICKS

3917 013316 104420 000013 READ  .PRI13 *READ REGISTER
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3918 0133 012637 001202 MOV (SP)+,$TMPO ;:POP STACK INTO $TMPO
3919 013326 042737 177767 001202 8IC l‘C<Sf>.STHPO JCLEAR UNWANTED BITS
3920 013334 032737 000010 001202 BIT #SF ,$TMPO JTEST SF
3921 013342 001414 BEQ 7% JRESET SKIP ERROR
3922 013344 013737 001202 001204 MOV $TMP(O,$TMP1 :PREPARE TO REPORT ERROR
3923 013352 013737 001206 001206 MOV $TMP1,$TMP2 :LOAD EXPECTED ALSO
3026 013360 042737 000010 001206 BIC #SF ,$TMP2 JLOAD EXPECTED
gg%g 013366 104020 ERROR  16. :§fEKDID NOT RESET AFTER 1 CLOCK
3927 013370 000137 012740 JMP 1% ;LOOP ON ERROR
3928 013374 78:
3929 013374 104416 000002 000101 WRITE ,SEC2,'A ;LOAD DATA M
3930 013402 104421 000020 STEP ,8.%2 sSEND CHARACTER
3931 013406 104416 000002 000101 WRITE .SEC2.'A ;LOAD DATA #2
3932 013416 104421 000020 STEP ,8.%2 JSEND CHARACTER
3933 013420 104416 000002 000101 WRITE .SEC2.°A JLOAD DATA #3
3934 013426 104421 000020 STEP .8.%2 ;SEND CHARACTER
3935 013432 104416 000002 000101 WRITE ,SECZ2,°'A
3936 013440 104421 000004 STEP ,0%2
3937 013444 104420 000013 READ PRI JREAD REGISTER
3938 013450 012637 001202 MOV (SP)+,$TMPO ::POP STACK INTO S$TMPO
3936 013454 042737 177772 001202 BIC #~C<RAC'RDA>, STMPD sCLEAR UNWANTED 81TS
3940 013462 032737 000004 001202 BIT #RAC,$TMPO JTEST RAC
3941 013470 001014 BNE 8s ;SET SKIP ERROR
3942 013472 013737 001202 001204 MOV S$TMPO,S$TMP1 sPREPARE TO REPORT ERROR
3943 013500 013737 001204 001206 MOV $TMP1,$TMP2 ;LOAD EXPECTED ALSO
3944 013506 052737 000006 001206 BIS #RAC,STMP? :LOAD EXPECTED
3945 013514 104021 ERROR 17. :RECEIVEh FAJILED TO BECOME ACTIVE
3946 JAFTER DATA SENT
3947 013516 000137 012740 JMP 18 ;LOOP ON ERROR
3948 013522 8s:
3949 013522 032737 000001 001202 BIT #RDA,$TMP( JTEST RDA
3950 013530 001014 BNE 9% JSET SKIP ERROR
3951 013532 013737 001202 001204 MOV $STMPO,STMPI :PREPARE TO REPORT ERROR
3952 013540 013737 001204 001206 MOV $TMP1 ,$TMP?2 ;LOAD EXPECTED ALSO
3953 013546 052737 000001 001206 BIS #RDA,$TMP2 JLOAD EXPECTED
3954 0135564 104022 ERROR  18. sRECEIVE DATA AVAILIBLE DID
3955 JNOT SET AFTER DATA SENT
3956 013556 000137 012740 JMP 1% ;LOOP ON ERROR
3957 013562 9%:
3958 013562 104420 000000 READ .SECO JREAD THE DATA RECEIVED
3959 013566 012637 001202 MOV (SP)+ _$TMPQO ::POP STACK INTO STMPO
3960 013572 012737 000026 001204 MOV #SYN, $THP1 sLOAD EXPECTED DATA
3961 013600 023737 001202 001204 CMP STMPO.STHPI ; COMPARE
3962 013606 001403 BEQ TST56 HH
3963 013610 104024 ERROR  20. sDATA SEND DOES NOT COMPARE
3964 013612 000137 012740 JMP 18 ;LOOP ON TEST
%
3967 Jannannnnannanrananennennant TEST 50 eennnnnnnnannanennanannnnene
gggg s*TRANSMIT AND RECEiVE INITIALIZATION TEST.
I
3970 J*THIS TEST WILL SYNC THE SEND RECEIVE LOGIC.

3971 s *PROTOCOL = BOP
c*THIS TEST WILL PERFORM THE FOLLOWING SEQUENCE:
* &
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3974 o
3975 w 1. CLEAR THE ADDRESS REGISTER
3976 e g ISSUE A MASTER CLEAR
3977 2 SET PROTOCOL = BOP, AND SET
3978 w SECONDARY ADDRESS MODE
3979 e 4. LOAD THE ADDRESS INTO THE SYNC SECONDARY
3980 e REGISTER
3981 e S. SET TENA,RENA,MB,MC
3982 iw 6. SET TSOM
3983 T 7. TEST FOR TBMT RESET
3984 e 8. STEP THE CLOCK 2 (10)
3985 i 9. TEST FOR TBMT SET AND TAC SET
3986 w 10. RESET TSOM
3987 b 11. STEP THE CLOCK 14 (10) FOR TRANSMIT
3988 w OF FLAG AND ADDRESS AND LOOK FOR S/F
3989 e TO BE SET.
3990 ™ 12. LOAD A CONTROL BYTE OF ZERO INTO THE TDB
3991 e 13. STEP THE CLOCK 2 (10)
3992 ie 14. LOOK FOR S/F TO BE RESET
3993 ix 15. STEP THE CLOCK 6 (10)
3994, w 16. LOAD A DATA CHARACTER INTO TDB
3995 I AND TRANSMIT
3996 i e 17. LOAD A DATA CHARACTER INTO TDB
3997 iw AND TRANSMIT
3998 e 18. LOAD A DATA CHARACTER INTO TDB
3999 o AND TRANSMIT
4000 W 19. TEST FOR THE FOLLOWING CONDITIONS:
4001 i A. RAC TO BE SET
4002 o B. RDA TO BE SET
4003 T C. RSOM TO BE SET
4004 iw 20. READ THE DATA REGISTER TO HOLD THE CONTROL
4005 i CHARACTER OF ZERO
1.006 . (2 3433233033323 233234323 323333831223 2233332333823232333383327332222322°2
4007
2888 o TEST 56
4010 . . l‘tttttlﬁtttttttttttttttttttttttttttttttttttttttttittttttttttttt
4011 013616 000004 75156: SCOPE
4012 013620 012737 000056 001102 MOV #56,$TSTNM : LOAD THE NO. OF THIS TEST
4013 013626 012737 000056 001262 MOV #56 TSTNUM ‘4 FOR TYPE OUT
4014 013636 012737 013642 001106 MOV #18.SLPADR ;SET RETURN ADDRESS TO 18
4015 013642 104414 1$: MSTCLR SISSUE A MASTER CLEAR
4016 013644 104416 000005 000020 WRITE ,SECS.BOP'SAM  :SET MODE CONTROL REGISTER
4017 ; PROTOCOL = BOP
4018 ; SET SAM BIT4
4019 013652 104416 000004 000376 WRITE ,SEC4, 376 :LOAD SYNC SECONDARY ADD<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>